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All India Mock: IBPS RRB PO Mains 2022 (28th September) -

Questions & Solutions

Directions (1-2): Study the following information
carefully and answer the question below-

Eight persons of a family live in a house. There are four
married couple and two generations in this family. Q and
N are married couple. K is father-in-law of O who is sister-
in-law of L. L and P are married couple. P is daughter-in-
law of R. M and L are siblings of same gender. N is mother
of P. R is married with K.

TF g¥ § U oA F e =t wd g @ ahE § A9
faaTfea sie siv a1 fifeai 81 Q sk N fAaRa S=Ta1K, 0
FT T & ST L T fBeerza-at 81 L & P fAarfza Ser 2l
P, R i T9ag g1 M T L g9 o1 F "qgie< &1 N, P T #rar
gl R, K g1y fFartea 2l

Q1. Who among the following is sister-in-law of M?
(@) Q

(b) R

(AP

(d) K

(e) None of these/ZH & IS Al

Q2. If A is the only child of M, then how is R related to A?
(a) Grand mother/Jsus<

(b) Mother/|TdT

(c) Aunt/3EY

(d) Father/foar

(e) None of these /ZH & IS Al

Directions (3-6): Study the following information
carefully and answer the question given below-

Rufafaa sl w1 samgas sregaw fifse s fi= 'y
T T FT I SAoT-

Ten persons are seating on two parallel rows. P, Q, R, S,
and T are seating in row 1 and facing towards north. A, B,
C, D and E are seating in row 2 and facing south. Persons
who are facing north like some Vegetables and Persons
who are facing south like some Fruits. The one who likes
Papaya faces the one who sits immediate left of Q who
likes Cabbage. A sits at one of the extreme end of the row
and likes Mango. Only two persons sit between the one
who face A and the one who likes Carrot. D sits second to
the left of E. P likes Tomato and faces A. The one who likes
Pea sits third to the left of the one who faces the one who
likes Cherry. R sits second to the left of S and faces the one
who likes Plum. C sits at one of the positions to the right

of the one who likes Peach. One of these persons likes
Broccoli. Neither E nor D face the one who likes Carrot.

T AE AT A ARl H IS5 81 P, Q R, S, 3 T dr 1
TSE AT H aF@ &l A, B, C, D iR E dfr 2 H 95 g 3w
ZIEMT % HFE 5| 3L & qHE ATh £ Afeodl T8 Fd &
T Zferr F qHE Ah g B THE Fd g1 THAT TEHE
A AT A, Q F FMweaw ATy 9% =aftw F "aF e g S
o= Y e AT 81 A Ut % Bl U st g aw der
& Sl o THE FLAT g1 A % HHE SATeh ST TS THE el
Tt =<k & =7 | Faer a1 ARF S €1 D, E F a0 F gL
TAT 9T 3T g1 P THIET T8 FAT ¢ 3T A F T8 E gl Hex
THE FAA ATAT ATeh, =T THE FIA AT 1<k & T8 AT
% ATC F | T I IST 21 R, S & 10 F TEL ©AF I JaT
g T 9% 79T FIA ATl SATh & 9¥d gl C, g THE Fed
Tl AT<F F 70 FRHT U #1992 927 g1 TR 8 UF FRE
FTHAT TEHE FAT gl 7 al E T T g1 D, TSI T8 FIA a1l
1<k % T7F 2|

Q3. Who among the following likes Broccoli?
et § & i Al 768 HaT1 87

()R

()T

(@S

(d) The one who faces D/STT D & ¥ @ §

(e) None of these/ZH & FIS Aal

Q4. How many persons sit between C and A?

C 3T A% &= # fohaw =fr 95 87

(a) Three /=

(b) Same as the number of persons sit between R and
s/ =T R o S Fofi 3 35 2

(c) Same as the number of persons sit right of Q /fSraw
>1fr Q¥ i 45

(d) Four/=TX

(e) None of these/Z7H & FIs Tal

Q5. Which of the following fruit likes by C?
forfea & ¥ 9 97 % C 769 F2a1 87
(a) Papaya/adtar

(b) Cherry/=¥t

(c) Peach/srg

(d) Plum/a¥

(e) None of these/ZH & FIS 7ol
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Q6. Four of the following five pairs are alike in a certain
way so form a group, which of the following does not
belong to that group?

oot o= 791 § ¥ 9% s At ads F uweae §
zaferT U qgE AT 8, Referfed # & w ar s agg &
e T 2

(a) A-R

(b) C-T

(c) E-S

(d) B-Q

(e) D-T

Q7. Healthy diet, Regular exercise and Meditation are
three key points to maintain your immunity level-
Statement given by Health Ministry after cases of corona
has been increased rapidly. Uses of mask, sanitizer has
been encouraged. Washing hands with soaps and social
distancing has been advised.

Which of the following diminish the advisory by Health
Ministry?

e e, Rafaa = o anr §iF wie &g 8 S e
ST T T a0 TG §-H AT 6 HEAT H Il F Fhax b
1T FTEA HATAT T (AT TAT T ATEF, HiAeTZoR &
START & TATRd AT AT g1 99T § 21T 49 8T
ATATRI T 9T AT TeTg o T 2

forfaa & & i Famesy A1 i 9918 H 9 FdT 872
(a) Eating junk and street foods has been increased
mainly in case of younger generation. /ﬂ'@wﬁw%
AT ¥ St o T T m AT e i 3fy g 3
(b) All the guests are wearing mask and following all
norms in royal wedding of Minister’s son. /ﬁ‘?ﬁaﬁ‘fﬁﬁ
ITeT TET § T4t HZHTT AIEF Tgd gU 8 ST a{f #ras! &l
AT 7 TE &

(c) Trade unions has decided to reopen the market with
some guidelines. /ZATITE AT & LX) feomfadent & =rer
FTSTE 7 FT | Gt T Fear o g1

(d) Yoga class has been introduced in online format for all
the Government and private schools. /&t TTHET ¥
st fErermerat & forg 9T e siFeTe yTeT ¥ g i TS
2

(e) Black marketing of Mask has been increased all over

the country. /T 39T ¥ AT I FIATATSATL a1 & T B

Directions (8-9): In these questions, relationship
between different elements is show in the statements.
The statements are followed by conclusions. Study the
conclusions based on the given statements and select
the appropriate answer:

T Al H, FAA1 | AN qe&@ F = qae w904 @1 )
R T | I T LA I el e D C T T 21 e £
fAewut =T srerae i six s sox wr w=3= fifo:

Q8.

Statements:

S=W=EzR, F<C<V=N, W=Kz\V>_

Condusion

I:F=<5

Il: E=N

=

S=W=EzR, F=C<V=N, W=KzV=_

e

I F<5

Il: E=N

() If only conclusion I follows. /af& Faer e [ sEor
FAT 2|

(b) If only conclusion II follows. /&% Faer AT II

STELT FIAT B
(c) If either conclusion I or II follows /=& =T aT fAwd [ =T

11 STETT FAT 5

(d) If neither conclusion I nor II follows. /&% 7 aT fAeHT [
S 7 FV 11 SITHT0r FaT g

(e) If both conclusions I and II follow. /&f% et [ =¥ 11
AT AT FA &

Q9.

Statements:

Q=V=BzN=|, G=H=B=<M, S<VW<K=L

Conclusion

I L=Q

II: H=I

A

Q=V=BzN=|, G<H=B=<M, S<\W<K=L

1Tz

I L=Q

II: H=l

(a) If only conclusion I follows. /af% Faer AT | ERGEUE
FAT B

(b) If only conclusion II follows. /af% Faer AT I
STHLIT FIAT 2

(c) If either conclusion I or II follows/=f= 2T T fAeHd [ =T
1 STERT FAT &

(d) If neither conclusion I nor II follows. /a3 7 T fAeFT |
S T T 1 SIHT0T 2T 2

(e) If both conclusions I and II follow. /af% fAeFe I ST II
FET ATELT FA B

Directions (10-14): Study the information carefully
and answer the questions given below.

Ao S &7 eAMEs Feaae iy s A= g g
T % ST IfSrT
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Eight persons are sitting around a circular table facing
inside the table. They all live in an eight-storey building
such that ground floor is numbered as 1 and topmost
floor is numbered as 8. Each of them likes different fruits
i.e. Mango, Guava, Plum, Apple, Pear, Orange, Banana and
Litchi but not necessary in same order.

Two persons live between A and G, who likes Banana. A
does not live at odd numbered floor. H lives just above A.
H lives above G. E sits third to the right of D. C sits second
to the left of D. B and the one who likes Banana sit
opposite to each other’s. The person who lives at topmost
floor sits immediately left of G and likes Mango. The
person who sits third to the left of B likes Litchi. A does
not sit third to the left of F. C lives at second floor and
likes Orange. F sits second to the left of G. The one who
likes Pear lives just above the one who likes Apple. H does
not like Apple. B lives above E and below F. The one who
sits second to the left of C does not like Guava. The one
who sits opposite to D lives above the one who like Apple.
TS AT UF JATHIT A & AT A T o 38T F TV T 95
gl 7 Tt UF s 6iSEr TG § 39 IRR W@d g 6 qa9
Fr=rett wiore it JeaT 1 8T qa9 Ul Jiore i 9T 8 2
SIH | T AAM-3TRT o TEHE FIAT & AATT ATH, AHEE,
I, |, ATLITAT, HALT, FeAT T ATHT AT ATA9TF qG1 o0
=T 7 F g

A ST G, ST FAT T6E FAT &, % 419 7 af A6 Bd gl A
oo g aTeft wiorer U A8t @At g1 H, A % 3t U Ear
21 H, G FFUT AT gl E, D & 70 & SHY TH 1 3T 8l C,
D % 970 § gEL T UL 927 81 B 3% FdAT T6G LA qTev
SIS T gAY ¥ AT 43§ 78 SR S a5 Ghe
T TEAT §, G & (Aeheay 70 927 € oY oW 96 #2181 B *
10 & A #T9 9% 957 AT A= 968 FLAT g1 A, F F410
q AT T 9¢ 981 997 gl C o "o 9% T@ar g i
AT q9E FAr gl F, G & a0 § @ &9 9% 937 2
TSI THE XA ATAT ATk, Ha THE el ATl Ah 6 51
I TEAT gl H 99 T8 78] 2T gl B, E F FUL T F &
F=r TZaT 81 C F AT | FEL T L J3T AT q0E R T69g
TEl FLAT g1 D F A9 937 2AT<h, I THE FA a7 & 9T

AT 8l

Q10. Who among the following likes Apple?
aferfea & & ®F a9 16 Far 82

(a)E

(b) A

(c)B

(d)D

(e) None of these /ZH & IS Tl

Q11. The one who sits third to the left of A, lives on which
of the following floor?

g ATh ST A & a0 & oY T4 92 927 8, Aeferfaa § &
o w5 we wgar @2

(a) 2nd /84T
(b) 3rd /efrersy

(c) 4th /=AY
(d) 6 /=T
(e) None of these/3# & FIE A&l

Q12. How many persons sit between C and A?

C 3T A &= # foraw =rfr 95 &2

(a) Same number of persons sit between F and H/fera«
FFFARHF AT AT

(b) Same number of persons live between E and F/fsra«
> F o H 3% offer 3 e &

(c) Same number of persons live above H’s floor/fra«

=fF H At 9o ¥ e w@a 3
(d) One/TF
(e) None of these/3H & Fls Tal

Q13. How many persons live between D and B?

D %% B ¥ #=1 § frae =13 w2 7
(a) Three /=

(b) Four/=TX

(c) Two/=T

(d) One/TH

(e) None of these/ZH & FIS Al

Q14. Which of the information is true about F?
F % aT¥ & 19 & ST 97 87

(a) Plum- 7th floor/s< - |1 HiSrer

(b) Litchi-6t Floor/=1= - =&t wiSrer

(c) Mango-8th floor /3 - 33et HiSrer

(d) Pear-5th floor /ATITITAT - Ti=relt Tiorer

(e) None of these/ZH & FIS Al

Q15. Statement: The Supreme Court
government’s new rules to regulate OTT
(over-the-top) platforms lacked teeth to punish violators
or to screen offensive content. There is no provision for
punishment or fine. What is the mechanism to control and
regulate these platforms?” Justice Ashok Bhushan,
heading a Bench, asked Solicitor General Tushar Mehta.
Mr. Mehta agreed and said, “We can come out with a draft
and place it before the court,” he stated.

Which of the following can be assumed from the above
statement?

() Youth generations are diverting to wrong direction
after watching web series released on OTT containing
abusive content.

(I1) Producer and Director of a recently launched web
series are sitting on a strike after Government puts a ban
on its further telecast.

(III) Government should regulate the OTT and it must be
screened by a panel member before release.

FUA: qATg ATATAT 7 FgT T e (sae-g-2id) wrewret
#1 =T F39 F 9 F 9u [t § Soeraawaren v

said the
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ot gt yefia = F fow 2t = ¥ o
TS THT 21 E AT A FT Fls AT Tal gl IT SSHHAT
#T b ik R s T AT g waa f
TETEAAT T g ~ATAHIA ALH I F HTATATHRAT THTT
HEdT & q@n AT HedT Wend gy 7 I, "gH UH qErar

JIO7 5: AX UH 99 HE&AT % 918 O 99 9T odt g, v
Rt qgelt "@ear A g e & e e uTe
M

Q16. Find the sum of two rows

TIATT T Tl g 3T TH ATATAT & GTHA TF T 8," Ieaid
ETAl

SULIE FAF & [FAeferied ® & #47 71 A7 96T 872

() A 9T ATHTASAE GTHIAT ATedl ae S T @R
AT Y T fRem 7 ST = 2

(I) F7FTT T &1 &l § IR g2 UF 99 g@dr & ol
THRO 9T Uidae @R % 78 THE AHar e [Haes
EATA 9T 9% T 8|

(I11) |TFT FT AT &1 AF=HT w27 A1 v 3w feis &
T8l U T FaET g7 S9! (14 %l ST AT

(a) Only I and III /3@t | ¥ 11

(b) Only I11/3F== I

(c) Only I and II/F=a= | i< I

(d) Only I1/Fa Il

(e) Only I/ |

Directions (16-19): There are two rows given and to
find out the resultant of a particular row we need to
follow the following steps: -

Step 1: If an even number is followed by an odd number,
then the resultant will be the addition of both the
numbers.

Step 2: If an odd number is followed by a perfect square,
then the resultant will be the difference of that square
number and the odd number.

Step 3: If an odd number is followed by another odd
number (but not a perfect square) then the resultant will
be the addition of both the numbers.

Step 4: If an odd number is followed by an even number
(but not a perfect square) then the resultant comes by
multiplying the numbers.

Step 5: If an even number is followed by another even
number, then the resultant will be the division of first
number by the second number.

I gfrat & w2 € ot et iy dfe % oot sma w3
F fore g8 et ==ont &1 aree 3T g -

F207 1: i UF G0 HEAT F 978 UF Auw " ondr g, ar
oy T ST T AR ERTT

FI 2: AT UF [&AUH AT F 918 UF QT A Ardr B, av
TROTTHT I A HE T ST FATH et #v e|y gr |

20 3: Afx uF e "@edr F arg gEdt fAuw e (At
TUT 3T AGT) HATAT &, AT TIOTHT FAT ST AT AR ZIT
9207 4: g2 v Auw " F 979 vE 99 Gl (AT uw
U IR AGH) AT B, AT TIROMHT HEATH AT T FE T
LR LA

AT IR T TIT ST T
16 3 T

11 6 2

() 59

(b) 52

(c) 54

(d) 56

(e) None of the above/Z7H & FIE Aal

Q17. If the sum of the resultants of two rows is 46. Then
find the value of X.
T TAT AREAT F TR T AT 46 81 AT X FH A AT
L
5 16
30 6
(a) 16
(b) 25

()6
(d) 36

(e) None of the above/Z7H & FIE Al

on

Q18. Find the difference between the resultant of first and
second row.

et 3 gEdt it o ooy 3 = v siaw A i
15 b 4

24 11 2
(a) 87
(b) 65
(c) 57
(d)9e6
(e) None of the above/ZH & FIS 7l

Q19. Find the multiplication of the resultant of first and
second row.

Tt SiY gAY Ufxh & RO #7 o |1 A

12 7 25

16 11 9

(a) 110

(b) 85

(c) 108

(d) 120

(e) None of the above/ZH & FIE 7gl
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Directions (20-23): Study the following information
carefully and answer the questions given below:

FRuferfea sl 1 samgEs stegae i iz = R
T 70 % SO

Eight boxes of different courier companies i.e. A, B, C, D, E,
F, G and H arranged in such manner that one box placed
above another but not necessarily in same order. Each
box has different colored cover i.e. Red, Blue, Green,
Yellow, Pink, White, Black and Violet but not necessarily
in same order.

There are four boxes arrange between box C and the box
which has Yellow cover. Not more than two boxes are
place below box G. Box D places one box above the box
which has Red cover. There are as many boxes above the
box A as below Box E. The box which has Green cover
place just above box C. Box G has neither Green nor
Yellow cover. The box which has Pink cover places just
above the box which has Violet cover and just below the
box which has red cover. There is one box arrange
between box F and The box which has white cover. Box F
is placed below the box which has white cover. The cover
of box F is either Black or Blue. The cover of box E cover is
not Pink. Box H places immediately below the box which
has Black cover.

fafers gRaw Faf==t staT A, B, C, D, E, F, G 3T H Fams
Fiaq TH dg Faredd U 70 g & U aie g8 & FAT
TET AT AR a9 qg1 o THT /7 | 21l Touh oieg |
T ST T FAT ¢, AR ATATF Aol 1o THT 77 H 2l
Fe C ST 9ol FaT a1l A1FE 6 A1 § AL qIFE AG AT
S T G F A T T ATAR ST TR T AT G| ST D,
ATA FAL AT FFT F T o0 HIL T@T TAT gl T A *
TUT Iaq ot aiaq g orae ate E % i 81 g Fa 9t
T T FFT C F 31 FUC TGT AT 8| q(F G | 7 a7 g2
AT T g T Faw g1 o aiFd & T[Tl Fa7 g, ag St
FAL AT T % Soh FUL @I AT g 3T AT FaT qTer
Fia o St A= T@T AT g1 T F 3T Tha Fa arel aiae
F o= H UF FiFT FARIT gl T F AN THE AL aTel
Fia o A= T@T AT g1 F(F F T Fa< T a7 w7 AT Aear
g1 TFT E F T T W7 AT Agl gl TFT H FTel Fa< arer
Fia & St A= T@T AT g

Q20. Which among the following box has red cover?
Faforfea & & B aie & a1 #9782

(a) Box D/at# D

(b) Box B/af#e B

(c) Box G/at#d G

(d) Box A/a=d A

(e) Box H/at=a H

Q21. FFuferfaa & & & A7 FieFd ey F=er T9= 9% @
TAT B?

(a) Box A/atFT A

(b) Box B/a{#9 B

(c) Box F/ai#a F

(d) Box G/a#d G

(e) Box C/af#a C

Q22. How many boxes arrange between the box which
has black cover and box B?

FA FAL AT d(Fd T qF9 B & &= 7 frad arq
FAIT 82

(a) One/T=

(b) Two/=T

(c) Three/dt=

(d) More than three /&t & s1fers

(e) None/®Ts 5t

Q23. What colour cover does box E have?
T E F Fa T T F#7 82

(a) Pink /T T

(b) Violet/aT=T

(c) White /s

(d) Red/=ITst

(e) Green/31

Directions (24-26): Each of the questions below
consist of a question and two statements numbered I
and II given below it. You have to decide whether the
data provided in the statements are sufficient to
answer the question. Read both the statements and
give answer

= e 1o g wer §, U WA ST SHE A I T F
FHIR &1 A9 Q0 70 8| STt a8 7 F3AT g 6 Fei |
A TE AFFHET T FT 3L & & [o[T TATH g AT qgi| F0
FIAT T I ¥ 3L SI90-

Q24. How many children are there between Mehul and
Neha in a row of children?

I. Mehul is 19th from the right in the row.

II. Neha is fifteenth from the left in the row.

gt 1 U TR 3 fger A ST A # e Ay £

I #g 9f<F # 210 & 199 9 T gl

IL 78T 4% & a0 & dagd €19 9T gl

(a) if the data in statement [ alone are sufficient to answer
the question, while the data in statement II alone are not
sufficient to answer the question.

Tfe srehel FIF 1 | < T ATTRIET T T 3L & 6 forg
TAT g, et sohel 4 11 § &F T SRty W57 7 I &

F for vt T2 2|
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(b) if the data in both statement I and II together are not
sufficient to answer the question.

i Fa [ 3 1] T | T A1 & TS AT T F7 3L
o forw oIt 99 2

(c) if the data either in statement I alone or in statement II
alone are sufficient to answer the question.

TS AT AT STl FAT [ AT 3Tehel 9 11 F <F T2 TR T
FT 3L & & oT0 93T 2

(d) if the data in both statement I and II together are
necessary to answer the question.

i o | A 11 1 | T Jq1T &7 TS AT T F7 3L
T F forT smaeTe

(e) if the data in statement II alone are sufficient to
answer the question, while the data in statement I alone
are not sufficient to answer the question.

Tf srhel A9 11 § & TS TR T T IAC o 6 oI
TATH g, STATh ool HAF | | & TS SR To7 T 3L o
F forw o=Te 981 2l

Q25. How many persons sit in the linear row?

I. M is third from the right end of row. All of them facing
north. D sits second to the left of M.

II. No one sits to the left of G. Only eight persons sit
between G and M.

e dfe o fraw =afe 95 82

I M UfRF % a0 G F S w1 97 g1 T a4 39 F aeE
g1 D, M & JT0 § TEL £ATH T2 937 &

IL G 970 T A1 T2T g1 G 3T M F = | FaeT 3 =ARE
I35 2

(a) if the data in statement I alone are sufficient to answer
the question, while the data in statement II alone are not
sufficient to answer the question.

fT sehel FUF 1 H & T2 TR W T 39L& & [T
TATH &, ST ool FA 11 F ¥ T SATHHTET T AT 3L oA
ERELERIEE R

(b) if the data in both statement I and II together are not
sufficient to answer the question.

TfE FT 1 A 11 ST F U T & TS AR T /T 3L
% & forT oty 7T )

(c) if the data either in statement I alone or in statement II
alone are sufficient to answer the question.

T AT T 3Tehel FHAT 1 AT 3tohel HIT 11 | & TS SATHHTET T
T IAL o o oI 3T )

(d) if the data in both statement I and II together are
necessary to answer the question.

TfE FT 1 < 11 S0 § T A7 & TS AT T F/ 3L
o % forT sraeTe g

(e) if the data in statement II alone are sufficient to
answer the question, while the data in statement I alone
are not sufficient to answer the question.

i el FAT 11 H & TS THFRT T &7 S9< a2 & oy
TATH §, STafh el AT | | &F TS 1T T 7 ITqC <A
 forT gate 921 2

Q26. In the question given below two conclusions
followed by two statements. You have to choose the
correct set of statements that logically satisfies the given
conclusions

Conclusions:

I. Some House are not Deal

II. Some Flat are Bangle

Statements:

I. Some Bangle are House. No deal is bangle. All House is
Flat.

II. All Flat are Bangle. All Bangle are House. No Flat is Deal.

= 3w o Wy ® 7 Aoy 37 39 a1e &1 F9 f{Iu T g
HATTHT FAAT % Tl TG H 9T HAT g S (30 T0 Fepet
T qTfha &7 F FqE FAT &

Ao

L 33 TT9H ST et §

E DN

L. T ST g &1 IS S AT A2 gl Tt gre wie 2
1L Tt Fete St 81 FT ¥ 2139 81 A Fole Sie gl gl
(a) if the data in statement I alone are sufficient to answer

the question, while the data in statement II alone are not
sufficient to answer the question.

7fS SRl FAF 1 H & TS AR T T 3L < & oy
TATH B, Tl el HA 11 § & TS AT T FT 3L
F fore wate 72

(b) if the data in both statement I and II together are not
sufficient to answer the question.

Tfe FAT 1 T 11 ST F T A1 & TS TR T35 1 3L
¥ ¥ fore qaty 8 &

(c) if the data either in statement I alone or in statement II
alone are sufficient to answer the question.

T AT A7 el FAT | AT 3hel F9 11 | &7 TS AT T
T IAL 3 o o o7t )

(d) if the data in both statement I and Il together are
necessary to answer the question.

TfE FIT 1 T 11 ST F T A1 & TS T 57 F 39
3 F T araeT = gl

(e) if the data in statement II alone are sufficient to
answer the question, while the data in statement I alone
are not sufficient to answer the question.

TfT el FA 11 H & T TR T F 39 39 & o
TATH g, STafeh 3tohel 9 | | &F T SR T3 7 3L &

F for vt T2 2|
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Directions (27-29): Study the following information
carefully and answer the questions given below.

P%Q (5)- P is 7m in south of Q

P#Q (4)- P is 6m in west of Q

P&Q (2)- P is 4m in north of Q

P@Q (8)- P is 10m in east of Q

Q@U(13), T&C(8), W%Q(14), T&J(10), J@W(6), C@G(9)
et ST 7 e\ga s deqa Hfoy o <= 3w
T 577 o 37 foru|

P%Q (5)- P, Q% 7 Hiex aferor & g

P#Q (4)-P,QF 6 Hlex uf2m § ¢

P&Q (2)-P,QF 4 Hlex 3T H E

P@Q(8)-P,QF 10 HIeX qd H &

Q@U(13), T&C(8), W%Q(14), T&J(10), J@W(6), C@G(9)

Q27. What is the direction and shortest distance of point
G with respect to point U?

g U & avaf ¥ f&g G #T e o ==aw @ #1872
(a) 25m, South-west

25 #iex, Fferor-afam

(b) V340 m, South-east

/340 Hiex, zferrgd

(c) 18m, South-East

18 Hizx, zfrr-ud

(d) 16m, North

16 HTex, 3T%

(e) None of these /=% & FIS Ag!

Q28. What is the direction of point Q with respect to point
C?

Rz 3% mreaed  fifg Q Y Ferm P 22
(a) North-west

ERESEIEE]

(b) South-east

oo

(c) North

SASES

(d) South

Zferor

(e) None of these/Z7H & FIE A&l

Q29. If Point S is 13m West of point G then What is the
direction of S with respect to U?

iz fag s, g G F13dex afam A g, TU Fa=IHS H
o 87

(a) South

Zfaror

(b) North

3L

(c) North east

ShARS!

(d) East

™

(e) None of these /7% | &I Aal

Directions (30-34): Study the following information
carefully and answer the questions given below:

There are ten persons namely A, B, C,D,P,Q,R, S, Yand Z
living on four different floors of a building. Ground floor is
numbered as 1 and topmost floor is numbered as 4.

There are three flats on each floor- flat-1, flat-2 and flat-3
from west to east such that flat 2 is west of flat 3 and east
of Flat 1. Flat-1 of second floor is exactly above flat-1 of
first floor and other flats are placed in the same way. Not
more than one flat is vacant in a particular floor or flat
number.

S neither lives on odd numbered floor nor in odd
numbered flat. B lives in east with respect to S. There is
one floor gap between B and R and both have same flat
number. The number of people lives in south west of R is
same as the number of people lives in north east of P, who
does not live in Even number flat. There are two floors
gap between P and D. Y lives just above the floor of A who
lives on an even numbered floor. A and Y lives in the same
flat number. Q lives in east with respect to C. Both Z and R
does not live in the same floor and same flat number. C
lives just below the D’s floor.. Flat-1 of any floor is not
vacant.

e (30-34): =ferfea ST @1 ¢
FforT i = faw o wert 3 s

T THIIA I AT AT HISTeAT I 6 ATh T A, B,
C,D,P,Q R, S, Y 3T Z ¥Ed gl TaH A=e(l Hiorer i #er 1
S gery Sy wiorer Y T T 4 2)

ToIF HiSrer 9% 9f2m § @ i e fiT w&e wuid w@ie -1,
FAE -2 3T FAE -3 TH TFHI ¢ [ I 2, FAe 3 & IrH §
Y e 1% 94 § g1 g 6o #7 Fie -1, Tget "o %
FAC -1 % 31 FUL B 3T T FAel Ff THT 77 § 7@l 4T 8
et farere w1t a7 we d@ear § s 7 wfas e fww a8y
&l

S 7 ar fAauw wear aret 7o 9% YAt g o 7 g v
HEAT AT Foie § Tgar gl B, S F w2’ # 79 # Tgar 21 B ¥
R F f1 § U ST FT i€ g T AT 6T A HEAT q9H
21 R  aferor-afem & w5+ arer A it g, P 3O @ |
T AT AN ohT AT & T ¢, ST UF T8 H&I7 a7 FAe
H 981 Tgar g1 P T D & = ® a1 /il A gy, A #ir
Ao & & U TEaT B, ST UH 99 HedT aret Jiore 9%
ATl A ST Y 9T Fofe G H a8l Q C Fa=T d qd
H TgaT g1 Z 3T R A1 UF &f {07 9% 3T U g1 Foie deam
H 981 ¥&d 81 C, D ¥ "iorer & 2k A= wgar g1 T of
Hiore &1 -1 R 981 8

Hegqq

Q30. Who among the following lives in south with respect
to Q?

Q ¥ Tved ¥ fAuforferd & & w1 aferor § wgar &2

(@) P

Y

(A

(d)Z

(e) None of these/ZH & FIS 7ol
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Q31. Who among the following lives exactly in between A
and B?

fRerferfea & & 19 A 3T B 3t &= § 721 87

(@)D

(b)Y

0z

(d)s

(e) None of these /3% & FIS Ag!

Q32. Four of the following five are alike in a certain way
and hence they form a group. Which one of the following
does not belong to that group?

aferfea o= § & 9 s [ a8 7 uRaaE g s
T F UF T4 a97d o) Mefated § & F19 97 39 99 &
e T 27

(a) D

(b)Y

(A

(AP

(e)Z

Q33. In a certain way if Y is related to S, and A is related
to Z in the same way, then find C is related to who among
the following as per the given information?

U MA@ ads &, AR Y, S F Hafaq g, A, Z G 9afEad g,
T T ML AHEET & g ¢, Faferfaa # & frae gafaa
&7

(@R

(b)Q

(c)B

(d) A

(e)P

Q34. Who among the following lives just below floor on
which A lives?

Fraforfir # & 1 37 50 5 A A5 w2 2 B I A
T 7

(@)D

(b) P

()R

(d)C

(e)Y

BILINGUAL

BANK

PRIME

IBPS RRE, SBI, IBPS PO | Clerk & Others

1200+ TOTAL TESTS

Directions (35-38): In each of the following below is
given a group of letters followed by four combinations of
digits/symbols numbered (A), (B), (C) and (D). You have
to find out which of the combinations correctly represents
the group of letters based on the following coding system
and mark the number of that combination as the answer.
If none of the four combinations correctly represents the
group of letters, mark (E), i.e. ‘None of these’, as the
answer-

Note: More than one condition may apply and follow them
accordingly.

Leter |R|C|D|A|P|F[U/M|E|N (I |V|S|O|T

DigitV¥ |# |2 |7 |p|%|3|&|9 |1 |@|5|®|6|8|%
Symboaol

Conditions:

(i) If first letter is vowel and last letter is consonant then
both are coded with the code of the consonant.

(ii) If both the second and the last letter is vowel, then
their codes are to be interchanged.

(iii) If the second letter is a consonant and the second last
letter is a vowel, both are to be coded as the code for the
vowel.

(iv) If both first and fifth letter is consonant then both are
coded as the code of third letter.

(v) If only one condition is applied then the code of first
letter is interchanged with code of second letter and third
letter code interchanged with fourth letter and so on.
Ruffea & & 13@® 7 & &1 s 99z fear maw § e
& ShI/TART % A< GF= (A), (B), (C€) 3fX (D) Ry
g1 IR Ig AT AT & & A fedas qomeh %
MY I AT T SIS AU & THg FT dat I
FAT & 3T ST GO A F&;T & I 5 &9 § =ieqa
o afs =F dANSEE § F A oft A9 F qHg w7
yfafAfece 75 FLar §, T ST F TR (E), wAfa =H
1 gt Rt FRdo-

AT A0 U & e 9o AN gl Tl 8 3T Taqam
IAHT ATEL I

G RIC|D|A|P|FIU[M|EIN]|I |V |S|O|T

w4 (27 |u|%|3|&lo|1|@|5|e|6|8|s
9T

(i) =fE TEAT AT TAT g 7 AW sreAT = g av IET A
S & Fe % AT Fedg haT JATaT gl

(i) =% g7 7 Sifqw oteAT T T §, T 394 Fel &l
qEIY FE (2T ST B

(i) T AT AT UF S g 37T T ATAH e TF w47
&, A1 IAT &0 Fa% % Fc & &7 H Fedg a7 ST 2|

(iv) T TZAT ST TT=aT IAT e A g ar a1 Hl 16
AT F FT F ®T § Fedg a1 ATaT

(v) I3 Fae U ord AR BIT € a7 T8l e F Fe il ghL
T & Fi T AT AL AT & Tl A FGFL & Fe F I
T STaT 8 37 77 9 o off ST AT 2
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Q35. DECANT

(a) 12p2$2

(b) 212p@2

(c) 12p@22

(d) 12p2@2

(e) None of these/Z#% & #TE Aal

Q36. ADVENT

(a) $701@$

(b) 7$10%@

(c) 710%%@

(d) 170@%$$

(e) None of these /2 & #FI< Tal

Q37.FORMNE
(a) 31#9@8
(b) #19@*#
(c) #1#948
(d) 1#98#@

(e) None of these/37H & FIE T&l

Q38.UNITED

(a) 1&5%17

(b) &15%17

(c) 17$571

(d) 715%17

(e) None of these /2 & IS Al

Directions (39-40): Read the following information
carefully and answer the questions given below:

Seven students P, Q, R, S, T, U and V were born in same
month of the different years- 2010, 2016, 2012, 2001,
2005, 2014 and 2019 but not necessarily in the same
order. Q was born on an odd numbered year. Only three
students were born between Q and U. R is 4 years
younger than S. V was born on the year, which is divisible
by three. T was born on an even numbered year before U.
P was born one of the years before Q.

Rufafaa s it samgd gfew s = R 1@ v *
SRR L

AT Y- P, Q R, S, T, U 3T V T S+ H -3 a1- 2010,
2016, 2012, 2001, 2005, 2014 =7 2019 ¥ UF & 7L &
TN T ATohel SALTF Al (o SHT %7 & gl Q FT 5+ AU
HEAT AT a9 | ga ATl Q 3T U & = | Faet o1 st &7
S gAT ATI R, S § 4 T9 FreT g1 V & S+7 39 a9 gelr T, ST
T T RFIST G T FT S0 U | Ig UF 99 97 a1 a9 o
T AT| P &1 ST+H Q 7 T2l Fohelt U a9 H gair 17|

Q39. How many students born in between S and V?

S ST V& o= # fraer BTl 7 Sed g om?
(a) None /#TE &t

(b) Two/aT

(c) One/ TH

(d) Three/ T1=

(e) More than three /1= & s7far

Q40. Which of the following student was born before R
and after S?

Feforfea & & g &= T 7T R & 98 3T S & a1 gal
a1?

(@T

(b) P

(9Q

(dU

(e)V

Q41. Which shortcut key is used to create a new folder in
MS Windows?

MS AT § 731 wiee< a9 * forw e aridae it 1 S
T STaT 87

(a) Right Click Button+W+Enter

e faers FeT+ W+

(b) Ctrl+W+Shift

(c) Right Click Button+F+Enter

Trze s I + F + 0T

(d) Right Click Button+Q+Enter

Tze faF® Jeq + Q + UeX

(e) Ctrl+Shift+N

Q42. A handheld device that allows you to control your
computer without typing instructions from a keyboard is
knownas_____.

UF gegee fRared ST o fiare ¥ e 2y fhu faar
A T AT R A A g AT e, www
H ST ST 2

(a) Tablet /Zaie

(b) PDA /9T

(c) Mouse/HT3®

(d) Mike /9T=®

(e) None of these /ZH & FIE Tl

Q43.Which one of the following is internet Standard
Protocol?

forfaa & & i |7 Uetde q19F Terhia 82

(a) TML

(b) COBOL

(c) JAVA

(d) C++

(e) TCP/IP

Q44.The modern keyboard typically has how many
Function keys.

g FrETS § AT 9 TRt e it g gl

(a) 10

(b) 12

(c) 14

(d) 16

(e) None of these/ZH & FIS 7ol
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Q45. Which of the following use by a user to access a
mainframe or supercomputer?

HAH AT UL Fe dF Ugad & (o0 ITARMEERAT FIET
oot & & fraerT 9T o Strar 82

(a) Handheld/ gsgee

(b) Node /7Te

(c) Desktop /SEFeiT

(d) Terminal /===

(e) None of these /2 & #FI< Tal

Q46.ISDN stands for

ISDN T 07 &7 7 872

(a) Integrated Services Digital Network
(b) Integrated Services Data Network
(c) Integrated Security Digital Network
(d) Integrated Security Data Network

(e) None of these/37H & FlE A&l

Q47.Which of the
192.9.200.155?
fArforfaa & & &I |7 U 192.9.200.155 ¥ Hafad 22
(a) Hardware address /2TEaa¥ Tg®

(b) Monitor address /AtfRe¥ TgH

(c) IP address /IP UgH

(d) All of these /39 Teft

(e) None of these /2 & IS Al

Q48. _is also known as inkless printer.
T T fex & &7 F $ff ST STt 2

(a) Thermal printer /2rd4er fifax

(b) Inkjet printer / Fste fiiax

(c) OCR/ strftsime

(d) Dot Matrix printer/ =t #fea fiax

(e) None of these /2 & IS Tl

Q49.Which of the following communication modes
provides bidirectional data transmission?

Ffofaa & & #9471 9= e Gk 21 9= y'm
FAT 82

(a) Simplex /R

(b) Half Duplex /gT% T

(c) Full Duplex /& S=1ad

(d)Both (b) and (c) /2T (b) 3T (c)

(e)None of these/ZH & FIE TGl

following is related with

Q50. Which of the following heading elements displays
text with the same size as the normal text written in an
HTML document?

Aeforfead & & & a7 ofivF g HTML =fagie 7 forg o
ATHT TS o THTH SATHTE o TS il TETNT Fear 872

(a) <H1>

(b) <H2>

(c) <H3>

(d)<H4>

(e)<H5>

Q51. Which of the following is a translator program used
for assembly language?

Faferfea § & ®9-a7 UF gigees Tu g R s
SHTIAT WTHT o forw T Srar 872

(a) Complier / FFTEAL

(b) Interpreter /TeTdex

(c) Translation /ZTEereT

(d) Translator /ZiEwEY

(e) Assembler / SHFAT

Q52. Computers designed for specialised scientific work
and specific instructions are called

fafere amae w19 sfiw fatorg et & forw Reres fro o
FAY FEATT 2|

(a) Mainframe computers / %A FET

(b) Special purpose computers / TIT TIH FHEX

(c) Portable computers /qTéad HgeX

(d) Super computers /qIT FHEL
(e) Mini computers /T e

Q53.What are programs such as Microsoft Edge that serve
as navigable windows into the Web called as?

AT AT TS ST TRITH F47 FgATd & S 99 § q{a71e we
Frer ST ¥ = § A

(a) Hypertext/ greaieaee

(b) Web browsers / J& STIWT

(c) Internet/ Zre<ae

(d) Networks /a2

(e) Windows Navigator /f&=T afairex

Q54. Which of the following network devices is used to
connect networks using different protocols?

FRraferfera & & fe feert fRares 1 ST fafesr gt
T ITANT Fh FAea Al SIS 6 (0 AT S7aT 872

(a) Hub /&=

(b) Switch/ ffa=

(c) Router /132X

(d)Gateway /e

(e)Repeater /Rdiex

Q55. Which command should be used to display all files
within the specified subordinate directory of the
subdirectory?

U fit Mfae sefimey MEe & a9 wEar & v
Tt F2  forw o Fie &7 TR R ST =t u?
(a) Dir/pathname /Dir/ aT==q

(b) Dir/pathname/pathname / Dir/ 9T==H®/ IT=H

(c) Dir/ch /Dir/ ch

(d) Dir/pathname/filename / Dir/ 9T=¥/ ®IEaA=H

(e) None of these/ZH & FIS 7ol
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Q56. Java was introduced by which of the following
organisation?

ST Aeferera ® o e Jea g1y ger & o =02

(a) Sun Microsystem / &« HTZHIE€eH

(b) IBM/ sr=fTus

() Intel / 32T

(d) Microsoft / ATZHIETT

(e)AT& T/ AT ST T

Q57.What is a spooler?

AT AT 87

(a) Type of printer / TS & YT

(b) Peripheral device/ Tz Iuaraor
(c) Program /¥RITH

(d) Output device /3m3eqe fRar=a
(e) None of these/ZH & FI< Aal

Q58. C++,
languages.
C++, Java 3fiT PHP - TIITHHAT vt %‘I
(a) Procedure-oriented / TSI Arfytes
(b) Object oriented /3issrae sRTeE

(c) Font oriented /Wi Arfxues

(d) Visual Basic /ﬁgw Fferew

(e) None of these /2 & IS Al

Java and PHP are programming

Q59. When a logic bomb is activated by a time-related
event, it is known as a .

ST U AT F1¥ THT | Hatad gedqT & gOHRT grar g, ar
T FHETH A AET L

(a) Time-related bomb sequence / 2T2H Reiee aive g
(b) Virus / 9maxdq

(c) Time bomb / ZT=H atF=

(d) Trojan horse / 251 g4

() All of the above/ IUT<F T«Y

Q60. Which among the following is true about HTML and
XML markup languages?

fReferfad @ & | HTML 3 XML AT 9TOTel & a1
SEEY

(a) They are
development
ERREENE A A R RS K CEa L
(b) They are based on SGML

T SGML ¥ srermfa &

(c) They are versions of SGML

F SGML  HEHT g

(d) They are independent of SGML

T SGML & T &

(e) None of these/37H & HIS Agl

specially development for the app

Q61. Which of the following are tags, when placed on an
animal, can be used to record and track in a database all of
the animal's movements?

Fforfaa & & &9 91 &7 g, S et 797 9% 900 ST |,
T IHHT ITANT SeTad H TLEAT T 7 iatafet i e
T & LA o Torw fohaT ST oehar 27

(a) POS

(b) RFID

(c) OCR

(d) AR

(e) MICR

Q62.Which among the following is not a valid key in a
relational database model?

et & & # a1 Reamea Teae qtea § 77 i 981
?

(a) Primary Key /3T=w<T #it

(b) Candidate Key /Ffe2= #it

(c) Foreign Key /%{e &t

(d) Track Key /<& &t

(e) Super Key /qq% #i

Q63.What is a hyperlink?

gTEaTier T 872

(a) It is a text or image that you can click on to jump to a
new document/page.

Ig UF He AT TV g o o ek 0k a7 UE AU
SIFIHE/AST T ST THA 5

(b) It is an input type for multimedia files.

g T HITSAT WISHAL & o7 TF TS THE g

(c) It is a collection or directory of web pages.

g I STl T HUE IT A9 2

(d) It is the home page of a site.

RCARLIRIECR IR R E LI

(e) None of the above

T # & 7 A

Q64. Which of the following threads is used in an
operating system?

Attt foeew ® 9 § & B3 o &1 9T foram Strar 82
(a) User-level thread

To-oad I

(b) Kernel-level thread

FAA- AT AT

(c) Hardware-level thread

EEEREEL P

(d) Both (a) and (b)

FHT (a) 3T (b)

(e) None of these/ZH & FIS 7ol
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Q65. In number system, LSD stands for
AT JOTTAT H, LSD T 07 &9 T &

(a) Left Significant Digit

(b) Low Significant Digit

(c) Lower Significant Digit

(d) Least Significant Digit

(e) Low Simple Digit

Q66. are the gates that can be used to
implement any type of Boolean logic.

9 g 2 TSt 3o Bt oft s & o T
T AN e o o o ST |ehar &)
(a) OR gates /OR T
(b) Universal gates/ IAa€ e
(c) NAND gates / 7= 2
(d) Exclusive-NOR gates/ TaIa{d -1T e
(e) AND gates /U T

Q67.The hexadecimal number system represents symbols
and .

TFATS TS EEAT JOITeAT 1Ky

gfafAtere Fdt 8l

(a) 0-9, A-E

(b) 0-9, A-F

(c) 1-10, A-E

(d) 1-10, A-F

(e) None of these /2 & IS Al

EEIETNEq

Q68.What acts as master software that works as a
mediator between a computer user and the hardware of a
computer?

ATee? Ay & &7 § FAT FA FAT g ST wde?
STANTHRAT 3T FET F FTEAAL & a1 TLIET % &7 H Hd
FAT 82

(a) Application Program /TSfishers THITH

(b) Motherboard / gaZaTe

(c) Antivirus /TR

(d) Operating System/ Sita¥feT fBeaw

(e) Physical Layer /fo{Sraret orre

MAHA PACK

Live Class, Video Course,
Test Series, eBooks

Bilingual (with eBooks)

Q69. A is a component of motherboard which
absorbs the heat produced by the processor and other
components of a computer.

e HITATS T UF H&F ¢ ST THAT AT F2L %
A Tl FILT AT ITHT T AFLMTUT FLaT Bl

(a) Heat sink / g1e &=

(b) Northbridge / Aarfarst

(c) CPU socket / CPU Hiehe

(d) CMOS battery / CMOS &<t

(e) None of these/Z7H & FI< Aal

Q70.Which of the following is generally used for selecting
or highlighting?

Fforfaa # & et YT 9T =99 37 grearese Fid
3 fory T ST 22

(a) Icon /3TEaid

(b) Keyboard / Fare

(c) Mouse / 939

(d) Floppy Disk / w14t f2&+

(e) None of these/ZH & FIS Al

Q71. ensures secure transfer of data over an
unsecured network, such as the Internet.
TUede ¥ UF AT dea®, T¥ T & geierd
BEATALOT FATHT F2ar 2|
(a) Antivirus
THAETE
(b) Hacking
(c) Cracking
FaEal
(d) Spoofing

T

(e) Cryptography
[ERSDIET

Q72.Which among the following is the most suitable type
of network that phone lines would use?

Raforfaa & & #19 a7 deas #7999 ST TH g |t
ITART I AT FHAT 87

(a) WAN

(b) LAN

(c) WWAN

(d) CAN

(e) SAN

Q73.The SubSeven is an example of :
SubSeven &1 U 3ITTE0T &

(a) antivirus / TEETIRH

(b) Spyware/ TITZa3<

(c) Spam/ & H
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(d) Adware/ T=aIT
(e) Trojan horse/ IS g9

Q74.Which of the following is the activity of purchasing
items and products form different websites on the
internet and using online modes, such as credit cards and
debit cards, to make the payments?

Tevde 97 fafws J@drsel § awqa 3 Ial i giiad
T ST F3A o o0 hfee #7E oliY Sfee e 99 atadred
HIS FT ITANT F2 T Tratate Feforfag § & wia °7 g2
(a) E-banking / =-afFT

(b) Online shopping / SiFaT= eTifuT

() Online reservation / sitAaTzE" f=Taer

(d) M-reservation / Tq-R=raer

(e) E-governance /3-Ta=q

Q75. Identify the volatile storage device amongst the
following devices?

et ST § & Fcersa er Rared #f 9ga=
Hrform

(a) RAM / I

(b) Hard disc / 8TE f*&=%

(c) Magnetic tape / #ufes® 2

(d) ROM / T

(e) None of these /2 & IS Al

Q76. OSI model has how many layers?
OSI Az # fohaet o< gt 872

(a) Two layers /T &<

(b) Five Layers, 9= oI

() Seven Layers/ |Td @14

(d) Six Layers /g 4%

(e) Eight Layers /315 &3<

Q77. In first generation of computers, they used which
among the following?

Fogev & uget gt §, Faferfea # & freer o= fram
(a) Batch processing / a9 &<

(b) Multithreading / #=erafET

(c) Multiprogramming/ FeE ITRITHHAT

(d) Networking / Fea st

(e) All of the above/ STZITF THT

Q78.Which of the following option depicts the type of
result whose value is either TRUE or FALSE?

et & & #19 a7 e afoms % v #i q9mar g
STt |19 37 a7 TRUE 3T FALSE 8?2

(a) Logical /=t foreher

(b) Arithmetic /T feR

(c) Algorithm /ST=TITXaH

(d) Logarithm/ FRTIEa+
(e) None of these/3# & FIE A&l

Q79. Example of I/0 device isa .
[JOFRa=E A/ TH____ 3l

(a) Touch Screen/ == ThIT

(b) RAM /¥

(c) Cache/ e

(d) VMware / #THaIT
(e) Chromium/ FTTET

Q80.Which of the following supports 32-bit processor?
5 & 7 = 32-fare TEEe #1997 F:3ar 872

(a) Windows 2000 /fa=T 2000

(b) Windows 7 /f&=T 7

(c) Windows 8.1 / f3=T 8.1

(d) All of the above/ IT%Ih Tt

(e) None of these/Z7H & FIS Al

Q81. Which state has launched the Digital Lok Adalat
in their respective states as part of the third National
Lok Adalat of 2022?

e TS T 2022 F TG TET AF AT F B F Y
H FAIA-79 T4t | RfSes dr sreraa & # 32

(i) Rajasthan /XTSTeTH

(i) Maharashtra/Hgg

(iii) Madhya Pradesh/®es wzer

(a) Only (i)/ 4 (i)

(b) Only (ii)/ Fa= (ii)

() Only (iii)/ =<t (iii)

(d) Both (i) & (ii)/ =T (i) 3 (ii)

(e) Both (ii) & (iii)/ =1 (ii) 3 (iii)

Q82. PM Narendra Modi sets ‘Panch Pran’ target for
next .

JETHAT NF W& 3 e ¥ o o9 wor «@s
[EEHLGRERI]

(a) 05 yrs/05 ad

(b) 10 yrs/10 T

(c) 15 yrs/15 a9

(d) 20 yrs/20

(e) 25 yrs/25 T

Q83. Which bank has signed an agreement with
Kerala’s Forest and Wildlife Department to enable
digital collection of payments at eco-tourism centres,
Vanasree shops, mobile Vanasree units, and eco-
shops across the State?

e 9% 9 I F a9 3/ I AT F 9 Ty W H
Eqa'-gii\ﬂ:l aET, aﬂ"sﬁ' §$|7‘i|’, IIIEI%(‘*I W%qﬂﬁqi SﬁTﬁ-
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T X A F RiSew dug &t aom F#9 & v =
qHTS I gEaTa< g §7

(a) IndusInd Bank/ =H3E 9%

(b) HDFC Bank/ T2 TUHHT o

(c) South Indian Bank/ AT3¥ 2299 9%

(d) Axis Bank/ Tfaaw 9%

(e) Yes Bank/ a9 5%

Q84. On the occasion of the second anniversary of the
Prime Minister Street Vendor’s AtmaNirbhar Nidhi
(PM SVANidhi) scheme, the Housing and Urban Affairs
Minister, Hardeep Singh Puri launched the ‘SVANIdhi
Mahotsav’. Identify Incorrect statements regarding
the scheme-

v W= e de it sraw Ak [{fY (o =)
ot Fit TEE TS F AT I, AT 3L A4 ATHAL 6
w3, g g 78 9 @rAfe wgea #1 g FRm
JISTHT o Goe § AT HAAT ol T HIforg-

(i) Ministry of Housing & Urban Affairs launched a scheme
PM Street Vendor's AtmaNirbhar Nidhi (PM SVANidhi)
AEATE 3T UL WIHAT F HATAT F Uk AroAT FuA =i
=¥ AT arew AT [Mfer (frow wafafea) =

(ii) The vendors, availing loans under the scheme, are
eligible to get an interest subsidy @5%.

TISTET % TEd 0T oI aTer faehdl, 5% #T a¥ & =TS dfedst
T A o T &

(iii) The scheme is a Central Sector Scheme.

g AT U HalT & =l TIST g

(a) Only (i)/ F4 (i)

(b) Only (ii)/ Fa (ii)

(c) Only (iii)/ 3=t (iii)

(d) Both (i) & (ii)/ =T (i) 3T (ii)

(e) Both (i) & (iii)/ =T (i) 3 (i)

Q85. Union home minister, Amit Shah virtually
unveiled the ‘Statue of Peace’ of Swamy
Ramanujacharya in-

F g H#EAY, I g A Fgl @ qHAS AR A g
3t i i1 TEa: sTaR

(a) Bhopal/ sTraTer

(b) Srinagar/ == T

(c) Patna/ 9eAT

(d) Kashmir/ FeH1¥

(e) Coorg/ FH

Q86. Varinder Singh passed away recently, he was
related to which sport?

iR g =1 g« & ®§ FRaw g @, a8 e e 9 gefea
$?

(a) Badminton/ =iz

(b) Cricket/ fare

(c) Hockey/ gt

(d) Tennis/ =f==

(e) Swimming/ G=T#hT

Q87. Which company signed an MoU with a
Belarusian Company and its subsidiary for the supply
of Airborne Defence Suite (ADS) for helicopters of the
Indian Air Force (IAF)?

AT AT 8T (IAF) & §AIhiee<t & g waRa % 9
(ADS) it srqfd F forg farg St & SATEHET SOt ST ST
TETAF HAAT & T THHATAT AT I eI Fohg?

(a) Bharat Dynamics/ ATEd STATHEFT

(b) Hindustan Aeronautics Limited/ fEg&ame waHifa
rfaes

(c) Bharat Electronics Limited,/ ST3a Zoia2iHa forfies

(d) Bharat Heavy Electricals Limited/ ST<a 24T Zotfaeaod

(e) Engineers India Limited/ sfifa=e =2 forfaes

Q88. Global Liveability Index is released by .
e ferafaferdy e EGUSIRER IS IR
(a) Transparency International/ STEUYHT TaTATA
(b) Economist Intelligence Unit/ 3rferm&ft giear zars
(c) UNDP/ FuaSTdT

(d) UNESCO/ TA&hT

(e) UNEP/ T

Q89. Which bank has received in-principle approval
from the Reserve Bank of India for its proposed
operations support subsidiary aimed at bringing
down the cost-to-income ratio?

ATTA-H-STT ST I FH FLA & Seed d 4 I T Tu+r
JEATad 9T Ggradl 9g@F & g Ay feE 96 9
dgifas al fAeft 2

(a) SBI/ THa TS

(b) Bank of India/ S 3% fe=T

(c) IDBI Bank/ SrsStTas a4

(d) IDFC First Bank/ STSSTURET FEd S

(e) Canara Bank/ &7 &%

Q90. Capital markets are mainly divided into how
many types?

G TR T {&T &9 & fha T & aier w872

(a) 2

(b) 3

(c) 4

(d)5

(e)6

Q91. Who will take over as managing director and
chief executive officer of Mercedes-Benz (The German
luxury automaker) India’s operations on January 1,
2023?

1 S, 2023 FF G- (FHT T A AHT) A
& AT & Yo R s e FEar afgwnt F €1 4
T FTAATE FHTAT?

(a) Ravi Shastri/ T et

(b) T. Raja Kumar/ ¥ TIT $H1T
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(c) Sandeep Kumar Gupta/ H&T FHTT T[T
(d) Santosh Iyer/ HaTT =T
(e) Asit Rath/ 7f&ra =1

Q92. India will have 1.8 lakh Kms of Highways & 1.2
lakh Kms of Rail Lines by which year?

9T # g af 9% 1.8 ar@ e aomt & 1.2 |
e & @ g

(a) 2023

(b) 2024

(c) 2025

(d) 2027

(e) 2030

Q93. A new biography, titled “Soli Sorabjee: Life and
Times” was announced, on the occasion of the 92nd
birth anniversary of Soli Sorabjee. Who is the author
of the biography?

qrett grestt dF 92T St F sraw aX WA Fasit:
ATEE UE ergw” ofids & ww 72 sftae it o i )
Siaet & da® FIT 8?2

(a) Abhinav Bindra/ st fafar

(b) Abhinav Kapoor/ sIfH\a 4%

(c) Abhinav Mishra/ stf¥=a fors=m

(d) Abhinav Gupta/ STf3=a AT

(e) Abhinav Chandrachud/ ¥« J59E

Q94. At the Rashtrapati Bhavan Museum, Rashtrapati
Bhavan organised a workshop on “Disaster
Management of Museums and Heritage Buildings” in
collaboration with the National Institute of Disaster
Management (NIDM). The National Institute of
Disaster Management (NIDM) is located at which
place?

i WaT GUgad ®, qgafad a7 F TEA ATIET Ta+T
O (TSMEEIUH) F 9ga 4 "sugeal 3R e
WaAl F ISl TSGq" U< TH FHIAATAT FT IS AT
T ATIRT FoeT €1 (NIDM) Forer & o R 87

(a) Kohima/ Frf2HT

(b) Srinagar/ == T

(c) New Delhi / 75 faeeft

(d) Kozhikode/ #Fr=frare

(e) Kolkata/ FTeTahTaT

Q95. Jyothi Surekha Vennam has won the gold medal
for India in which sports at the World Games 2022 in
Birmingham?

ST gREr a9 7 Fied | g @ 2022 § 9 F [g
Forer et 3 T e ST 27

(a) Archery/ faTsft

(b) Sprinting/ aTEAT

(c) Shooting/ SIfewT

(d) Wrestling/ et

(e) Boxing/ TgaTs(t

Q96. Which social media platform has launched an
‘alert’ feature to help find missing children?

HTYAT YT & Gio § AGE HIA & (o e dverer Hieam
THEHIA A "HAS HIET Al (AT 32

(a) Meta/ HeT

(b) Instagram/ EETITH

(c) Telegram/ T

(d) Twitter/ 3aex

(e) Whatsapp/ =2T2eq

Q97. Who has launched the ‘Lifestyle for the
Environment (LiFE) Movement’, a global initiative
with the vision to live a lifestyle that is in tune with
our planet and does not harm it?

A IR B T TEaEAeE (THeTEUhs) aie
€ T §, ST O UET afs 78w § S g9 U8 F AgET
Straw Seft Sfie it 38 & § 3% 38 AT g1 agaTdl g7

(a) Amit Shah/ =TT omg

(b) Anurag Thakur/ ST STEHX

(c) Narendra Modi/ ¥ HT<t

(d) Dharmendra Pradhan/ &g T

(e) None of these/ TAH & FIs Aol

Q98. Kotak Mahindra Bank has launched its new
enterprise portal for business banking and corporate
clients, which can be used by the bank’s customers to
carry out all trade and service transactions. What is
the name of the portal?

FIEH HIgaT & o ATAATAS o [T S FIYIE ATl & (T
AT AT STH e Al (AT §, St SUART 6 & T
T TIOR3 AT A7 LA & (T FT Tt gl TIoe &l
AT T 8?7

(a) Kotak NUE/ s NUE

(b) Kotak MUE/ #1es MUE

(c) Kotak FYN/ #Te® FYN

(d) Kotak FUE/ #Te® FUE

(e) Kotak NEW/ #F1es NEW

Q99. The World Creativity and Innovation Week is
observed every year to raise awareness about the
importance of creativity and innovation in problem-
solving and encourage creative multidisciplinary
thinking at the individual and group levels. It is
observed from-

forg TeRaT ST AT 9TE g€ 99 aHET-aHTEE |
THATCHHAT 3T TATATE F TZH & T A TRIEHAT T 3
ARG ST ag WU I EATHS Jg-[a9dF a9 6l
TIATTRT e o oI AT SITaT @1 I8 el FATAT SATaT 872
(a) 7th April to 13th April/7 359 7 13 9

(b) 15th April to 21st April/15 T8 & 21 378t

(c) 7th March to 13th March/7 9T & 13 5T

(d) 15th March to 21st March/15 &7+ & 21 5T

(e) 21st April to 26th April/21 9 & 26 IS
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Q100. Derivative instruments are capital market
financial instruments whose values are determined
by the underlying assets, such as currency, bonds,
stocks, and stock indexes. Which of the following is
NOT a type of derivative instrument?

O ST ST R & @A ae| § Ses 1w
FeifRa fFg sira 81 Meffeaa & & #t9 ar o arae it
T TH TG 87

(a) Forward/ ®iTas

(b) Future/ ®I=X

(c) Backward/ e

(d) Options/ sfeerT

(e) Interest Rate Swap/ 9Tl 3T &9

Q101. Immediate Payment Service (IMPS) public
launch on

TR SEIAT AT (AETANTH) qrasiis €7 & F IF
g

(a)23rd November 2010 /23 F==¥ 2010

(b)22nd November 2011/22 F&=a< 2011

(c)22nd November 2012/22 F4a% 2012

(d)22nd November 2010/22 == 2010

(€)22nd December 2010/22 f&&=¥ 2010

Q102. Which tech giant announced the launch of ‘Play
Pass’ subscription service in India that will provide
Android device wusers access to over 1,000
applications and games without ads?

e qa e F TRA | "o I S3€9aT 99T E A
1 =T i §, S ugize feATeq STAwERataAl Fr AR ®
39T 1,000 & srferF TRAFT i 9 T Tg= T2 HGA?
(a) Microsoft/ ATSHIETH

(b) Dell/ ==

(c) Tata/ =TeT

(d) Google/ @<t

(e) Youtube I&IF /

Q103. The Central Depository Services (India)
Limited (CDSL) has become the first and only listed
depository in India to register more than 60 million
___accounts.

Heo RRifoed afdas (R ”ifies (@ituaua) wa &
60 AT & st ___ @ral &l dsiisha T aTeil 9gell 3T
TEHT gH 1ag Ruifsed av T8l

(a) Current /=T

(b) Savings / s=rq

(c) Demat / ET#e

(d) Recurring / RaRfEGT

(e) NRI/TF3T=TE

Q104. Mohammad Sanusi Barkindo has passed away
recently, He was the secretary-general of which of the
following organization?

HIgHT aIqHT Jhel & g &t § e g1 r §, 98
Ruforfa % o e g & agratza a7

(a) WHO/ farsa Tame=r €Ta+

(b) OPEC/ 39 (YETeras faTdeh <91 & &)

(c) WTO/ T2 =aTTe &3 1ee

(d)UNICEF/ € ITg a1 &IT

(e) IMF/ Sa=TE T 5T &Y

Q105. The Defence ministry gave private sector banks
permission to offer financial support to it for the
purchase of military equipment abroad. Which of the
following bank got the approval?

AT HATE ¥ it &7 F S o AR § & g it
TaT ¥ o it agmar it gassa F@ S sSgAfT @
Faferiera & & e S 9 w5 fB=t?

(a) ICICI Bank/ 3TEeTars&Tams S

(b) Axis Bank/ Ui %

(c) HDFC Bank/ THSTUHHT S

(d)Only a & b/ Fa«a T b

(e)Alla,b & c/T¥ta,b 3T c

Q106. Former all-rounder Cricketer Andrew Symonds
was Killed in a car crash. He hailed from which of the
following country?

4 siiassy e dgg argded i I gHedr § #iq gl
T a8 Reffea d d a9

(a) USA/ srrfeerT

(b) Germany/ STHT

(c) Sri Lanka/ #ftei=rt

(d) Australia/ stEeferaT

(e) Serbia/ |fsaT

Q107. Which of the following is not a feature of Indian
call money market?

et # & fa-Ht wredia wiw 71 Arne it farear 78
?

?a) The call money market is highly sensitive and

competitive market

Tl HAT ATehe U sTeaferes daaaefier sz afaeadT arome g

(b) Mainly the banks participate in the call money market.

T &9 F I, FA T1 ATohe § TR A &

(c) Call money market provides the institutional

arrangement for making the temporary surplus of some

banks available to other banks which are temporary in

short of funds.

Fer wA W ¥ AT qeIrl SfRnT A aer A A

ITAS F o oI HEARTT SHGEAT TSI LT g, otk a1

T &9 F o Y FHT AT S

(d) The rate of interest in the call money market is highly

stable./ FIeT WeT ATehe & AT a2 A Ter Raw g

(e) None of the above /3U<I<h | ¥ &< A5l
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Q108. IRDAI and National Health Authority (NHA) will
develop a National Health Claims Exchange as a digital
platform to settle health claims. Where is the
Headquarter of IRDAI located?

IRDAI 3R TSHia ey TTfdsh<er (NHA) &g qral &l
7™ % g us RiSes <ewid & 1 7 ts Ty ey
FAT TGSt fAHRT FGT1 IRDAI T [&ATAT gl (o9d 87
(a) Mumbai/ Ha%

(b) New Delhi/ 7% faett

(c) Bengaluru/ sRTe®

(d) Hyderabad/ ga¥Tama

(e) Noida/ FTU=T

Q109. Children have chosen ‘anxiety’ as their word of
the year for 2021, according to new research from
Oxford University Press (OUP). What was the 2020
Oxford Children’s Word of the Year?

AFTRIE FAAH I (OUP) F 7Y <178 F ST, Tg1 7 a9
2021 F T 'anxiety' # 99 F AU 5T F €T | AT &
2020 FT FFTHIE Hege a2 6 T SIL FTIAT?

(a) Well-being

(b) Isolation

(c) Coronavirus

(d) Pandemic

(e) Mental Health

Q110. National Institute of Mental Health and
Neurosciences (NIMHANS), Bangalore, with support
from which the ministry has launched the “Stree
Manoraksha project”?

TET AFTAE Qe i dr A= 9e9 (NIMHANS)
EUEIRERE TR EIEpE R RO KID IR ECIRIECIEE
qEHI?

(a) Ministry of Woman and Child Development

HIZAT 32 arer Forare w=mer T

(b) Ministry of Health and Family Welfare

TATES ST TRATT FedTo HATAT

(c) Ministry of AYUSH

EIRCEEIER]

(d) Ministry of Housing and Urban Affairs

ATATH 3T g WAL o WA

(e) None of these /Z7H & IS Al
TEST SERIES

BILINGUAL
VIDEO SOLUTIONS

SBI CLERK 2022

/ PRIME J

100+ Total Tests | eBooks

Q111. Which state has launched an Android App
‘Shaili’, aimed at diagnosing and controlling lifestyle
diseases among the people?

e TS q AR H STrae S SETRAT # T A ek
A= A F 39T | TH U IEE U ‘Shaili' Fiw BT 3?2
(a) Rajasthan/ TrsTeATT

(b) Haryana/ =TT

(c) Himachal Pradesh/ fgaT=et wer

(d) Kerala/ %=

(e) Karnataka/ Fd1e#®

Q112. With which country, India signed an Economic
Cooperation and Trade Agreement which will provide
zero-duty access to 96 percent of India's exports to
the country, slashing import duties on a wide range of
items from that country?

o 297 F 9Ty AT F T sf¥e agaeT s} S awE
IR AT (T, ST 39 i S & At F 96 wivea ¥ g
- g TS FHT, T T F aeqeil A T faeqa
FEAT I AT L | HHT HIT?

(a) Australia/ stteeferaT

(b) Russia/ &9

(c) America/ 3THTGHRT

(d) UK/ TATELE e

(e) France/ sr&

Q113. Which bank has been adjudged Best
Performing Bank in Self Help Group Linkage by
National Rural Livelihood Mission (NRLM), Ministry of
Rural Development, Govt of India?

U ITHIT SArsfifaeT e (NRLM), ITHT fosme 6979,
TTRA LT GI Foh S il T Fg1aar a9g feider & a9
TEE LA ATAT Soh AT AT &2

(a) Punjab National Bank/ 9siTel 7919t s

(b) Axis Bank/ Ui §%

(c) Yes Bank/ T9

(d) HDFC Bank/ TSSO
(e) Kotak Mahindra Bank/ #Tes® A{gaT §%

Q114. National Financial Switch (NFS) ATM network
having 37 members and connecting about 50,000
ATMs was taken over by NPCI from Institute for
Development and Research in Banking Technology
(IDRBT) on December 14, 2009. It offers one of the
services abbreviated as ANS, Expand ANS-

T Afiw Ra=r (NFS) Tuw deas e 37 asew § o}
AT 50,000 TETH KT ST g, FT TAGEME T 14
=T, 2009 it ST S=NRER FEm s sgEaT qemE
(et & srférrger #< forw om 78 ANS (EfE) *
Y § T 997 Y& FAT 8, ANS F7 faeae fifsmg)

(a) Aadhar Number Statement

(b) Aadhar Number Services

(c) Aadhar Number Seeding

(d) All New Savings

(e) All Number Services
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Q115. It is a method by which banks borrow from
each other to be able to maintain the cash reserve
ratio.

7g s g Rty § e g 9% 96 afEa s wr
FATY T@ | TEH g7 % T T g & SH A )

(a) Commercial bill/ Fwfset faer

(b) Commercial papers/ Ff¢Tae TaT

(c) Call money/ et A=Y

(d) Open Market Operations/ 3T9H HThe ATTLLTT

(e) None of the above/ IUTI<H | & FIS Aat

Q116. The Hon’ble Prime Minister Inaugurated the
Digital India Week, a Digital Expo - Digital Mela at
Gandhinagar, Gujarat. Identify the correct statement
regarding the event-

A TEHAT 7 [ora & e § Rfcew w9 qarg,
wF Rfea wwar-Rivies 3w #1 3greT fram srsm %
e 7 et T H 781 fifora-

(i) It was organized by the Ministry of Electronics and
information Technology (MeitY).

Tg TAFS(ATT T GAAT TR T (MeitY) ZTRT
EIRIECRERIRRIRI

(ii) Theme of the event was ‘Digital India: Catalyzing New
India’s Techade’.

TS 1 Ao 'R e FerarsfonT = 2tams e
I

(iii) One of the most important initiatives was also
launched named as “Legal Information Management and
Briefing System” (LIMBS), which utilizes standard
templates, monitors the court cases in a proactive,
transparent and effective manner.

HIH EATO TEel § A U FA GAAT AT A7 AT
e (TAsTSUREUE) AT Ate= AT T3, ST ATAE SHeed
T IUANT FAT 8, ARTAAT HTHAL hT A0, TTeasfT e et
TR | AT 2T B

(a) Only (i)/ =< (i)

(b) Only (ii)/ @ (ii)

(c) Both (i) & (ii)/ =T (i) 3% (ii)

(d) Both (ii) & (iii)/ T (ii) 3 (iii)

(e) All (i), (ii) & (iii)/ =T (i), (ii) 3 (iii)

Q117. A Memorandum of Understanding (MoU) was
signed between Tamil Nadu and the M/s. IGSS
Ventures Pte Ltd to build a 300-acre semiconductor
high-tech park in the State with an investment and
grants of 25,600 crore. Where is IGSS Ventures Pte Ltd
based?

TAAATg ST M/s. IGSS d=€ Pte ffaes & fiw 25,600
Fe & [AAer sl g % ara TST § 300 vHE Ffidewx
ERE-3F T a9 & [T TF q9=ar 9 (THaAY) 9%
geaTee g Tul IGSS 394 Pte f™iffiee gt Raa g2

(a) Switzerland/ Faesaie
(b) Japan/ STaTT

(c) Singapore/ ffRTT®
(d) South Korea/ feror &=
(e) Nepal/ FaTer

Q118. India has nominated which dance form to be
inscribed on UNESCO's intangible cultural heritage
list?

AT AT T A ATEpTaeh Araa T § g T At
F sifha forar s & g i e &

(a) Bhamakalpam/ {THTERTH

(b) Kolattam/ FTeTed
(c) Dappu/ T

(d) Lambadi/ &Y
(e) Garba/ ITZaT

Q119. Axis Bank has signed an MoU with which
organization to provide “Ultima Salary Package”, a
best-in-class salary account with exclusive benefits &
features to all its employees?

ufaag a7 5T G & aryy "srfeeHT S de" TaH S
& forg u& au=iar a9 9 gEarER e €, S s i
FHATT F1 A9 19 7 glagmst F arer aft § 49y
ERERCIRIE

(a) FCI

(b) FICCI

(c) FSSAI

(d) DRDO

(e) ISRO

Q120. Supreme Court has constituted a how many
member bench, headed by Justice D.Y. Chandrachud,
to rule on the matter pertaining to distribution of
freebies to voters during elections?

T H1E  FATT & A AAQTATH 1 TF | Fie § qaraq
AT I HaeT g+ forg Ffteq Sars dogg f Aeqear &
et gefter s &1 737 T 82

(a)3

(b) 4

(c)5

(d) 6

(e)7

Directions (121-128): Read the following passage
carefully and answer the questions given below them.
Certain words are given in bold to help you locate
them while answering some of the questions.

In recent times, right-leaning economists have been
arguing that the Government does not need to do
anything with the economy and that it will revive by itself.
These economists reason that, like after the Great
Depression, the economy rebounded worldwide, and so
will it with us. The argument is fallacious on some
accounts:
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The first factor, demand. In the case of the Great
Depression, demand was created by the Second World
War effort. Especially in the United States, which was
largely spared of the destruction, its industrial capabilities
could be used as a supply base for the entire Allied effort.
In the current scenario, there is no war to create demand.
On top of it, the COVID-19 pandemic has resulted in
demand destruction. This is because many jobs have been
lost, and even where jobs were retained, there have been
pay cuts. From the point of view of the Indian exporter,
rising freight costs and non-availability of containers is a
significant impediment along with structural issues such
as a strong rupee relative to major competitors. Only the
Indian IT sector is placed well to capitalise on rising
demand in the world markets.

Next is inflation. India is suffering from stagnant growth
to low growth in the last two quarters. At best, any growth
in the current quarter will be illusionary because it comes
on top of substantial negative growth in the first quarter
of last year, perpetuating a statistical phenomenon
known as the “low base effect”. The base effect states that
when measuring year-over-year growth, we take the
previous year’s numbers as the base instead of actual base
year and measure the growth as a percentage. As in the
low initial base set by last year, almost any growth this
year is seen as a significant growth percentage. In
comparison, the absolute growth figure is negligible.
Inflation in India is being imported through a combination
of high commodity prices and high asset price inflation
caused by ultra-loose monetary policy followed across the
globe. Foreign portfolio investors have directed a portion
of the liquidity towards our markets. Compared to a
developed capital market, India has a relatively low
market capitalisation. It, therefore, cannot absorb the
enormous capital inflow without asset prices inflating.
This might be seen as a welcome move, but it is to be
noted that most of India’s population do not own equity
or bonds, which means that they cannot cash in on asset
inflation. The wealthy upper class gets richer due to
access to financial assets. The middle and lower-middle-
class get destitute due to regressive indirect taxes and
high inflation, with their wealth eroding due to said
inflation. Especially in the case of the lower middle class,
inflation is lethal as they do not have access to any hard
assets, including the most fundamental hard asset, gold.

Q121. What is the contradiction of economists in
economic recovery on the demand side?

(a) disruption in demand is caused by decline in
production and shortage of supply in the market

(b) there was an economic improvement in the last few
months after the decline in the Covid-19 cases

(c) unlike second world war, there is no stimulus to
increase demand in the economy

(d) there is a great depression throughout the world and
this causes absence of a support base like the U.S. has
(e)None of these

Q122. How does ‘low base effect’ cause illusionary
growth in the economy?

(a) Base year change every year and this gives rise to
variation in the methods and results over the year

(b) It changes the reference point for comparison
between two sets of data and has insignificant results

(c) To conceal actual data sometimes changes have been
made and this has erroneous results

(d) It is difficult to record actual data in this huge
economy SO economists use an approximation of the
conclusion

(e) None of these

Q123. Which of the following is the reason for increasing
inflation in the economy?

(a) cost of inputs increase when there is an increase in
production to meet higher demand

(b) prices rise when there is an abundance of outputs
which is due to a lack of demand in the market

(c) higher non-adjustable liquidity in the economy causes
hike in prices of various goods and services

(d) All of these

(e) None of these

Q124. Which of the following statements can be inferred
from the last paragraph with reference to inflation?

(a) There is variation in consequences of inflation with
respect to the number of assets different classes possess
(b) Inflation has a uniform effect on every sector and
household due to limited resources in the economy

(c) Richer people are fortunate enough to have a higher
capacity to compensate by increasing their income source
(d) People living in penury get subsidies from the
government when they get distressed by higher inflation
(e)None of these

Q125. Which of the following given statement(s) is/are
incorrect with reference to the paragraph?

(i) Economists are urging government to take necessary
steps towards the economic downfall.

(ii) Lower foreign direct investment is the reason for the
inflation in any economy.

(iii) India is suffering from sluggish growth since last half
year.

(a) Only (iii)

(b) Both (i) and (iv)

(c) Both (ii) and (iii)

(d)Only (i) and (ii)

(e) All of these

Q126. Which of the following is similar in meaning to
‘Fallacious’ as used in the passage?

(a)appease

(b)imprecise

(c)minute

(d)dissipate

(e)None of these

19 I www.bankersadda.com

www.sscadda.com |

www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

Q127. Which of the following is similar in meaning to
‘Impediment’ as used in the passage?

(a)captivate

(b)prominent

(c)restrain

(d)animosity

(e)None of these

Q128. Which of the following is opposite in meaning to
‘Perpetuating’ as used in the passage?

(a)mawkish

(b)cease

(c)dismal

(d)fortify

(e)None of these

Directions (129-133): In the following questions, a
word a given followed by four sentences which have
used the given word. Choose the sentence having the
correct usage of the given word as your answer. If all
of the given sentences have the correct usage of the
given word then choose ‘all are correct’.

Q129. Reluctant

(a) India had a moment to savour when its women’s
hockey team reluctant the quarterfinals.

(b) Parents are reluctant to send their kids back to school
without Covid-19 vaccination.

(c) The increase in fuel prices will lead to a reluctant in
wages demanded as the monthly expense increases.

(d) Supreme Court reluctant 15% Scheduled Caste
reservation under the AIQ.

(e) All are correct

Q130. Perseverance

(a) Among the multiple challenges a journalist has to
perseverance is the quality of writing that sustains the
readers’ interest

(b) The use of Pegasus poses a stark perseverance to
democracy and freedom

(c) The perseverance of the modern state emerging from
the culture of secrecy is therefore apparent.

(d) It is clearly her efforts, tireless practices & sheer
perseverance behind her success.

e) All are correct

TEST SERIES

BILINGUAL
VIDEO SOLUTIONS

SBIPO

PRELIMS+MAINS

100+ TOTALTESTS

Q131. Eradicate

(a) South Asian nations joined hands to collectively battle
the crises by eradicate towards a COVID-19 emergency
fund.

(b) Through an aggressive vaccination campaign, we can
eradicate Covid-19 infection.

(c) There are a host of recommendations on how to
eradicate schools safely.

(d) In India, COVID-19 accelerated the launch of health
mission, eradicate the accessibility of health-care
services.

(e) All are correct

Q132. Dissipate

(a) Kerala seemed like it had an exceptional pandemic
story to dissipate to the world.

(b) Dissipate support is needed for those who risk falling
through the net of digital progress.

(c) Finance Minister dissipate tax law changes to scrap
the retrospective provisions brought in by the late FM.

(d) In many circumstances the manure gases are
produced and dissipate into the atmosphere.

(e) All are correct

Q133. Refrain

(a) Public health expert on Thursday asked people to
refrain from travel during summer holidays.

(b) One of the problems of political populism is that the
state takes its paternalistic role too refrain.

() Iran and India can play a constructive and useful role
in refrain security in the region.

(d) Despite the efforts made on the ground, people
refrain to suffer with perennial flooding.

(e)All are correct

Q134. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) The pandemic has taught us many things, but two of
them stand out for us.

(b) The public education system is the primary option for
millions of students in India.

(c) The Biden administration has an inevitably, multi-
pronged task at hand.

(d) Worden had an emergency pack on his back in the
event of his life-line being severed during the walk.
(e)None of these

Q135. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) Every great change starts with a revolutionary step.
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(b) Multiple studies have proved that children who learn
in their mother tongue in their early, formative years
performs better.

(c)It is ironic that India has an overwhelming majority of
professional courses being taught in English.

(d) Canada showcases a sound approach to education,
revealing a picture of a country with linguistic diversity.
(e)None of these

Q136. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a)The Prime Minister has decided to visit all states and
meet all chief ministers next month to review of the
situation.

(b) The union finds it easier to promote universal
standards in areas like climate change and food than
domestic values.

(c) After four years, the promise of the Goods and Services
Tax (GST) remains substantially unrealized.

(d) The fundamental weakness of the GST is its political
architecture which is asymmetrically loaded in favour of
the Centre.

(e)None of these

Q137. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) A police havildar was convicted of contempt of court
by the sub-divisional officer

(b) While lingering restrictions will have a significant
impact on businesses, they are far preferable than a
lockdown.

(c) Hungarian Prime Minister has countered by proposing
a national referendum on the law.

(d) This is not for the first time that strikes by
government employees are being made explicitly illegal
(e)None of these

Q138. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) It is really creditable that the school produced such
excellent results.

(b) The economy has been slowing for nine quarters prior
to the outbreak

(c) What is stunning is that for the first time there is a rise
in the incidence of poverty

(d) The Court has issued directions to private schools to
provide transfer certificates in a week of students' giving
applications.

(e)None of these

Q139. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) Patriarchal control of women and systemic gender
discrimination cannot be defeated by government
intervention alone.

(b) The models used in most COVID-19 predictions were
simple statistical models.

(c) The government recently announced reservation for
women in State engineering colleges.

(d) The Signatories declare that the electors have no
initiative in financial matters.

(e)None of these

Q140. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) Mostly children who develop symptoms of COVID-19
get better after six days.

(b) In every birth the jivatma is compelled to act and this
entails his experiencing the fruits of his action.

(c) The Pegasus revelations reflect an attack on Indian
democracy and Indian citizens.

(d) August has begun on a disconcerting note in India’s
coronavirus story.

(e) None of these

Directions (141-145): Given below are five sentences
of a paragraph in a jumbled fashion. Arrange the
sentences to form a coherent paragraph and answer
the following questions.

(A) Only relying on traditional literacy and numeracy
alone will not suffice and tends to marginalise differently
abled learners.

(B) Critical thinking and problem solving, communication
and collaboration and productivity and accountability all
strengthen the individuals’ abilities and creativity at the
workplace.

(C) Moreover, an individual must be motivated enough to
remain immersed in a specific activity to be creative and
happy.

(D) The National Education Policy (NEP) 2020 has
rightfully identified 21st century skills as fundamental to
developing creators.
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(E) Educators could consider a design-based approach
where students concentrate on a subject for two-three
weeks to examine how it can be applied in the real world.

Q141. Which of the following would be THIRD sentence
after rearrangement?

(a) D

(b)E

(c)A

(d)B

(e)C

Q142. Which of the following would be FIRST sentence
after rearrangement?

(@b

(b) E

(A

(d)B

(e)C

Q143. Which of the following would be FIFTH sentence
after rearrangement?

(@)D

(b) E

(c)A

(d) B

(e)C

Q144. Which of the following would be FOURTH sentence
after rearrangement?

(@b

(b) E

(A

(d)B

(e)C

Q145. Which of the following would be SECOND sentence
after rearrangement?

(@b

(b) E

(A

(d)B

(e)C

Directions (146-148): In the following questions, a
sentence is divided into four parts consisting of a
highlighted word in each part. Choose the option
reflecting the word which is either misspelt or
grammatically incorrect. If all the highlighted words
are correct, choose option (E) i.e. “all are correct” as
your answer choice.

Q146. How science has aided in the inadvertent political
game of demolishing basic human rights has finally
frutified in the production of a technology.

(a)aided
(b)demolishing
(c)frutified
(d)inadvertent
(e)All are correct

Q147. After intensive efforts to strengthen nuclear safety
and with global warming becoming ever more apparant,
nuclear power is regaining a place in global debates.
(a)intensive

(b)apparant

(c)regaining

(d)debates

(e)All are correct

Q148. India at the Olympics has always been about
feverish hopes, bruising anguish and a few medals that
infilterates human privacy right up to the bedrooms of
its targets.

(a) feverish

(b) bruising

(c) anguish

(d) infilterates

(e) All are correct

Directions (149-155): In the following passage there
are blanks, each of which has been numbered. These
numbers are printed below the passage and against
each, five options are given. Find out the appropriate
word which fits into the blank appropriately.

Q149. Chief Minister should be __(149) for
bringing ‘disaster management’ into the popular
imagination in Bihar. In his early days as Bihar Chief
Minister (2005-2010), he made a few noticeable
(150) changes, with renewed approaches in
infrastructure augmentation for dams and reservoirs,
detention basins, embankments and channel
improvement. Non-structural measures were also
(151) in later years such as floodplain
management, flood forecasting and warning, flood
insurance and financial _____(152).
However, despite the efforts made on the ground, people
continue to suffer with __(153) flooding in
north Bihar. Already facing a humanitarian crisis of sorts
following the novel coronavirus pandemic, this year’s
extra rainfall and floods have been a moment
of (154) . Unfortunately, this chronic issue
which is making over five crore people of the north Bihar
in India and Tarai in Nepal so _____(155), does
not seem to get the attention it deserves by policymakers
on both sides of the border.
(a) credited
(b) cumbersome
(c) midway
(d) rigorous
(e) None of these
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Q150. Chief Minister should be (149) for
bringing ‘disaster management’ into the popular
imagination in Bihar. In his early days as Bihar Chief
Minister (2005-2010), he made a few noticeable
(150) changes, with renewed approaches in
infrastructure augmentation for dams and reservoirs,
detention  basins, embankments and  channel
improvement. Non-structural measures were also
(151) in later years such as floodplain
management, flood forecasting and warning, flood
insurance and financial (152).
However, despite the efforts made on the ground, people
continue to suffer with (153) flooding in
north Bihar. Already facing a humanitarian crisis of sorts
following the novel coronavirus pandemic, this year’s
extra rainfall and floods have been a moment
of (154) . Unfortunately, this chronic issue
which is making over five crore people of the north Bihar
in India and Tarai in Nepal so (155), does
not seem to get the attention it deserves by policymakers
on both sides of the border.
(a) scorn
(b) steep
(c) erratic
(d) structural
(e) None of these

Q151. Chief Minister should be (149) for
bringing ‘disaster management’ into the popular
imagination in Bihar. In his early days as Bihar Chief
Minister (2005-2010), he made a few noticeable
(150) changes, with renewed approaches in
infrastructure augmentation for dams and reservoirs,
detention basins, embankments and channel
improvement. Non-structural measures were also
(151) in later years such as floodplain
management, flood forecasting and warning, flood
insurance and financial (152).
However, despite the efforts made on the ground, people
continue to suffer with (153) flooding in
north Bihar. Already facing a humanitarian crisis of sorts
following the novel coronavirus pandemic, this year’s
extra rainfall and floods have been a moment
of (154) . Unfortunately, this chronic issue
which is making over five crore people of the north Bihar
in India and Tarai in Nepal so (155), does
not seem to get the attention it deserves by policymakers
on both sides of the border.
(a) repressive
(b) adopted
(c) extradite
(d) contempt
(e) None of these

Q152. Chief Minister should be __(149) for
bringing ‘disaster management’ into the popular
imagination in Bihar. In his early days as Bihar Chief
Minister (2005-2010), he made a few noticeable
(150) changes, with renewed approaches in
infrastructure augmentation for dams and reservoirs,
detention  basins, = embankments and  channel
improvement. Non-structural measures were also
(151) in later years such as floodplain
management, flood forecasting and warning, flood
insurance and financial _____(152).
However, despite the efforts made on the ground, people
continue to suffer with _ (153) flooding in
north Bihar. Already facing a humanitarian crisis of sorts
following the novel coronavirus pandemic, this year’s
extra rainfall and floods have been a moment
of (154) . Unfortunately, this chronic issue
which is making over five crore people of the north Bihar
in India and Tarai in Nepal so _____(155), does
not seem to get the attention it deserves by policymakers
on both sides of the border.
(a) mar
(b) mortify
(c) compensation
(d) revive
(e) None of these

Q153. Chief Minister should be __(149) for
bringing ‘disaster management’ into the popular
imagination in Bihar. In his early days as Bihar Chief
Minister (2005-2010), he made a few noticeable
(150) changes, with renewed approaches in
infrastructure augmentation for dams and reservoirs,
detention basins, embankments and channel
improvement. Non-structural measures were also
(151) in later years such as floodplain
management, flood forecasting and warning, flood
insurance and financial _____(152).
However, despite the efforts made on the ground, people
continue to suffer with __(153) flooding in
north Bihar. Already facing a humanitarian crisis of sorts
following the novel coronavirus pandemic, this year’s
extra rainfall and floods have been a moment
of (154) . Unfortunately, this chronic issue
which is making over five crore people of the north Bihar
in India and Tarai in Nepal so _____(155), does
not seem to get the attention it deserves by policymakers
on both sides of the border.
(a)embankment
(b)waned
(c) nascent
(d) perennial
(e) None of these
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Q154. Chief Minister should be (149) for
bringing ‘disaster management’ into the popular
imagination in Bihar. In his early days as Bihar Chief
Minister (2005-2010), he made a few noticeable
(150) changes, with renewed approaches in
infrastructure augmentation for dams and reservoirs,
detention  basins, = embankments and channel
improvement. Non-structural measures were also
(151) in later years such as floodplain
management, flood forecasting and warning, flood
insurance and financial (152).
However, despite the efforts made on the ground, people
continue to suffer with (153) flooding in
north Bihar. Already facing a humanitarian crisis of sorts
following the novel coronavirus pandemic, this year’s
extra rainfall and floods have been a moment
of___ (154) . Unfortunately, this chronic issue
which is making over five crore people of the north Bihar
in India and Tarai in Nepal so (155), does
not seem to get the attention it deserves by policymakers
on both sides of the border.
(a) amend
(b) reckoning
(c) vivid
(d) predominantly
(e) None of these

Q155. Chief Minister should be (149) for
bringing ‘disaster management’ into the popular
imagination in Bihar. In his early days as Bihar Chief
Minister (2005-2010), he made a few noticeable
(150) changes, with renewed approaches in
infrastructure augmentation for dams and reservoirs,
detention basins, embankments and channel
improvement. Non-structural measures were also
(151) in later years such as floodplain
management, flood forecasting and warning, flood
insurance and financial (152).
However, despite the efforts made on the ground, people
continue to suffer with (153) flooding in
north Bihar. Already facing a humanitarian crisis of sorts
following the novel coronavirus pandemic, this year’s
extra rainfall and floods have been a moment
of (154) . Unfortunately, this chronic issue
which is making over five crore people of the north Bihar
in India and Tarai in Nepal so (155), does
not seem to get the attention it deserves by policymakers
on both sides of the border.
(a) animosity
(b) vulnerable
(c) appease
(d) indulging
(e) None of these

Directions (156-160): Read the following passage
carefully and answer the questions given below them.
Certain words are given in bold to help you locate
them while answering some of the questions.
As part of the Union Budget address for 2020-21, the
Finance Minister, said that the shutting down of old coal
power plants, which are major contributors to emissions,
will aid the achievement of India’s Nationally Determined
Contributions, an idea which has been
(1) by the Power Minister, R.K. Singh. Some
research studies have also argued in favour of it, citing the
economic and the environmental benefits of shutting
down coal plants older than, say, 25 years. It is argued
that the availability of under-utilised newer (and
presumably more efficient) coal-based capacity means
that shutting down older inefficient plants would lead to
improved efficiencies, reduced coal usage, and hence, cost
savings.
Further, it is argued that it would be uneconomical for
old plants to install pollution control equipment required
to meet the emission standards announced by the
Environment Ministry, and hence it would be better to
retire them. The recent order from the Central Electricity
Regulatory Commission (CERC) allowing Delhi’s BSES
distribution company to exit its concluded 25 year old
power purchase agreement with the National Thermal
Power Corporation Limited’s Dadri-1 generating station,
also lends some credence to this. Since plants older than
25 years make up around 20% of the total installed
thermal capacity in the country and play a significant
role in the country’s power supply, decisions regarding
their retirement merit finer scrutiny to see if the claimed
benefits really accrue.
While there are some old plants tied up in expensive
power purchase agreements, as in the case of the CERC
order, there are also several old plants, which generate at
lower costs. For instance, plants such as Rihand, Singrauli
(both Uttar Pradesh), and Vidhyanchal (Madhya Pradesh),
are all over 30 years old and have very low generation
costs of around X1.7/kWh, which is lower than the
national average. This may be due to locational advantage
rather than efficiency, as older plants are likely to be
located closer to the coal source, reducing coal transport
costs. However, this just highlights the complexity of the
issue, since efficiency does not naturally translate to
savings.

Q156.According to the passage, which of the following
statements support(s) the idea of the shutdown of the old
coal power plants?

(a) These plants haven't finished their contracted tenure
and are still running to maintain their cost.

(b) Old coal power plants are detrimental to environment
and are unprofitable due to unproductivity.
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(c) Putting environmental safety tools to meet emission
standards is extravagant for these firms.

(d)Both (a) and (c)

(e)Both (b) and (c)

Q157. Which of the following is opposite in meaning to
‘UNECONOMICAL’ as used in the passage?

(a) reasonable

(b) moribund

(c) thrive

(d) castigate

(e) None of these.

Q158. Which of the following is similar in meaning to
‘SIGNIFICANT’ as used in the passage?

(a)blunt

(b)foul

(c)conspicuous

(d)repudiate

(e)None of these

Q159. Which of the following word could fit in the blank
(1), to make the statement grammatically correct and
contextually meaningful?

(a) imperative

(b) intemperate

(c) strident

(d) endorsed

(e)None of these

Q160. What does the author mean by the given phrase
“efficiency does not naturally translate to savings.”?
(a) higher efficiency of new plants doesn’t help in
reducing cost due to the disadvantage of their location.

(b) distance between old plants and new plants is narrow
which reduces the cost and saves money.

(c) although the efficiency of old coal plants is less their
location advantage increases the cost of coal.

(d) New plants are equipped with the wupgraded
technologies which lessen the cost but increase
expenditure.

(e)None of these
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Q161. A bag contains toys of purple, pink, blue and black
color. Probability of getting one purple toy from a bag is
7/27 and number of pink toys in the bag is 6. If black toys
in bag is 66§%m0re than pink toys and blue toys is 60%
less than black toys, then find the number of purple toys.
T 97 § AW, [ATEl, Aot ST et 97 % fEefi g1 v 9w
H UF ST (AT 9T F2 Ai ITear 7/27 g A v H
ATt fe@T G T 6 gl AT S H Frer g @At
f@ﬂﬁ@r%g%aﬁw%ﬁ'{ﬁﬁf@ﬁﬁmf@ﬂﬁﬁ@r
60% FH g, TT ST AT T FHLAT AT i oI

(a) 7

(b) 11

(c) 4

(d)2

(e)9

Q162. Vessel A contain 55 liters of wine and water in the
ratio of p:q and vessel B contains 80 liters mixture of wine
and water in the ratio of 2:3. If the mixture of vessel A
mixed with mixture of vessel B, then ratio of wine and
water become 2:1. Find the quantity of wine in vessel A.

AT A H 55 e AT 37 T pi:q F ATITT H g ST T
B # 80 e aTe ¥ uT=t &7 f7rsqor 2:3 F sura § 2. af
FA9 A F 10T F7 Fd9 B o7 % |y e Smar g, ar
TS AT qTHT FT ATATT 2:1 T SATAT g1 I A | T Hf
AT 31T T

(a) 76 liters/ 76 A=<

(b) 58 liters / 58 #fex

(c) 44 liters / 44 #fex

(d) 82 liters / 82 #fex

(e) 61 liters/ 61 =12x

Q163. A, B and C entered into a partnership with
investment in the ratio 4:6:7 respectively. After one year,
D joined them with investment of83§% of the initial
investment of B. After one more year, A withdrew half of
his initial investment and B investment 50% more of his
initial investment. At the end of three years, they earned a
total profit of Rs.2,48,000. Find the difference between
profit share of B and D.

A, B 3T C T FHM: 4:6:7 & JqUTd § [ayer % @rr vF
AT | woer 3 U a9 F a1, D, B F AT Faer®
8329 391 3 AT ITH AT T TN 0F A A F e,

A T 3T ITEFSTeR R &7 e ST B F o= yrifere fAaer
FT 50% AT AT o foram) A auf & o #, e A
2,48,000 . FT AT AT q fohaTI B X D F oy ¥ o
AT AT HFforTl

(a) Rs. 54,000 / 54,000 <.

(b) Rs. 26,000 / 26,000 %.

(¢) Rs. 51,000 / 51,000 =.

(d) Rs. 44,000 / 44,000 =.

(e) Rs. 31,000 / 31,000 <.
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Q164. Sunny and Sham invested some money in a
scheme. Sham invested Rs.8000 less than Sunny. Sunny
invested his sum at 18% p.a. simple interest for 5 years
while Sham invested his sum at 20% C.I. annually for 3
years. If the interest received by Sunny is Rs.9092 more
than that by Sham, then find the amount invested by Sham
is approximately what percentage more/less than that by
Sunny?

T 3T o/ 7 TS AT § Fg o Faer BFam am T g+
T 8000 = F4 farer fBram &=t 7 sraefy Trfar 1 18% wig a
F X5 FUT & ForT aremor =7 a7 fHerer By sl am
T ST LA FT 20% =FHgTg AT 9¥ 3 FT 6 forw fHarer
T =S T T 9T ST, o | 9092 F. ferw g, v o
g1 faer Fir w2 wfer w+t gy Fae £ T afer 7 e
TR wfaera stfersr/wa 82

(a) 54%

(b) 42%

(c) 21%

(d) 47%

(e)17%

Q165. Mansi purchased an article and sold it to Meenu at
83§%profit. Meenu marked it up by 20% and sold at a
discount of Rs. 256 on marked price. If profit received by
Mansi is Rs. 1936 more than that received by Meenu, then

find the difference between selling price of article sold by
Mansi to that by Meenu.

AT T UF AR GO S A AT 839 AT 9 AT N

HIT 7 38 20% T ff2aa oA siw sifend 9o 7% 256 % i
T T AT TS ATAHT AT ITH A1 Hig F 1936 %, (T 2,
T AT GIT =1 TS a%q ST HIg 51T o= TS a%q 6 [aad
T o A= T ST AT o0l

(a) Rs.1244/ 1244 .

(b) Rs.1884 / 1884 %.

(c) Rs.764 / 764 .

(d) Rs.2434 / 2434 %,

(e) Rs.1064 / 1064 =.

Q166. A scooter is 300 m ahead of a bus, a bike is ‘P’ m
ahead of the scooter and all are going in same direction.
The bus crosses the scooter in ‘M’ seconds and the scooter
crosses the bike in (M+36) seconds. If speeds of scooter
and bike are respectively 15 km/h and 20 km/h less than
that of Bus, then find the value of ‘P’ (length of bus not
consider)?

UF THe¥ UF 99 T 300 HIe AN §, UF I12F Thed P’
ez amrg e afi uw ST ReT A ST @ gl a9 'M' "o §
THT AT I FAT g 3T THe? (M+36) e | qT2F &l 91X
FIAT Bl AT THe? 3T AT 6T T FHHA: T 6T 00 T 15
Frefi/erer sfie 20 Rfi/ser #7 g a7 P (9 FT W4T T
=T 721 o ) w1 ' AT frieme?

(a) 244 m / 244 Hrex
(b) 184 m / 184 Hiex
(c) 150 m / 150 Hiex
(d) 312 m /312 Hiex
(e) 106 m/106 Hex

Q167. At the time of daughter’s birth, age of father was 34
years and after 4 years when son was born, age of mother
was 30 years at that time. If age of father after four years
from now will be 20% more than age of mother, then age
of son two years ago is what percentage of age of
daughter two years hence?

T T F qu AT fr g 34 av of v 4 aTaE@ A F
STeH % FHF /AT #f o 30 a9 off 7f% =< a9 are foar &
A AT AT AL T 20% TTEF RO, T T a9 g T hf g &r
FY a1 A FF g FT T afaera 82

()33 %

(b) 875 %

2

(C) 665%
(d) 1335%
() 255 %

Q168. Pipe Q takes 6 minutes less than pipe P and pipe R
takes 4 minutes more than pipe P to fill a tank. Time taken
by pipe Q alone to fill 2/3 rd part of tank is equal to time
taken by pipe R alone to fill 2/5 th part of tank. If all the
pipes opened together and after 5 minutes pipe Q & pipe
R closed, then find the time taken by pipe P to fill
remaining tank.

ST Q, UTET P & 6 fHAe 7 o1qr § 3T 92T R UHF & &l
qe H 912 P & 4 TAee 1feek oar 31 ok 1127 Q 3T &%
¥ 2/3 AT &l 9 § o7 1 507, 3hel IT29 R G &
2/5 AW &1 994 § forg 70 |92 3 swra g1 Ffw aeft 9w
T AT GAd & 3T 5 e F arg 9127 Q i 9= R F5 2r
ST g, q79TST P TT 9 & &l 93 H &R aralT 997 J7d
ERELy

(a) 12 min /12 f+=

(b) 8 min / 8 {1

(¢) 9.6 min / 9.6 A==

(d) 4.8 min/ 4.8 fo==

(e) 8.4 min / 8.4 =

Q169. Curved surface area of a cylinder is 2816 cm? more
than sum of area of its bases. If radius of cylinder is

12%%1ess than its height, then find the volume of

cylinder.

T ST HT T JHIT AR IAH LT 6 &TA6A 6 AT o
2816 cm?afar &1 AfX T i o 3eefr $r 7 12-%
FH 8, AT T T AT AT FITo0
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(a) 630784 cm?
(b) 563214 cm?
(c) 634644 cm?
(d) 132784 cm?
(e) 750284 cm?

Q170. In a family, there are some men, women and
children. Ratio of average weight of women and children
in the family is 7:4, average weight of children in family is
28 kg, and average weight of men is double of average
weight of children. No. of men is 37.5% more than no. of
women and no. of children is 75% of no. of women. Find
the respective ratio of total weight of children, men and
women in the family.

T Ta § g [29, Al ofiT a9 g1 9ame § Argarnst
AT FgT % fEd asd T AqUTd 7:4 g, Ta | aJgi &
S A 28 TheT €, 3 TRUT &7 $iEd asid agi & srad
TS T IR[AT 1 TEOT T HeAT AigaTell &l dedr 7 37.5%
ATer g1 TgT T HEAT AIGATSN I HE&AT FT 75% gl TRATH
i, T2UT T ARATSA F T qoI HT GaTad SFAqaTd AT
EAIEL

(a) 13:11:17

(b) 3:8:7

(c) 13:11:7

(d) 3:11:17

(e) 3:11:7

Q171. A person spends Rs.28000 in month of August,
which is 20%, less than amount spend in month of May.
Expenditure in month of May is 40% more than that in
month of July. Ratio of amount spend in month of June to
July is 4 :5, then find the difference between average
expenditure in month of June and August to average
expenditure in month May and July.

U FF FET F Faid | 28000 & @H T g, I [ 72 &
T ® =@ AT T Al H 20% FH Y WS F AR H =
ATE & AL 6T TAAT H 40% STFEF 21 7 & S[ATS % Fa el
H @ FT T T AT AGATT 4:5 &, T ST T S0 & g
H AT @9 ST " ST JATE § S{Ed @9 i H a7
ST FIfm

(a) Rs.2600/ 2600 %.

(b) Rs.5100 / 5100 =.

(c) Rs.7800 / 7800 =.

(d) Rs.6000 / 6000 =.

(e) Rs.4500/ 4500 <.

Q172. The sum of the speed of the boat in still water and
the speed of the current is 45 km/h. The boat covers 120
km against stream in T hours and the same boat cover
540 km in along with stream in T hours. What is the
distance covered by the boat in against stream in 7 hours?

oI ST § AT T T 3T Ay ¥ T T AT 45 G/

1A T "¢ H o & faada 120 T &t g a7 it g
ST TGl A1 T We § 9T & A7 540 et i T a7 F2at gl
AT T 4T AT 7 w5 | 97 i v Y fhaet 2

(a) 315 km / 315 ffi/=rar

(b) 70 km / 70 Tet/seT

(c) 78 km / 78 Tasi/=eT

(d) 48 km / 48 fHt/=eT

(e) 67 km / 67 Tasi/=eT

Directions (173-176): In the given questions, two
quantities are given, one as ‘Quantity I’ and another as
‘Quantity II'" You have to determine relationship
between two quantities and choose the appropriate
option

3T 0wt |, 27 AT & S E, UE W ST g6 _e
II' % & H| ATTHRT T ATATA 6 q1= Gael FaTd w71 8

T I fashed &7 999 AT 5

Q173. Quantity I. Time taken by a scooter to cross a
flyover and a bridge is 28 sec. and 20 sec. respectively. If
length of flyover is 60 meters more than that of bridge,
then in what time (in hours) the scooter will cover 90 km?
HTAT | TF THe FIT UF FATSH AL 3T TH T &l T FHLeA
H foram mar 'uT #Hen 28 ¥Ee T 20 e gl AfE
FATSHE 6T FaTE [ § 60 Hiew AfaF g, a1 The< b
qHT H (st #) 90 Foreft ot o a7 wam?

Quantity II. A and B together finish a work in 24 hours and
efficiency of B is 50% more than that of A and efficiency of
Cis 5/3 rd that of B. find the time taken by C (in hours) to
complete the 40% of total work.

HTAT L A 30T B T AT UF K17 &l 24 5 | [T Hd g 3T
B T 3e4qT A T qAAT | 50% ATerF g =T C a1 B &t
5/3 1 C BT T &4 &1 40% T F # fordm ar a9
(53 ) s

(a) Quantity I > Quantity II /|T=T [ > HTAT 11

(b) Quantity I < Quantity II / °HTAT I <HTAT 11

(c) Quantity I 2 Quantity II / AT [ = HTAT 11

(d) Quantity I < Quantity II / 91T [ < HT=AT 11

(e) Quantity I = Quantity II or no relation/ HTaT [ = AT I
RIEIERE R
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Q174. Quantity L. Billu's present age is 4 years less than
Chandan’s present age and Aryan’s present age is 6 years
more than Chandan’s present age. If the ratio of the
present ages of Chandan to Aryan is 5:7. What will be
Billu's age after 15 years?

AT 1. Tooe] T aq9T o =& il aa7q Mg T4 aU FH 5
ST ST T AT 3T =&l adAT g & 6 a9 ATIF
g1 T =& & Fq9T g T AT & 9T 5:7 g1 15 a9
arg fereey it sy AT gHi?

Quantity II. The marked price of a bedsheet is Rs.4500
which is 50% above the cost price. If the shopkeeper gives
two successive discounts of 12.5% and y% and
shopkeepers receive a profit of Rs.150. find the value of y.

HTAT 11| T =T8T & 3iThd g 4500 %. g ST ANq 977 &
50% 3Tfer g1 % TR 12.5% T y% FiT a1 FiF ge
IAT 8 ST THEET 1 150 %, FT ATH TTH 2rav gl y & 71
EIsEEL

(a) Quantity I > Quantity Il / ATAT [ > ATAT 11

(b) Quantity I < Quantity II / =T [ <ATAT 11

(c) Quantity I 2 Quantity I / |TAT [ = €TAAT 11

(d) Quantity I < Quantity II / 9T [ < HT=AT 11

(e) Quantity I = Quantity II or no relation

HqTAT [ = TTAT 11 AT T ey Tt

Q175. Ratio of alcohol and water in mixture K and L is 3:5
and 7:9 respectively. If the quantity of alcohol in both
mixtures together is 80 liters and water in mixture L is
3/5 th of water in mixture K.

=0T K 3iiY L # steaigd 3fiT OT=1 &7 SIa1d FAen: 3:5 i
7:9 g AT AT FrAon | AT stemmige & 977 80 e
T ST frsgor L ® 9=, [rsqor K 3 97T %7 3/5 9T 2
Quantity L. find the total quantity of mixture L.

AT L =007 LY 5o /AT 7 shrorm)

Quantity II find the total quantity of water in both the
mixture together.

AT T § e aret i g 9w q| o)

(a) Quantity I > Quantity I / ®TT [ > HT=AT 11

(b) Quantity I < Quantity I /AT [ < HTAT 11

(c) Quantity I 2 Quantity I / |TAT [ = €TAAT 11

(d) Quantity I < Quantity II / AT [ < HTAT 11

(e) Quantity I = Quantity II or no relation

HTAT | = /AT 11 AT FE dae Tai

Q176. Bob, Mike and Tom investing in a business with
initial investment in the ratio 5:7:11 respectively. Mike
and Tom start the business, after one year Bob and Tom
invest additional investment of Rs.3000 and Rs. 2000
respectively. After another one year, Mike and Harry join

the business where Harry invests 14; %more than Mike.

At the end of 3 year, they earned the total profit of
Rs.3,42,400 and ratio of profit share of Bob to Harry is
5:2.

i, ATH AT 2 FAA: 5:7:11 F AT § T Raer
T TF a9 | [aer #3d g1 A75F oY oiF a9 &
FA 8, TF a9 & 915 a9 ST (7 FHALT: 3000 = 3 2000
%, T ATATH [Ferer 3 g1 U 3f¥ q9 6 7%, ATSH A gf
T AR # onfier 2 9§ St 6 A & 142 %o fEw
A wzar g1 3 av % 3iq §, I=i 3,42,400 % F F ATH
STfSTa 3T i ate oY g1 o 19 28 71 oquTd 5:2 gl
Quantity I. find the difference between profit earned by
Mike to that by Harry.

qTAT L. AT ZIET TSI ATH 3 <% ZIeT SAfSrd AT o =
FT AqL ST FIforT)

Quantity II find the value of (20% of profit earned by
Tom - 25% of profit earned by Bob)

ATAT 1L (Z19 ZTET TSI ATH T 20% - T FIT SATord AT
T 25%) FT A AT Fitord

(a) Quantity I > Quantity Il / |TAT [ > ATAT 11

(b) Quantity I < Quantity Il / AT [ <HTAT 11

(c) Quantity I = Quantity I / 91T [ =2 ATAT 11

(d) Quantity I < Quantity II /®T=T [ <HTAT 11

(e) Quantity I = Quantity II or no relation

HTAT [ = 9TAT 11 AT T Teer T8

Directions (177-180): In each of these questions a
number series is given. In each series only one
number is wrong. Find out the wrong number.

TAH § AT TF H UF AT @A & TS gl TA® g@Ar §
A Uk HEAT T g1 T HEAT AT FIToU|

Q177.8, 20, 51,220,1075, 6482,45353
(a) 8

(b) 51

(c) 45353

(d) 1075

(e) 6482

Q178.0.05, 3.6, 129.6, 2330.8,20995.2, 94478.4
(a) 3.6

(b) 129.6

(c) 20995.2

(d) 2330.8

(e) 0.05

Q179. 28, 28, 35, 59, 124, 248, 463
(a) 35

(b) 248

(c) 59

(d) 463

(e) 124

Q180. 82, 84,96, 132,212, 363, 614
(a) 84

(b) 363

(c) 96

(d) 614

(e) 132
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Directions (181-184): Read the following pie chart
and line graph carefully and answer the questions
given below.

Pie chart given below shows percentage distribution of
population of five different cities and line graph shows
percentage of children in these cities.

Note: Total population = male + female+ children

fReferfed arg =1 3w YEr T F eAEEE iev &Y
foo o wert % s=e St

Hr=r o 4T 9T =ATE T SAERT-ST gl v ST #i
gfaera faawer gutar g T ¥@r I =9 gagdd # agi #
gfeerd ermar 2l

TIE: T TAHEAT = T2 + Algal + a9

Total population/del SIEIHEAT = 70000

mA
uB
uC

mE

Percentage distribution of children in five different cities

i S-S Al § Ag] T Fiaws [@aer

40%

35%

30%

25%
20%
15
10
5
058
A B C D E

Q181. If ratio of male to female in city A is 2:1 and in
city B is 4:5, then find total no. of children in city A
and B together is approximately what % of total no. of
female in these cities?

T AgT A § 29 FT AIZAT T Aq0Tq 2:1 g AT AgT B &
4:5 g, AT 98T A ¥ B ¥ [ agi i1 T 91 o7 a8 §
HIZATAT T e T T AT Fohea =T % 872

(a) 54%

(b) 36%

(c) 96%

(d) 88%

(e) 112%

*

E

Ed

Q182. Total no. of children in city C is equal to total no. of
female in city E. then find the difference between total no.
of male in city E to total no. of children in city A.

g% C ® gl il Tf HeAT g E § AT il T §C&AT
JET g AT MET E § [T 6T Fef §eqT FT Mg A § agi i
F GEqT & fohaeT ST g

(a) 972

(b) 1123

(c) 1050

(d) 876

(e) 1092

Q183. Average no. of male in city D and E is 5321 and
no. of female in city D is 25% more than no. of
children in city E. Find total no. of children in city E is
approximately what percentage of total no. of males
in same city?

g D 3fT E § qEul &l off9d Hedr 5321 g @< D H
HigATAl it GAT, A2 E | agi 6l TF 6T ¥ 25% ATTF 5
qr AT ditore T oge E § agi i o g dr g9 gagT §
TEOT T T HGAT HT AT a1 Sfaerd 8?

(a) 105%

(b) 87%

(c) 69%

(d) 72%

(e) 111%

Q184. Find the sum of total no. of female in city D and
no. of male in city C. If no. of male in city D is equal to
average no. of children in city A and B and no. of
female in city Cis 37.5% more than children in city E.
g D H wigaTslt ofi¥ g C § T& AT el H&AT &1 TRT ATT
Fiforw) afe o2 D H 29 At dear a7 A 3fiT B § agi #F
AT HEAT % AT gl AT gMBT C § AfZATA 6T TeaT a8 E
H Fg1 | 37.5% AT g

(a) 12526

(b) 11536

(c) 14576

(d) 11134

(e) 10036

Directions (185-188): Read the following table
carefully and answer the questions given below.

Table given shows the total number of students in four
different school who like 5 different games. Few values
are missing in the table. A candidate is expected to
calculate the missing value, if it is required to answer the
given question on the basis of the given data.

Frferfera arferst 1 eamg@s Tfey & {= T 70 3o
I AUl

Z TS TR AT T3 Tl § 5 AAT-TAT G THI
FIA AT BIAT 6T FoT HEAT ITAT | ATIrHT H T AT
B UF ITHEATT & T ATAhT AT FLA 1 AT 6 AT T
Tfe fRw T TaT F e a7 fRU T gy T I AT AaeTE
2l
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School Total no. | Cricket Golf Football Tennis Hockey
el of e TTh Al Epr: ElEaS
students
gEl
el HEAT
P 15000 20% 12% - - 45%
Q 21000 - - 35% 20% 12%
R 12000 45% 10% - 15% -
S 18000 15% - - 30% 18%

Q185. No. of students who like football in school S is
approximately what percentage of no. of students who
like tennis in school Q. If ratio of no. of students who like
football in school Q to that in P is 7: 2. No. of student who
like tennis in school P is 25% more than no. of student
who like football in school S?

A S H Gedid THE Hid qTel BIAT ol 9T, T Q 7 24
TEHE FA AT BT T G&IT T ATAT Fhaar Sfaerd 82 ae
el Q H Feald THE FIA ATl FIAT il AT H P & 1T
7:2 8| TFA P | AT THT FIA AT FIAT Al HEAT H&AT e
S H Featd THE FIA AT I il ST § 25% ATaF 22

(a) 26%

(b) 32%

(c) 21%

(d) 16%

(e)37%

Q186. What is the average no. of students who like
cricket in school S, golf in school Q and hockey in
school R. If no. of student who like cricket in school Q
is 2000 less than no. of student who like tennis in
school S and no. of students who like golfin school P is
equal to no. of students who like football in school R?
e S | fohehe 79T F3 a1 I, e Q H IIeh 3T T
R & gl T8vg A ATl Al it ofeaq dear fra«r g2 afe
FA Q H Fhhe THE A ATl S0 Hl §AT TFA S H oA
THE A AT B G AT § 2000 FH g, ThA P H Toh
THE FXA AT FTAT T GCAT TFA R H Fedia T8 H arel
AT T AT o T 52
(a) 2276~
(b) 2676
()2676>

2
(d) 2676 5

(e) 2606 %

Q187. Find the ratio between total no. of students who
like hockey in school R and P together to total no. of
students who like tennis in school P and cricket in
school S together. If no. of students who like tennis in
school P is 15% less than no. of students who like
tennis in school R and no. of students who like

football in school R is 60% of no. of students who like
tennis in school Q.

T R 3T P H [amae gl 9868 3 aTl |l a6l FeT
AT &1 T P ¥ &9 ol &5 S § U& 97 ohehe 76 FeeA
T AT Y TeAT § FquTa fohaT 82 &5 P # A9 aew
FIA ATA BIAT 61 HEAT ¥l R H AF T968 FLA AT BTAT
T H&T F 15 IA9qT FH § T R | [edid 768 Hi arel
BT AT GEAT FT A Q § AH THE FA AT BUAT A
AT T 60 TTTerT gl

(a) 47:88

(b) 87:47

(c) 42: 89

(d) 87 :41

(e) 85: 47

Q188. Find the difference between total no. of
students who like cricket in school R and S together to
total no. of students who like tennis in school Q and S
together.

TF R #fiT S H FFhe U F2d aTer STl At F ST F1
THA Q AT S § UF HIT AW wHE FA AT AT AT FA
AT o W AT AT o |

(a) 1750

(b) 1500

(c) 1800

(d) 2100

(e) 1250

Directions (189-192): The following questions are
accompanied by two statements, I and II. You have to
determine which statements(s) is/are
sufficient/necessary to answer the questions.

Frarforfera woii & &1 21 FaA 1 37 117U e ) srar 78
Ryt #Fxar 8 & F9 F &9 ¥ 7 392 a7 ™o
TTH/AELTT B/

Q189. Find the distance travel by the boat in upstream.

T ETT GTT o STaed JTAT 0T gL AT i

I. Speed of boat in still water is 60% more than the
upstream speed. The total time taken by the boat to go a
certain distance in upstream and come back is 36 hrs.

AT ST § 19 AT AT g F AdF T F 60% A 2
AT FT T 6 FTdgd U [iEd 0 aF FT ST arae o
H 36 = FT qHT AT B

II. Time taken by the boat to travel the same distance in
downstream is 15 hrs.

T ZT AIATE § T T T FA § 90 a1e1 877 15
e 2l

(a) either I alone or Il alone / IT AT [ SThaAT AT STheT I

(b) Only I / &=t

(c) only II / &= 11

(d) neither Inor [I/ T aT I 3T T & 11

(e) both I and II together / I 3fI¥ Il T T AT
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Q190. What is the discount percent given on the book?
e I TohadT ge Tiaerd & 82

I. Cost Price of a book is 40% of sum of marked price and
selling price of the book. Profit earned on the book is

162%.

U [Edeh A1 HF oA, sAThd God 3T & & 9T Tod &
AT AT 40% &1 TFF 7 AT AT 162 % 21

II. Discount given on the book is Rs 100.
e o &1 T g2 100 %. 2

(a) either I alone or Il alone / IT T I 3THET AT TheT I

(b) Only I / Fae I

(c) only II /3= II

(d) neither Inor II/ T aT I 3T T & 11

(e) both I and II together / I 3f¥ Il THT T AT

Q191. A vessel contains mixture of milk and water in the
ratio of 5 : 7 respectively. Find the quantity of milk in
vessel.

U Fa9 # g8 ST IET &1 7or w7 5:7 % Fq9d § 2
AT H g& AT ATAT AT AT

[. If 48 1 mixture taken out from the vessel and replaced
with same quantity of water, milk becomes 25% of
resulting mixture.

7f% 48 tex =1 &1 a7 & e q819 7= § 9 |
Faer fomT ST, a7 g oY fsrr w7 25% g a8

II. If 30 I of milk and 50 1 of water added in original
mixture the ratio of milk to water becomes 2 : 3.

s T frarer # 30 Arew 74 A% 50 Hew wE e fo
ST 7 & T 9T & AT 2:3 BT ST 8

(a) either I alone or Il alone / IT AT I 3THaAT AT TheT I

(b) Only I / Fa<t [

() only Il / =T 11

(d) neither Inor II/ T aT I 3T T & 11

(e) both I and II together / I 3f¥ II ST T 72X

Q192. What is the volume of the sphere?

YT T ATTAT FT 2

I. Surface area of hemisphere is equal to the total surface
area of the cylinder having radius and height in ratio 3: 4.

LTI T IS ATFA I A % T ST &AHA 6 JaAT
g et o= s S=TE 7 9T 3:4 8

II. When we cut sphere into two hemi-sphere then total
surface area is equal to the area of a circle whose radius is
21 cm.

T ZH I FT &7 AT H FIed g a7 T ddg H &6
T g o &AH o ILTaY gaT g foreeht fBrear 21 73t 8

(a) either I alone or Il alone / IT T I STRAT AT 3TheT 11

(b) Only I / Faet I

(c) only 11/ & 11

(d) neither Inor II/ T aT [ 3T T & 11

(e) both I and II together / I 3% Il T TF AT

Directions (193-196): The bar graph shows the
percentage of marked up above CP and discount
percentage given on 7 different items by a
shopkeeper. Read the data carefully and answer the
following questions.

T ITE T e g 7 At aeqett ™ a7 o9 9 397
sifor wftvera siiw ge afdera v gatar &1 227 1 e 7 92
e FAeferfaa wort & 397 )

70
65
&0
55
50
45
40
35
30
25
20
15 —
10
A B C D E F G

mMRP above CP

Discount

Q193. If marked price of item A and cost price of item C
are same, then what is the ratio of selling price of item A
to marked price of item C?

Ifg aeq A FT Sifeha ToF 3T a&q C &1 %7 ToF 9919 g, ar
FEG A * T g7 &7 3 C & sifeha gog & squna fraar
&2

(a) 15:8

(b) 17:8

(c) 8:15

(d) 8:17

(e) can’t be determined

e 921 R ST &ear

Q194. If ratio of CP of item C to that of item G is 5:3 and
difference between their SP is Rs. 561, then what is the
difference between their MRP? (in Rs.)
I ¥ C & % ToF &1 a4 G & % ToF F Jq91q 5:3 8
T 39 fowT g7 % A9 FT o 561 = gl Al 394
THACH § AT AT g7 (5. H)
(a) 1190
(b) 850
(c) 1020
(d) 1360
(e) 1530
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Q195. If SP of item B is equal to CP of item D and
difference between their MRP is Rs.285, then what is CP
of item B? (in Rs)

T a&q B & fa%T g7, a5 D & %7 ToF & a9 g T
I MRP # &= 7T 3{d¥ 285 #94 &, T a€q B T 7 oA
FTE? (5. H)

(a) 1200

(b) 500

(c) 800

(d) 1000

(e) 900

Q196. The difference between loss incurred on item E
after selling it at 40% discount and profit earned when
same item is sold at 20% discount is Rs. 126, then what is
the sum of CP and MRP of item E? (in Rs.)

FET E T 40% T T 999 F 18 I T gs g ST AT
FEG N 20% T T I= T AT ATH F d1= H7 AT 126
%. 8, a1 a%q E % CP 3T MRP &7 97 #4787 (3. H)

(a)1610

(b) 1150

(c) 1380

(d) 1840

(e)2070

Directions (197-200):- In an exhibition of bikes there
were three companies HONDA, PULSAR and HERO
who introduced their models in the exhibition and it
is found at the last of the exhibition that total 300
customers have visited exhibition. 50% customers
purchased HONDA; 55% customers purchased HERO;
45% customers purchased PULSAR. 20% of
customers who purchased HONDA also purchased
other two brands. Customers who purchased any of
two brands are 95. Customers of only HONDA are 20
more than that of only PULSAR. Customers who
purchased only HONDA and PULSAR are 40.

T T UF T | d19 Fa=am giet, Toqy i g of
Sregia J=ei=T & sraw Atee Tor fF e weeit & sofed &
Tg ITAT AT 6 Fo 300 ATEHT 7 TEEHT F T AT |
50% UTEehi 7 GLIaT BIT; 55% Tewi « HERO @¥IaT; 45%

Tl 7 To8T GLIaT| gIeT @EaEd ard 20% TEhi o =T &
Fie It 2| A H F s o Fi€ G arel qATgahi ol de&AT
95 g\ Fa BIST o UTEH Hael Tod< & 20 AT &1 Fael gisT
T I GE ATl UTEHT 0l TE&AT 40 Bl

Q197. How many of them did not purchase any of the
three bikes?

IH & TR A H | A g A ATh Rl @dar?

(@) 15

(b) 20

(c) 05

(d)10

(e) None of these/ZH & FIE Aal

Q198. How many of them purchased only one company
bikes?

IR ° FRa=T T e U AT A T gie?

(@) 175

(b) 160

(c) 165

(d) 170

(e) None of these/Z7H & FIS Al

Q199. How many of them purchased at least two
companies’ bikes?

ITH & Ral 7 FH H FH QA FAAT 07 aTeh @al?

(a) 125

(b) 105

(c) 95

(d) 130

(e) None of these/ZH & FIS Al

Q200. How many of them didn’t purchase only PULSAR
bike?

IAH H FRaT F Ao TouT STed Ael Geial?

(a) 160

(b) 105

(c) 260

(d) 265

(e) None of these/ZH & FIS Tl

$1. Ans. (c)
Sol.

K(+)=—=R(") Q(+) =N(-)

Of-) —M(+) — L{+) ==P(-)

S2. Ans. (a)
Sol.

K(+)=R(") Q(+) =—=NI[-)

Of-) —M[+) = L[+] ==P(-]

S3. Ans.(b)

Sol. A sits at one of the extreme end of the row and likes
Mango. There are two possibilities. Only two persons sit
between the one who face A and the one who likes Carrot.
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P likes Tomato and faces A. D sits second to the left of E.
Neither E nor D face the one who likes Carrot.

Case-1 Case-2

[(Mango)
T

[Mango)
E D E D A
| | | N | |
| ! I L I
(|

I
| !
(Carrot)

|
(Carrot)
(Tomato) (Tomato)

The one who likes Pea sits third to the left of the one who
faces the one who likes Cherry. R sits second to the left of
S and faces the one who likes Plum. The one who likes
Papaya faces the one who sits immediate left of Q who
likes Cabbage. C sits at one of the positions to the right of
the one who likes Peach. From these conditions, case-2
will be eliminated. One of these persons likes Broccoli.
The final arrangement is-
(Mango) (Plum) (Peach) (Papaya) (Cherry)
A C

| 1 l | l-

| | &b
P R
(Tomato) (Pea) (Broccoli) (Carrot) (Cabbage)

S$4. Ans.(c)

Sol. A sits at one of the extreme end of the row and likes
Mango. There are two possibilities. Only two persons sit
between the one who face A and the one who likes Carrot.
P likes Tomato and faces A. D sits second to the left of E.
Neither E nor D face the one who likes Carrot.

Case-1 Case-2

[Mango) [Mango)

A E D E D A

N | | | | i I | | |

| I | | | | I | | 1

_l I | I I | I i 1 I

| I | ! ! | 1 | |

P (Carrot) (Carrot) P
[(Tomato) (Tomato)

The one who likes Pea sits third to the left of the one who
faces the one who likes Cherry. R sits second to the left of
S and faces the one who likes Plum. The one who likes
Papaya faces the one who sits immediate left of Q who
likes Cabbage. C sits at one of the positions to the right of
the one who likes Peach. From these conditions, case-2
will be eliminated. One of these persons likes Broccoli.
The final arrangement is-
(Mango) (Plum) (Peach) (Papaya) (Cherry)
A C E B D

_I i | | |-
P R &b
(Tomato) (Pea) (Broccoli] (Carrot) (Cabbage)

S5. Ans.(d)

Sol. A sits at one of the extreme end of the row and likes
Mango. There are two possibilities. Only two persons sit
between the one who face A and the one who likes Carrot.
P likes Tomato and faces A. D sits second to the left of E.
Neither E nor D face the one who likes Carrot.

(Mango) [Mango)
A

|
I
I 1 I Il -l I I I I
| | | ! I | | |
P (Carrot) (Carrot) P
(Tomatao) (Tomata)

The one who likes Pea sits third to the left of the one who
faces the one who likes Cherry. R sits second to the left of
S and faces the one who likes Plum. The one who likes
Papaya faces the one who sits immediate left of Q who
likes Cabbage. C sits at one of the positions to the right of
the one who likes Peach. From these conditions, case-2
will be eliminated. One of these persons likes Broccoli.
The final arrangement is-
(Mango) (Plum) (Peach) (Papaya) (Cherry)
A C E B D

I |
P R
(Tomato) (Pea) (Broccoli) (Carrot) [Caébage]

$6. Ans.(e)

Sol. A sits at one of the extreme end of the row and likes
Mango. There are two possibilities. Only two persons sit
between the one who face A and the one who likes Carrot.
P likes Tomato and faces A. D sits second to the left of E.
Neither E nor D face the one who likes Carrot.

Case-1 Case-2

[Mango)
E D E D A
N | | | | i | |
| I | | I ! ! |
I

[Mango)
A

|
|

| I | I | I | (| I.

ll’ : | [Calral] : I lCa!rntl l : P

(Tomato)
The one who likes Pea sits third to the left of the one who
faces the one who likes Cherry. R sits second to the left of
S and faces the one who likes Plum. The one who likes
Papaya faces the one who sits immediate left of Q who
likes Cabbage. C sits at one of the positions to the right of
the one who likes Peach. From these conditions, case-2
will be eliminated. One of these persons likes Broccoli.
The final arrangement is-
(Mango) (Plum) (Peach) (Papaya) (Cherry)
A C E B

| I | | l-

[Tomato)

| | &b
P R
(Tomato) (Pea) (Broccoli) (Carrot) (Cabbage)

S7. Ans.(a)

Sol.

Only 1st Statement diminishes the advisory by Health
Ministry as healthy food has been suggested. Guests are
attending wedding, but they are following all norms and
wearing masks. Trade Unions are also following
guidelines. Yoga is good for health. Wearing mask has

33 I www.bankersadda.com | www.sscadda.com | www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

been advised but its black marketing is not the inference
in given statement.

$8. Ans.(e)
Sol.

I: F<S (True)
II: E>N (True)

S9. Ans.(e)
Sol.

I: L>Q (True)
[I: H>I (True)

$10. Ans.(c)

Sol. Two persons live between A and G, who likes Banana.
A does not live at odd numbered floor. H lives just above
A. H lives above G. E sits third to the right of D. C sits
second to the left of D. B and the one who likes Banana sit
opposite to each other’s. The person who lives at topmost
floor likes Mango. There are two possibilities.

Case-1 Case-2 Case-1 Case-2

Floor Person | Fruits Person | Fruits
8 Mango Mango ¢ E
7 H
6 A [
5 H
4 A B

3 G Banana 1]
2

1 G Banana

C lives at second floor and likes Orange. F sits second to
the left of G. From this condition case-1 in circular
arrangement ruled out. The person who sits third to the
left of B likes Litchi. A does not sit third to the left of F.

Case-1 Case-2
Floor Person | Fruits Person | Fruits
8 Mango Mango
7 H
6 A Litchi
5 H
4 A Litchi
3 G Banana
2 C Orange | C Orange
1 G Banana

The person who lives at top floor sits immediately left of
G. The one who likes Pear lives just above the one who
likes Apple. H does not like Apple. The one who sits
opposite to D lives above the one who like Apple. From
this condition, case-2 will be eliminated.

Case-1

Floor Person | Fruits
8 D Mango
7 H

5] A Litchi
5 Pear
4 Apple

3 G Banana
2 C Orange
1

B lives above E and below F. The one who sits second to
the left of C does not like Guava. So, H likes Plum and E
likes Guava. The final arrangement is-

Floor Person | Fruits
8 D Mango
7 H Plum

6 A Litchi

5 F Pear

4 B Apple

3 G Banana
2 c Orange
1 E Guava

S11. Ans.(e)

Sol. Two persons live between A and G, who likes Banana.
A does not live at odd numbered floor. H lives just above
A. H lives above G. E sits third to the right of D. C sits
second to the left of D. B and the one who likes Banana sit
opposite to each other’s. The person who lives at topmost
floor likes Mango. There are two possibilities.

Case-1 Case-2 Case-1 Case-2

Floor Person | Fruits Person | Fruits

8 Mango Mango

7 H

6 A
5 H
4 A

3 G Banana
2

1 G Banana

C lives at second floor and likes Orange. F sits second to
the left of G. From this condition case-1 in circular
arrangement ruled out. The person who sits third to the
left of B likes Litchi. A does not sit third to the left of F.

Case-1 Case-2

Floor Person | Fruits Person | Fruits
8 Mango Mango
7 H
6 A Litchi
5 H
4 A Litchi

3 G Banana
2 C Orange | C Orange

1 G Banana

The person who lives at top floor sits immediately left of
G. The one who likes Pear lives just above the one who
likes Apple. H does not like Apple. The one who sits
opposite to D lives above the one who like Apple. From
this condition, case-2 will be eliminated.

Case-1

Floor Person | Fruits
8 D Mango
7 H

5] A Litchi
5 Pear
4 Apple

3 G Banana
2 C Orange
1

B lives above E and below F. The one who sits second to
the left of C does not like Guava. So, H likes Plum and E
likes Guava. The final arrangement is-
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Floor Person | Fruits
8 D Mango
7 H Plum

6 A Litchi

5 F Pear

4 B Apple

3 G Banana
2 C Orange
1 E Guava

S$12. Ans.(b)

Sol. Two persons live between A and G, who likes Banana.
A does not live at odd numbered floor. H lives just above
A. H lives above G. E sits third to the right of D. C sits
second to the left of D. B and the one who likes Banana sit
opposite to each other’s. The person who lives at topmost
floor likes Mango. There are two possibilities.

Case-1 Case-2 Case-1 Case-2
Floor Person | Fruits Person | Fruits
8 Mango Mango
7 H
6 A
5 H
4 A
3 G Banana
2
1 G Banana

C lives at second floor and likes Orange. F sits second to
the left of G. From this condition case-1 in circular
arrangement ruled out. The person who sits third to the
left of B likes Litchi. A does not sit third to the left of F.

Case-1 Case-2
Floor Person | Fruits Person | Fruits
8 Mango Mango
7 H
6 A Litchi
5 H
4 A Litchi
3 G Banana
2 C Orange | C Orange
1 G Banana

The person who lives at top floor sits immediately left of
G. The one who likes Pear lives just above the one who
likes Apple. H does not like Apple. The one who sits
opposite to D lives above the one who like Apple. From
this condition, case-2 will be eliminated.

Case-1

Floor Person | Fruits
8 D Mango
7 H

5] A Litchi

5 Pear

4 Apple

3 G Banana
2 C Orange
1

B lives above E and below F. The one who sits second to
the left of C does not like Guava. So, H likes Plum and E
likes Guava. The final arrangement is-

Floor Person | Fruits
8 D Mango
7 H Plum

5] A Litchi

5 F Pear

4 B Apple

3 G Banana
2 C Orange
1 E Guava

$13. Ans.(a)

Sol. Two persons live between A and G, who likes Banana.
A does not live at odd numbered floor. H lives just above
A. H lives above G. E sits third to the right of D. C sits
second to the left of D. B and the one who likes Banana sit
opposite to each other’s. The person who lives at topmost
floor likes Mango. There are two possibilities.

Case-1 Case-2 Case-1 Case-2

Floor Person | Fruits Person | Fruits

8 Mango Mango ¢ E B E
7 H

6 A C C

5 H

4 A B G
3 G Banana D »
2

1 G Banana

C lives at second floor and likes Orange. F sits second to
the left of G. From this condition case-1 in circular
arrangement ruled out. The person who sits third to the
left of B likes Litchi. A does not sit third to the left of F.

Case-1 Case-2

Floor Person | Fruits Person | Fruits
8 Mango Mango
7 H

6 A Litchi

5 H

4 A Litchi

3 G Banana
2 C Orange | C Orange
1 G Banana

The person who lives at top floor sits immediately left of
G. The one who likes Pear lives just above the one who
likes Apple. H does not like Apple. The one who sits
opposite to D lives above the one who like Apple. From
this condition, case-2 will be eliminated.

Case-1

Floor Person | Fruits
8 D Mango
7 H

5] A Litchi

5 Pear

4 Apple

3 G Banana
2 C Orange
1

B lives above E and below F. The one who sits second to
the left of C does not like Guava. So, H likes Plum and E
likes Guava. The final arrangement is-
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Fruits
Mango
Plum
Litchi
Pear
Apple
Banana
Orange
Guava

oor Person

Bl N Eopl Loxll Rer N bl b ol L]

$14. Ans.(d)

Sol. Two persons live between A and G, who likes Banana.
A does not live at odd numbered floor. H lives just above
A. H lives above G. E sits third to the right of D. C sits
second to the left of D. B and the one who likes Banana sit
opposite to each other’s. The person who lives at topmost
floor likes Mango. There are two possibilities.

Case-1 Case-2 Case-1 Case-2

Floor Person | Fruits Person | Fruits

8 Mango Mango ¢ E

7 H

[ A [§
5 H
4 A B

3 G Banana ]
2

1 G Banana

C lives at second floor and likes Orange. F sits second to
the left of G. From this condition case-1 in circular
arrangement ruled out. The person who sits third to the
left of B likes Litchi. A does not sit third to the left of F.

Case-1 Case-2

Floor Person | Fruits Person | Fruits
8 Mango Mango
7 H
6 A Litchi
5 H
4 A Litchi

3 G Banana
2 C Orange | C Orange

1 G Banana

The person who lives at top floor sits immediately left of
G. The one who likes Pear lives just above the one who
likes Apple. H does not like Apple. The one who sits
opposite to D lives above the one who like Apple. From
this condition, case-2 will be eliminated.
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Case-1

Floor Person | Fruits
3 D Mango
7 H
5] A Litchi
5 Pear
4 Apple

3 G Banana
2 C Orange
1

B lives above E and below F. The one who sits second to
the left of C does not like Guava. So, H likes Plum and E
likes Guava. The final arrangement is-

Floor Person | Fruits
8 D Mango
7 H Plum
5] A Litchi
5 F Pear
4 B Apple
3 G Banana
2 C Orange
1 E Guava
S15. Ans.(e)
Sol.

Only I can be assumed as case is in Supreme Court
regarding OTT represented by Solicitor General and if
something is creating problem or result of it is not good
then only Government is presenting this case in Supreme
Court. There is nothing mentioned and discussed about
any producer or director, so II cannot be assumed. (III) is
a suggested course of action, it is not an assumption.

$16. Ans. (a)

Sol. For row-1:

An even number is followed by an odd number = 16+3=
19

Then an odd number is followed by another odd number=
19+7=26

For row-2:

An odd number is followed by an even number= 11*6= 66
Then an even number is followed by another even
number= 66/2=33

The sum is= 33+26=59

$17. Ans. (c)

Sol. For row-1:

An odd number is followed by perfect square= 16-5= 11
Then an odd number is followed by another odd number=
11+5=16

For row-2:

Even number is followed by another even number=
30/6=5

The resultant of row-2 is= 46-16=30

So, the value of X must be 6.
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$18. Ans. (b)

Sol. For row-1:

An odd number is followed by another odd number=
15+5=20

An even number is followed by another even number=
20/4=5

For row-2:

An even number is followed by an odd number=
24+11=35

An odd number is followed by an even number= 35*2=70
The difference of row-1 and row-2=70-5=65

$19. Ans. (c)

Sol. For row-1:

An even number is followed by an odd number= 12+7=19
An odd number is followed by a perfect square = 25-19= 6
For row-2:

An even number is followed by an odd number=
16+11=27

An odd number is followed by a perfect square= 27-9=18
The multiplication of row-1 and row-2= 18*6= 108

$20. Ans. (e)

Sol.

From the given statements, There are four boxes arrange
between box C and the box which has Yellow cover. The
box which has Green cover place just above box C. Here,
we get two possibilities i.e., Case 1 and Case 2.

immediately below the box which has Black cover. So,
final arrangement will be: -

COMPANY COLORS

D Green
c Black
H Red
A Pink
E Violet
G White
B Yellow
F Blue

$21. Ans. (¢)

Sol.

From the given statements, There are four boxes arrange
between box C and the box which has Yellow cover. The
box which has Green cover place just above box C. Here,
we get two possibilities i.e., Case 1 and Case 2.

Case 1 Case 2
COMPANY COLORS COMPANY COLORS
D Green Yellow
c
Green
C
Yellow

Box D places one box above the box which has Red cover.
The box which has Pink cover places just above the box
which has Violet cover and just below the box which has
red cover. There is one box arrange between box F and
The box which has white cover. Box F is placed below the
box which has white cover. Box F has either Black or Blue
cover. Here, Case 2 and Case 3 is ruled out. Not more than
two boxes are below box G. Box G has neither Green nor
Yellow cover. There are as many boxes above the box A as
below box E. Box E does not have Pink cover. Box H places

Case 1 Case 2
COMPANY COLORS COMPANY COLORS
D Green Yellow
c
Green
C
Yellow

Box D places one box above the box which has Red cover.
The box which has Pink cover places just above the box
which has Violet cover and just below the box which has
red cover. There is one box arrange between box F and
The box which has white cover. Box F is placed below the
box which has white cover. Box F has either Black or Blue
cover. Here, Case 2 and Case 3 is ruled out. Not more than
two boxes are below box G. Box G has neither Green nor
Yellow cover. There are as many boxes above the box A as
below box E. Box E does not have Pink cover. Box H places
immediately below the box which has Black cover. So,
final arrangement will be: -
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COMPANY COLORS

D Green
C Black
H Red

A Pink

E Violet
G White
B Yellow
F Blue

$22. Ans. (d)

Sol.

From the given statements, There are four boxes arrange
between box C and the box which has Yellow cover. The
box which has Green cover place just above box C. Here,
we get two possibilities i.e., Case 1 and Case 2.

COMPANY COLORS

D Green
C Black
H Red
A Pink
E Violet
G White
B Yellow
F Blue

$23. Ans. (b)

Sol.

From the given statements, There are four boxes arrange
between box C and the box which has Yellow cover. The
box which has Green cover place just above box C. Here,
we get two possibilities i.e., Case 1 and Case 2.

Case 1 Case 2
COMPANY COLORS COMPANY COLORS
D Green Yellow
c
Green
C
Yellow

Box D places one box above the box which has Red cover.
The box which has Pink cover places just above the box
which has Violet cover and just below the box which has
red cover. There is one box arrange between box F and
The box which has white cover. Box F is placed below the
box which has white cover. Box F has either Black or Blue
cover. Here, Case 2 and Case 3 is ruled out. Not more than
two boxes are below box G. Box G has neither Green nor
Yellow cover. There are as many boxes above the box A as
below box E. Box E does not have Pink cover. Box H places
immediately below the box which has Black cover. So,
final arrangement will be: -

Case 1 Case 2
COMPANY COLORS COMPANY COLORS
D Green Yellow
C
Green
C
Yellow

Box D places one box above the box which has Red cover.
The box which has Pink cover places just above the box
which has Violet cover and just below the box which has
red cover. There is one box arrange between box F and
The box which has white cover. Box F is placed below the
box which has white cover. Box F has either Black or Blue
cover. Here, Case 2 and Case 3 is ruled out. Not more than
two boxes are below box G. Box G has neither Green nor
Yellow cover. There are as many boxes above the box A as
below box E. Box E does not have Pink cover. Box H places
immediately below the box which has Black cover. So,
final arrangement will be: -
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COMPANY COLORS

D Green
C Black
H Red

A Pink

E Violet
G White
B Yellow
F Blue

S$24. Ans.(b)

Sol. The data in all the statements, I and Il even together
are not sufficient to answer the question.

$25. Ans.(d)
Sol. Using together both the statements we can find total
number of persons are 12.

| N IS [ (S NS (N IS A N

L 1] M

$26. Ans.(c)
Sol.

From statement -1,

S =

From Statement-II,

Bangle

$28. Ans.(a)

Sol.
u 15m 0
T
|
16m 10m
12m|
G 1im c
w 8m— |
$29. Ans.(e)
Sol.
u 15m 0
T
|
16m 10m
12m|
G 1lm c
w 8m_—— |
$30. Ans. (e)
Sol.

From the given statements, S neither lives on odd
numbered floor nor in odd numbered flat. From here we
get two possibilities i.e., Case 1 and CaseZ2. B lives in east
with respect to S. There is one floor gap between B and R
and both have same flat number. The number of people
lives in south west with respect to R is same as the
number of people lives in north east with respect to P,
who does notlive in Even number flat.

Floor Case 1 Case 2
Flat1l | Flat2 | Flat3 | Flat1 | Flat2 | Flat3
4 5 B R
3 P
2 R 5 B
1 P

There are two floors gap between P and D. From here
Case 1 is ruled out but one more possibility added now i.e.
Case 2a. Clives just below the D’s floor.

Floor Case 2 Case 2a
$27. Ans.(b) Flat1| Flat2 | Flat3 | Flat1] Flat2 | Flat3
Sol.
u 15m Q 4 D R D R
1 3 c/ c/ c/ c/ c/ ¢/
16m 2m Lhm 2 g B 5 B
. 11m d 1 3 P
W———=8m— |
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Q lives in east with respect to C. Y lives just above floor of
A who lives on an even numbered floor. A and Y lives in
the same flat number. So, position of C is fixed. Both Z and
R does not live in the same floor and same flat number.
Flat-1 of any floor is not vacant. So, case-2 will be
eliminated. Now we can see all ten persons are shifted to
their flats and remaining two flats are vacant. So, the final
arrangement will be like this -

Floor Flat1l | Flat2 | Flat3
4 D Vacant R
3 Y C Q
2 A 5 B
1 P Z Vacant
S$31. Ans. (d)
Sol.

From the given statements, S neither lives on odd
numbered floor nor in odd numbered flat. From here we
get two possibilities i.e., Case 1 and Case2. B lives in east
with respect to S. There is one floor gap between B and R
and both have same flat number. The number of people
lives in south west with respect to R is same as the
number of people lives in north east with respect to P,
who does not live in Even number flat.

Floor Case 1 Case 2
Flat1l | Flat2 | Flat3 | Flat1 | Flat2 | Flat3
4 S B R
3 P
2 R S B
1 P

There are two floors gap between P and D. From here
Case 1 is ruled out but one more possibility added now i.e.
Case 2a. Clives just below the D’s floor.

Floor Case 2 Case 2a
Flat1 | Flat2 | Flat3 | Flat1 | Flat2 | Flat3
4 D R D R

3 c/ c/ c/ c/ c/ c/

2 5 B 5 B

Q lives in east with respect to C. Y lives just above floor of
A who lives on an even numbered floor. A and Y lives in

the same flat number. So, position of C is fixed. Both Z and
R does not live in the same floor and same flat number.
Flat-1 of any floor is not vacant. So, case-2 will be
eliminated. Now we can see all ten persons are shifted to
their flats and remaining two flats are vacant. So, the final
arrangement will be like this -

Floor Flat1 | Flat2 | Flat3
4 D Vacant R
3 ¥ C Q
2 A s B
1 P Z Vacant
S$32. Ans. (e)
Sol.

From the given statements, S neither lives on odd
numbered floor nor in odd numbered flat. From here we
get two possibilities i.e., Case 1 and CaseZ2. B lives in east
with respect to S. There is one floor gap between B and R
and both have same flat number. The number of people
lives in south west with respect to R is same as the
number of people lives in north east with respect to P,
who does not live in Even number flat.

Floor Case 1 Case 2
Flatl | Flat2 | Flat3 | Flat1 | Flat2 | Flat3
4 5 B R
3 P
2 R 5 B
1 P

There are two floors gap between P and D. From here
Case 1 is ruled out but one more possibility added now i.e.
Case 2a. Clives just below the D’s floor.

Floor Case 2 Case 2a
Flat1 | Flat2 | Flat3 | Flat1 | Flat2 | Flat3
4 D R D R
3 c/ c/ c/ c/ c/ c/
2 5 B 5 B
1 P P

Q lives in east with respect to C. Y lives just above floor of
A who lives on an even numbered floor. A and Y lives in
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the same flat number. So, position of C is fixed. Both Z and
R does not live in the same floor and same flat number.
Flat-1 of any floor is not vacant. So, case-2 will be
eliminated. Now we can see all ten persons are shifted to
their flats and remaining two flats are vacant. So, the final
arrangement will be like this -

Floor Flat1 | FlatZ | Flat3
4 D Vacant R
3 Y C Q
2 A 5 B
1 P Z Vacant

All are living in same flat number except Z.

$33. Ans. ()

Sol.

From the given statements, S neither lives on odd
numbered floor nor in odd numbered flat. From here we
get two possibilities i.e., Case 1 and CaseZ2. B lives in east
with respect to S. There is one floor gap between B and R
and both have same flat number. The number of people
lives in south west with respect to R is same as the
number of people lives in north east with respect to P,
who does not live in Even number flat.

Floor Casel Case 2
Flat1l | Flat2 | Flat3 | Flat1 | Flat2 | Flat3
4 5 B R
3 P
2 R S B
1 P

There are two floors gap between P and D. From here
Case 1 is ruled out but one more possibility added now i.e.
Case 2a. Clives just below the D’s floor.

Floor Case 2 Case 2a
Flat1 | Flat2 | Flat3 | Flat1 | Flat2 | Flat3
4 D R D R
3 c/ c/ c/ c/ c/ c/
2 5 B 5 B
1 P P

Q lives in east with respect to C. Y lives just above floor of
A who lives on an even numbered floor. A and Y lives in
the same flat number. So, position of C is fixed. Both Z and
R does not live in the same floor and same flat number.

Flat-1 of any floor is not vacant. So, case-2 will be
eliminated. Now we can see all ten persons are shifted to
their flats and remaining two flats are vacant. So, the final
arrangement will be like this -

Floor Flat1 | Flat2 | Flat3
4 D Vacant R
3 ¥ C Q
2 A s B
1 P Z Vacant
S$34. Ans. (b)
Sol.

From the given statements, S neither lives on odd
numbered floor nor in odd numbered flat. From here we
get two possibilities i.e., Case 1 and CaseZ2. B lives in east
with respect to S. There is one floor gap between B and R
and both have same flat number. The number of people
lives in south west with respect to R is same as the
number of people lives in north east with respect to P,
who does not live in Even number flat.

Floor Casel Case 2
Flat1l | Flat2 | Flat3 | Flat1 | Flat2 | Flat3
4 S B R
3 P
2 R S B
1 P

There are two floors gap between P and D. From here
Case 1 is ruled out but one more possibility added now i.e.
Case 2a. Clives just below the D’s floor.

Floor Case 2 Case 2Za
Flat1 | Flat2 | Flat3 | Flat1 | Flat2 | Flat3
4 D R D R
3 c/ c/ c/ c/ c/ c/
2 5 B S B
1 P P

Q lives in east with respect to C. Y lives just above floor of
A who lives on an even numbered floor. A and Y lives in
the same flat number. So, position of C is fixed. Both Z and
R does not live in the same floor and same flat number.
Flat-1 of any floor is not vacant. So, case-2 will be

41 I www.bankersadda.com | www.sscadda.com | www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

eliminated. Now we can see all ten persons are shifted to
their flats and remaining two flats are vacant. So, the final
arrangement will be like this -

P was born one of the years before Q. T was born on an
even numbered year before U. From these conditions,
case-1 and case-3 will be eliminated. V was born on the
year, which is divisible by three. The final arrangement is-

Years

Students

2001

P

2005

2010

Floor Flat1 | Flat2 | Flat3
4 D Vacant R
3 by C Q
2 A 5 B
1 P Z Vacant
$35. Ans.(a)

Sol. Conditions (iv) and (v) applied- ‘DECANT’ = ‘12u2$2’

$36. Ans.(b)
Sol. Conditions (i) and (v) applied- ‘ADVENT’ = ‘7$1©$@’

$37. Ans.(c)
Sol. Conditions (ii) and (iv) applied- ‘FORMNE’ = ‘#1#9#8

$38. Ans.(d)
Sol. Conditions (i) and (iii) applied- ‘UNITED’ = ‘715$17’

$39. Ans.(d)

Sol. Q was born on an odd numbered year. Only three

students were born between Q and U. There are three
ossibilities. R is 4 years younger than S.

2012
2014
2016
2019

=S =g WO

$40. Ans.(a)
Sol. Q was born on an odd numbered year. Only three
students were born between Q and U. There are three

ossibilities. R is 4 years younger than S.

Case-1 Case-2 Case-3
Years Students | Students | Students
2001 Q 5/
2005 Q R/
2010 5 U
2012 5 S/
2014 u R
2016 R u R/
2019 Q

P was born one of the years before Q. T was born on an
even numbered year before U. From these conditions,
case-1 and case-3 will be eliminated. V was born on the
year, which is divisible by three. The final arrangement is-

Years

Students

2001

P

2005

Case-1 Case-2 Case-3
Years Students | Students | Students
2001 Q 5/
2005 Q R/
2010 5 u
2012 5 S/
2014 u R
2016 R u R/
2019 Q

MAHA PACK

Live Class, Video Course,
Test Series, eBooks

Bilingual (with eBooks)

2010
2012
2014
2016
2019

=| S| =29 1o

S41. Ans.(e)

S$42. Ans.(c)

Sol. A mouse is a handheld device that allows you to
control your computer without typing the instructions
from the keyboard. By using a mouse, you can select icons,
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open programs, and select, commands, present in a
program by moving the pointer.

S$43. Ans.(e)

Sol. TCP/IP, which stands for Transmission control
Protocol/Internet Protocol, is an industry-standard
protocol suite for WANs. On the other hand, HTML,
COBOL, JAVA and C++ are computer programming
languages.

S44. Ans.(b)

$45. Ans.(d)

Sol. A computer terminal is an electronic or
electromechanical hardware device that is used for
entering data into, and displaying data from, a computer
or a computing system.

$46. Ans.(a)
Sol. ISDN stands for Integrated Services Digital Network.

S$47. Ans.(c)
Sol. Itis an IP Address

S$48.Ans. (a)
Sol. Thermal printers are inkless

$49. Ans.(d)

Sol. Simplex is unidirectional while half duplex and full
duplex communication modes are bidirectional.
Difference between half duplex and full duplex is that the
transmission of data is done one at a time in half duplex
while simultaneous data transmission takes place in full
duplex communication.

$50. Ans.(d)

Sol. The text written within the H4 element has the same
size as the normal plain text, whereas the text written
within the H1, H2 and H3 elements are larger than the
normal text. Text written within the H5 and H6 elements
has smaller size than the normal text.

S$51. Ans.(e)
Sol. Assembler translates a program written in an
assembly language into machine language.

$52. Ans.(d)

Sol. Super computers are designed for special purposes
with specific inputs. For example, Super Computers are
used for scientific, defense, or architectural purposes with
specific instructions or input.

$53. Ans.(b)

Sol. Microsoft Edge is a web browser developed by
Microsoft and included in Windows 10, Windows 10
Mobile.

S$54. Ans.(d)
Sol. Gateway connects more than one network that uses
different protocols.

$55.Ans. (b)
Sol. 'Dir/pathname/pathname’ can be used to display all
files within the specified subordinate directory of the
subdirectory.

$56.Ans. (a)
Sol. Java was introduced by Sun Microsystems.

$57. Ans.(c)

Sol. Spooler is a program in computing that is used to line
up print jobs by storing them in the buffer for a short time
and allows the printer to print at the time when it is use.

S$58.Ans. (b)
Sol. C++, Java and PHP are object oriented programming
languages.

$59.Ans. (c)

Sol. When a logic bomb is activated by a time-related
event, it is known as a Time bomb. In computer software,
a time bomb is part of a computer program that has been
written so that it will start or stop functioning after a
predetermined date or time is reached.

$60.Ans. (b)

Sol. HTML and XML are based on SGML. SGML (Standard
Generalized Markup Language) is a standard for how to
specify a document markup language or tag set. Such a
specification is itself a document type definition (DTD).
SGML is not in itself a document language, but a
description of how to specify one.

S61. Ans.(b)

Sol. Radio-frequency identification (RFID) uses
electromagnetic fields to automatically identify and track
tags attached to objects. The tags contain electronically
stored information. Passive tags collect energy from a
nearby RFID reader's interrogating radio waves.

$62. Ans.(d)
Sol. All other are valid keys except for track key.

$63. Ans.(a)

Sol. A hyperlink, or simply a link, is a reference to data
that the reader can directly follow either by clicking,
tapping, or hovering. Hyperlinks are found in nearly all
Web pages, allowing users to click their way from page to

page.

S64. Ans.(d)

Sol. There are only two types of threads present in an
operating system. One is user-level thread and the other is
kernel-level thread. User-level threads are the threads
which are controlled and managed by the user of the
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computer system. Kernel-level threads are the threads
which are controlled and created by the operating system.

$65. Ans.(d)
Sol. In number system, LSD stands for Least Significant
Digit. It refers to those digits that carry least weight.

$66. Ans.(b)

Sol. Universal gates are the gates that can be used to
implement any type of Boolean logic or circuit. There are
two universal gates, namely, NAND gate and NOR gate,
which can be used to implement any of the basic logic
gates.

$67. Ans.(b)

Sol. The hexadecimal number system has 16 possible
digits represented by the symbols 0 to 9 and the
alphabets A, B, C, D, E and F.

$68. Ans.(d)

Sol. Operating system provided an interface between a
user and computer hardware. It enables a user to utilize
hardware resources efficiently.

$69. Ans.(a)

Sol. A heat sink is a component of a motherboard which
absorbs the heat produced by the processor and other
components of a computer.

$70. Ans.(c)
Sol. Generally, we can use mouse for selecting or
highlighting object.

S$71. Ans.(e)

Sol. In cryptography, data are sent in such a way that they
look completely different from the original data. Thus,
cryptography ensures secure transfer of data over an
unsecured network.

$72. Ans.(a)
Sol. Wide Area Network (WAN) usually uses telephone
lines for connectivity, as WAN is spread over a large area
and offers Internet-related services such as browsing,
email, chatting, etc.

TEST SERIES

BILINGUAL
VIDEO SOLUTIONS

SBIPO

PRELIMS+ MAINS

100+ TOTAL TESTS

S$73. Ans.(e)

Sol. SubSeven is a Trojan horse program that appears or
pretends to be a genuine application, but actually causes
damage to the executable files on the computer.

S$74. Ans.(b)
Sol. The activity of purchasing items from different
websites on the internet is known as online shopping.

§75. Ans.(a)
Sol. A volatile device is a device that stores data
temporarily. An example of a volatile device is RAM.

§$76. Ans.(c)

Sol. OSI Model stands for Open System Interconnection
and it has seven layers: Application Layer, Presentation
Layer, Session Layer, Transport Layer, Network Layer,
Data link Layer, Physical Layer

§77. Ans.(a)
Sol. In First Generation mainly batch processing operating
system were used.

$78. Ans.(a)
Sol. In Logical results the value is either true or false.

$79. Ans.(a)
Sol. Touch Screen is an example of an I/0 Device.

$80. Ans.(d)
Sol. All of the given options support 32-bit processor

$81. Ans. (d)

Sol.

e Rajasthan and Maharashtra State Legal Services
Authorities have launched the Digital Lok Adalat in their
respective states as part of the third National Lok Adalat
of 2022.

e Over 75 lakhs cases were registered on the Digital Lok
Adalat in Rajasthan.

e Both the Digital Lok Adalat were launched during the
'18th All India Legal Services

e Authorities' summit in July 2022.

$82. Ans.(e)
Sol. PM Narendra Modi sets ‘Panch Pran’ target for next
25 yrs, says ‘big goal’ is developed India.

$83. Ans. (c)

Sol. The South Indian Bank has signed an agreement with
Kerala’s Forest and Wildlife Department to enable digital
collection of payments at eco-tourism centres, Vanasree
shops, mobile Vanasree units and eco-shops across the
State.

About South Indian Bank-

¢ Headquarters: Thrissur

e CEO: Murali Ramakrishnan

¢ Founded: 29 January 1929
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$84. Ans. (b)

Sol. About PM SVANidhi-

e The scheme is a Central Sector Scheme i.e. fully
funded by Ministry of Housing and Urban Affairs with
the following objectives:
¢ To facilitate working capital loan up to 10,000
¢ Toincentivize regular repayment
¢ Toreward digital transactions

¢ The scheme will help formalize the street vendors
with above objectives and will open up new
opportunities to this sector to move up the economic
ladder.

¢ The Scheme is available for beneficiaries belonging to
only those States/UTs which have notified Rules and
Scheme under Street Vendors (Protection of
Livelihood and Regulation of Street Vending) Act,
2014. Beneficiaries from Meghalaya, which has its
own State Street Vendors Act may, however,
participate.

e The vendors, availing loan under the scheme, are
eligible to get an interest subsidy @@ 7%.

e In April 2022, The Centre approved the continuation
of the Prime Minister Street Vendor's AtmaNirbhar
Nidhi (PM SVANidhi) scheme till December 2024.

$85. Ans. (b)
Sol. Union home minister, Amit Shah virtually unveiled
the ‘Statue of Peace’ of Swamy Ramanujacharya in

$89. Ans. (a)

Sol. State Bank of India has received in-principle approval
from the Reserve Bank of India for its proposed
operations support subsidiary aimed at bringing down
the cost-to-income ratio. The bank will soon start a pilot
run in a few regions before launching the new subsidiary
pan India.

Chairman of State Bank of India: Shri Dinesh Kumar Khara

$90. Ans. (a)

Sol. Capital markets are mainly divided into 2 different
types.

e Primary Markets: The primary market is the part of the
capital market that deals with the issuance and sale of
securities to investors directly by the issuer. An investor
buys securities that were never traded before. Primary
markets create long term instruments through which
corporate entities raise funds from the capital market.

e Secondary Markets: The secondary market, also called
the aftermarket and follow on public offering is the
financial market in which previously issued financial
instruments such as stock and bonds are bought and sold.

S$91. Ans. (d)

Sol. Santosh lyer will take over as managing director and
chief executive officer of Mercedes-Benz (The German
luxury automaker) India’s operations on January 1, 2023.

Why were other options in News?

Srinagar, located in a temple in the Sonwar region. ; = -
Ravi Former team India coach and cricketer,
$86. Ans. (c) Shastri Ravi Shastri
Sol. Indian hockey stalwart and member of the gold medal has been appointed the new brand
winning 1975 World Cup team, Varinder Singh passed ambassador f(_)r o
away. He was 75. Singh was part of the gold medal- FanCode, a live content, sports statistics
winning Indian team at the 1975 men’s Hockey World and ecommerce marketplace.
Cup in Kuala Lumpur. T. Raja |T. Raja Kumar of Singapore has been
Kumar appointed as the president of Financial
$87. Ans.(c) Action Task Force (FATF)
Sol. Bharat Electronics Limited (BEL) signed an MoU with || Sandeep | Sandeep Kumar Gupta, Director for Finance
a Belarusian Company and its subsidiary for supply of || Kumar at
Airborne Defence Suite (ADS) for helicopters of the Indian || Gupta Indian Oil Corporation, has been picked to
Air Force (IAF). head
India’s largest gas utility GAIL (India) Ltd
$88. Ans.(b) Asit Rath | Aviva India has appointed Asit Rath as chief
Sol. Global Liveability Index is released by Economist executive officer and managing director.
Intelligence Unit.
About Other Options- $92. Ans. (c)
Sol. India is set to construct more railways and
Organizations Reports/Indexes released motorways in 2025. The length of all national highways in
Transparency CORRUPTION  PERCEPTIONS || India is anticipated to reach 1.8 lakh kilometres and the
International INDEX railway lines would be 1.2 lakh kilometres by 2025
UNDP  Human Development Index according to the report of Bank of America Securities
e Sustainable development India.
Goals
e Gender Inequality Index $93. Ans. (e)
UNESCO e UNESCO Science Report Sol. Abhinav Chandrachud is the author of the new
e Global Education Monitoring || biography of Soli Sorabjee named “Soli Sorabjee: Life and
Report Times”.
UNEP Global Environment Outlook
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The book highlights the personal details of the life of Soli
Sorabjee, and his family background. He was the former
Attorney General (AG) of India and served two times for
the years 1989-90 and then from 1998- 2004.

$94. Ans. (c)

Sol. At the Rashtrapati Bhavan Museum, Rashtrapati
Bhavan has organised a workshop on “Disaster
Management of Museums and Heritage Buildings” in
collaboration with the National Institute of Disaster
Management (NIDM).

About National Institute of Disaster Management (NIDM)-
The National Institute of Disaster Management (NIDM) is
India’s top training and capacity-building organisation for
dealing with natural catastrophes on a national and
regional level. The Disaster Management Act 2005, which
was approved by the President of India on January 9,
2006, renamed the National Centre of Disaster
Management (NCDM), which was established by an Act of
Parliament in 1995, to give it the current name of National
Institute of Disaster Management (NIDM).

Headquarters- New Delhi

$95. Ans.(a)

Sol. The duo of Indian archer Jyothi Surekha Vennam and
Abhishek Verma won bronze medal in Mixed team
compound event, to win the first medal for the country at
The World Games 2022 in Birmingham, USA.

$96. Ans. (b)

Sol. Instagram has launched an ‘alert’ feature to help find
missing children. The photo-sharing app has partnered
with various organizations globally to set up the feature.
The feature will display details about missing children on
users’ Instagram feed if they are in a specific area where
an active search is taking place.

The alerts on the Meta-owned platform will include
details such as a child’s photo, description, and location of
the abduction. Instagram will show users alerts based on
information like their IP address and location services (if
it is turned on), it noted.

The social media platform said it has developed the child
emergency alert feature in collaboration with
organizations like the National Center for Missing &
Exploited Children (NCMEC) in the U.S., the International
Centre for Missing & Exploited Children, the National
Crime Agency in the UK, the Attorney General’s Office in
Mexico, the Australian Federal Police, among others.

$97. Ans. (c)

Sol. Prime Minister Narendra Modi has launched the
‘Lifestyle for the Environment (LiFE) Movement’, a global
initiative, and asserted that its vision is to live a lifestyle
that is in tune with our planet and does not harm it.

The launch initiated ‘LiFE Global Call for Papers’ inviting
ideas and suggestions from academics, universities and
research institutions etc to influence and persuade

individuals, communities and organisations across the
world to adopt an environment-conscious lifestyle.

The idea of LiFE was introduced by the Prime Minister
during the 26th United Nations Climate Change
Conference of the Parties COP-26 in Glasgow last year.
The idea promotes an environment conscious lifestyle
that focuses on mindful and deliberate utilisation instead
of mindless and destructive consumption.

$98. Ans. (c)

Sol. Kotak Mahindra Bank (KMBL) has launched Kotak
FYN, a new enterprise platform designed specifically for
Business Banking and Corporate clients. Customers of the
bank can utilize the portal to conduct all trade and service
transactions.

According to a press release, the Kotak FYN portal will
contain many other services by the fourth quarter of
2022, including account services, payments, and
collections.

The portal will also have a dashboard that consumers can
personalise, real-time tracking of transaction limits,
access to prior transactions, and upcoming transaction
events, among other things.

It also promises to deliver a tailored experience in small
steps with system stability.

Kotak Mahindra Bank Static Facts:

CMD: Uday Suresh Kotak

Headquarters: Mumbai

Tagline: Let’s Make Money Simple

$99. Ans. (b)

Sol. World Creativity and Innovation Week is observed
from 15th April to 21st April every year to raise
awareness about the importance of creativity and
innovation in problem-solving and encourage creative
multidisciplinary thinking at the individual and group
levels.

The theme of World Creativity and Innovation's Week &
Day in 2022 is Collaboration.

$100. Ans. (c)

Sol. Derivative instruments are capital market financial
instruments whose values are determined from the
underlying assets, such as currency, bonds, stocks, and
stock indexes.

The four most common types of derivative instruments
are forwards, futures, options and interest rate swaps:

e Forward: A forward is a contract between two parties in
which the exchange occurs at the end of the contract at a
particular price.

e Future: A future is a derivative transaction that involves
the exchange of derivatives on a determined future date
at a predetermined price.

 Options: An option is an agreement between two parties
in which the buyer has the right to purchase or sell a
particular number of derivatives at a particular price for a
particular period of time.
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¢ Interest Rate Swap: An interest rate swap is an
agreement between two parties which involves the
swapping of interest rates where both parties agree to
pay each other interest rates on their loans in different
currencies, options, and swaps.

$101. Ans.(d)

Sol. Immediate Payment Service (IMPS) public launched
on 22nd November 2010 by Smt. Shyamala Gopinath, DG
RBI at Mumbai.

$102. Ans.(d)

Sol. Google has announced the launch of ‘Play Pass’
subscription service in India that will provide Android
device users access to over 1,000 applications and games
without ads, in-app purchases, and upfront payments.
Play Pass, which is currently available in 90 countries, will
offer a high-quality and curated collection of 1000+ titles
across 41 categories from developers across 59 countries
including many from India, Google said in a statement.
Play Pass will give users access to well-known games like
Jungle Adventures, World Cricket Battle 2, and Monument
Valley, along with apps such as Utter, Unit Converter and
AudioLab, Photo Studio Pro, Kingdom Rush Frontiers TD,
among others.

Google Static Facts:

CEO: Sundar Pichai

Founded: 4 September 1998

Headquarters: Mountain View, California, United States

$103. Ans.(c)

Sol. On the 1st of March, 2022, the Central Depository
Services (India) announced that it now has more than six
crores (i. e. equivalent to 60 million) active Demat
accounts. A Demat account is a kind of account that can be
used to keep online copies of securities and shares.

A Demat account is a dematerialized account in its entire
form. The main purpose of a Demat account is to keep
shares that have been bought or dematerialized (that
means conversion from physical to electronic form of
shares), making online share trading easier for users.

The solely listed depository in India is Central Depository
Services (India) Limited (CDSL).

$104. Ans. (b)

Sol. Organization of the Petroleum Exporting Countries
(OPEC) Secretary-General, Mohammad Sanusi Barkindo,
passed away. He was born in April 1959 in northeast
Nigeria’s Adamawa state, Barkindo assumed the office of
the OPEC Secretary-General in 2016. His tenure was
scheduled to expire in July.

$105. Ans. (e)

Sol.

e The Defence ministry gave three private sector banks
permission to offer financial support to it for the
purchase of military equipment abroad. These banks
include ICICI Bank, Axis Bank, and HDFC Bank Ltd.

e For services like the issuance of letters of credit and
direct bank transfers to the ministry for overseas
purchase, only authorised public sector banks have
been used up until now.

$106. Ans. (d)

Sol. Former Australian all-rounder Andrew Symonds was
killed in a car crash.

Symonds was also a top-rate fielder and was a key part of
Australia’s back-to-back 50-over World Cups triumphs in
2003 and 2007.

$107. Ans. (d)

Sol:

(i) Call money market provides the institutional
arrangement for making the temporary surplus of some
banks available to other banks which are temporary in
short of funds.

(ii) Mainly the banks participate in the call money market.
The State Bank of India is always on the lenders’ side of
the market.

(iii) The call money market operates through brokers who
always keep in touch with banks and establish a link
between the borrowing and lending banks.

(iv) The call money market is highly sensitive and
competitive market. As such, it acts as the best indicator
of the liquidity position of the organized money market.
(v) The rate of interest in the call money market is highly
unstable. It quickly rises under the pressures of excess
demand for funds and quickly falls under the pressures of
excess supply of funds.

$108. Ans. (d)

Sol. IRDAI and National Health Authority (NHA) will
develop a National Health Claims Exchange as a digital
platform to settle health claims. The National Health
Claims Exchange will be developed as a digital platform,
for settling the health claims.

About IRDAI-

e Founded: 1999

¢ IRDAI Headquarters: Hyderabad

¢ IRDAI Chairperson: Debasish Panda

$109. Ans. (c)

Sol. The Oxford Children’s Dictionaries & Language Data
team at Oxford University Press pored through all of the
entries to reveal a wealth of insights into children’s
evolving use of language and identify the 2020 Oxford
Children’s Word of the Year as ‘coronavirus'.

Children have chosen ‘anxiety’ as their word of the year
for 2021, according to new research from Oxford
University Press (OUP). In comparison, teachers have
chosen ‘resilience’.

This year, OUP’s academics focused on well-being,
keeping in mind the impact of the pandemic on education,
and concerns about children’s mental health across the
United Kingdom.
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$110. Ans.(a)

Sol. Union Minister for Women and Child Development,
Smriti Irani launched the “Stree Manoraksha project”.
National Institute of Mental Health and Neurosciences
(NIMHANS), Bangalore, with support and funding from
the Ministry of Women and Child Development.

The aim of the project is to provide training and
supervision in psychosocial and mental health care for
staff and counsellors of all One Stop Centres (0SCs) across
the country to support women facing various forms of
gender-based violence.

The project, which has been painstakingly described by
NIMHANS based on the Ministry’s expected requirements,
will be delivered in two formats.

All OSC functionaries, including security guards, cooks,
helpers, caseworkers, counsellors, centre administrators,
paramedical staff, and others, will receive basic training in
one format.

The second format will emphasize the advanced course,
which will focus on various components such as multi-
generational implications and lifetime trauma in cases of
violence against women as well as professional principles
in counseling.

S$111. Ans. (d)

Sol. The government of Kerala is set to launch an Android
App ‘Shaili’, aimed at diagnosing and controlling lifestyle
diseases among the people in the state of Kerala. The app
has been set up as part of the population-based screening
project launched by the Health Department under the
Nava Kerala Karma plan.

$112. Ans. (a)

Sol. India and Australia signed an Economic Cooperation
and Trade Agreement which will provide zero-duty access
to 96 percent of India's exports to Australia, slashing
import duties on a wide range of items from Australia.
The pact is expected to give a big push to bilateral trade as
it will not only eliminate or lower tariffs on a large
number of goods but also address the non-tariff barriers
such as technical barriers to trade, apart from sanitary
and phytosanitary restrictions.

$113. Ans. (d)

Sol. HDFC Bank Limited has been adjudged Best
Performing Bank in Self Help Group (SHG) Linkage by
Deendayal Antyodaya Yojana - National Rural Livelihood
Mission (DAY-NRLM).

Ministry of Rural Development, Government of India at
the event organized at the Vigyan Bhavan, New Delhi.
HDFC Bank is the only private bank to be honoured with
the award for its contribution in SHGs by NRLM.

National Rural Livelihoods Mission (NRLM) was launched
by the Ministry of Rural Development (MoRD) in June
2011 is a poverty alleviation project. This rural income
generation scheme is also known as Aajeevika Mission.
HDFC Bank Static Facts:

Headquarters: Mumbai;

Founded: August 1994;

CEO: Sashidhar Jagdishan;
Chairman: Atanu Chakraborty;
Tagline: We understand your world.

$114. Ans. (c)

Sol.

National Financial Switch (NFS) ATM network having 37
members and connecting about 50,000 ATMs was taken
over by NPCI from Institute for Development and
Research in Banking Technology (IDRBT) on December
14, 20009.

Apart from basic transactions like Cash Withdrawal,
Balance Enquiry, PIN Change and Mini Statement, NFS
also offers other Value Added Services (VAS) on
ATMs/CDMs like:

« Interoperable Cash Deposit (ICD)

e Mobile Banking Registration (MBR)

e Card-to-Card Fund Transfer (C2C)

» Cheque Book Request (CBR)

 Statement Request (SR)

e Aadhar Number Seeding (ANS)

$115. Ans. ()
Sol. Banks borrow from each other in form of call money
to maintain cash reserve ratio.

$116. Ans. (e)

Sol. The Hon’ble Prime Minister Inaugurated the Digital
India Week, a Digital Expo - Digital Mela at Gandhinagar,
Gujarat organized by the Ministry of Electronics and
information Technology (MeitY) with the arching theme
‘Digital India: Catalyzing New India’s Techade’ a digital
transformation  journey for showcasing India’s
Technological prowess to the world.

One of the most important initiatives is the Legal
Information Management and Briefing System (LIMBS),
an innovative web-based application software tool which
utilizes standard templates, monitors the court cases in a
proactive, transparent and effective manner. It is a
dashboard based system, where user departments can see
their legal matters at a glance. LIMBS ensures proper e-
governance, as visualized by the government.

$117. Ans. (c)

Sol. In the presence of Chief Minister M.K. Stalin, a
Memorandum of Understanding (MoU) was signed
between Tamil Nadu and the Singapore-based M/s. IGSS
Ventures Pte Ltd to build a 300-acre semiconductor high-
tech park in the State with an investment and grants of
25,600 crore.

$118. Ans. (e)

Sol.

¢ India has nominated the dance form Garba to be
inscribed on UNESCO's intangible cultural heritage
list.
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e India was elected by UNESCO to serve on the
distinguished Intergovernmental Committee of the
2003 Convention for the Safeguarding of the
Intangible Cultural Heritage in July.

$119. Ans. (a)

Sol. India’s third largest private sector bank, Axis Bank
has signed an MoU with Food Corporation of India (FCI)
to provide “Ultima Salary Package”, a best-in-class salary
account with exclusive benefits & features to all its
employees.

About Axis Bank-

¢ Founded: 1993

¢ Headquarters: Mumbai, Maharashtra

¢ Chairman: Rakesh Makhija

¢ MD & CEO: Amitabh Chaudhary

¢ Tagline: Badhti Ka naam Zindagi

$120. Ans. (a)

Sol. Supreme Court has constituted a three member
bench, headed by Justice D.Y.

Chandrachud, to rule on the matter pertaining to
distribution of freebies to voters during elections.

$121. Ans. (c)

Sol. The correct choice is option (c) which can be inferred
from second paragraph which mentions,” The first factor,
demand. In the case of the Great Depression, demand was
created by the Second World War effort. Especially in the
United States, which was largely spared of the
destruction, its industrial capabilities could be used as a
supply base for the entire Allied effort. In the current
scenario, there is no war to create demand.”

$122. Ans. (b)

Sol. To validate the answer refer to the third paragraph
which mentions, “The base effect states that when
measuring year-over-year growth, we take the previous
year’s numbers as the base instead of actual base year and
measure the growth as a percentage. As in the low initial
base set by last year, almost any growth this year is seen
as a significant growth percentage.”

$123. Ans. ()

Sol. To validate the correct choice refer to the last
paragraph which mentions, “Foreign portfolio investors
have directed a portion of the liquidity towards our
markets. Compared to a developed capital market, India
has a relatively low market capitalisation. It, therefore,
cannot absorb the enormous capital inflow without asset
prices inflating.”

$124. Ans. (a)

Sol. The correct choice is option (a), which can be inferred
from last lines of last paragraph which mentions, “The
wealthy upper class gets richer due to access to financial
assets. The middle and lower-middle-class get destitute
due to regressive indirect taxes and high inflation, with

their wealth eroding due to said inflation. Especially in the
case of the lower middle class, inflation is lethal as they do
not have access to any hard assets, including the most
fundamental hard asset, gold.

$125. Ans. (d)

Sol. The correct choice is option (d). Both statement (i)
and statement (ii) are incorrect.

For falsity of statement (i), refer to the first paragraph
which mentions,” In recent times, right-leaning
economists have been arguing that the Government does
not need to do anything with the economy and that it will
revive by itself.”

For falsity of statement (ii), refer to the fourth paragraph
which mentions, “Foreign portfolio investors have
directed a portion of the liquidity towards our markets.
Compared to a developed capital market, India has a
relatively low market capitalisation. It, therefore, cannot
absorb the enormous capital inflow without asset prices
inflating.”

For statement (iii), refer to the third paragraph which
mentions, “India is suffering from stagnant growth to low
growth in the last two quarters.”

$126. Ans. (b)

Sol. The correct choice is option (b). ‘Fallacious’ means
‘incorrect, wrong’ and ‘imprecise’ is synonym which
means ‘not clear or exact’.

Appease means to make somebody calmer or less angry
by agreeing to what he /she wants.

Minute means very small.

Dissipate means to slowly become less until it disappears;
to make something weaker until it disappears.

$127. Ans. (c)

Sol. The correct choice is option (c). Impediment’ means
‘something that makes it difficult for a person or thing to
move or progress’ and restrain is synonym which means
‘to keep somebody or something under control; to
prevent somebody or something from doing something’.
Captive means kept as a prisoner; (used about animals)
kept in a cage, etc.

Prominent means important or famous.

Animosity means a strong feeling of anger and of not
liking somebody/something.

$128. Ans. (b)

Sol. The correct choice is option (b). ‘Perpetuating’ means
to cause something to continue for a long time and ‘cease’
is antonym which means to stop or end.

mawkish means sentimental in an exaggerated or false
way.

dismal means causing a mood of gloom or depression.
fortify means provide (a place) with defensive works as
protection against attack.

$129. Ans. (b)
Sol. Reluctant means unwilling and hesitant; disinclined.
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So, from the given sentences, only (b) has the correct
usage of the given word. Also, it should be ‘qualifies’ in
first sentence, ‘increase’ in third and ‘allowed’ in fourth
sentence.

$130. Ans. (d)

Sol. Perseverance means continued effort to do or achieve
something despite difficulties, failure, or opposition.

So, from the given sentences, only (d) has the correct
usage of the given word. Also, it should be ‘face’ in first
sentence, ‘threat’ in second and ‘ills’ in third sentence.

$131. Ans. (b)

Sol. Eradicate means to destroy or get rid of something
completely

So, from the given sentences, only (b) has the correct
usage of the given word. Also, it should be ‘contributing’
in first sentence, ‘open’ in second and ‘enhancing’ in
fourth sentence.

$132. Ans. (d)

Sol. Dissipate means to slowly become less until it
disappears.

So, from the given sentences, only (d) has the correct
usage of the given word. Also, it should be ‘narrate’ in first
sentence, ‘adequate’ in second and ‘introduced’ in third
sentence.

$133. Ans. (a)

Sol. Refrain means to stop yourself doing something; to
not do something.

So, from the given sentences, only (a) has the correct
usage of the given word. Also, it should be ‘seriously’ in
second sentence, ‘ensuring’ in third and ‘continue’ in forth
sentence.

$134. Ans. ()

Sol. The error lies in option (c). In option (c), ‘inevitably’
should be ‘inevitable’ as we need adjective here for noun
‘task’.

$135. Ans. (b)

Sol. The error lies in option (b). In option (b), ‘performs’
should be ‘perform’ because noun ‘children’ is plural here
for which we need plural verb.

MAHA PACK

Live Class, Video Course,
Test Series, eBooks

Bilingual (with eBooks)

$136. Ans. (a)

Sol. The error lies in option (a). In option (a), ‘to review of
the situation’ should be ‘to review the situation’. Here ‘of
will not be used because ‘of is not used before the object
that comes after the verb (review).

$137. Ans. (b)

Sol. The error lies in option (b). In option (b), "preferable
than", like "different than" is an error. Just as "different
than" should be "different from", "preferable than" should
be "preferable to".

$138. Ans. (d)

Sol. The error lies in option (d). Here ‘in a week’ should be
‘within a week’ because preposition ‘in’ is used in the
sense of ‘at the end of the period of time’ while ‘within’ is
used in the sense ‘before the end of the period of time’.

$139. Ans. (e)
Sol. All the given sentences are error free hence the
correct choice is option (e).

$140. Ans. (a)

Sol. The error lies in option (a). In option (a), ‘mostly’
should be replaced with ‘most’ as we need adjective here
for noun ‘children while ‘mostly’ is adverb.

$141. Ans. (c)

Sol. The THIRD sentence after rearrangement is (A).
Going through the given sentences it can be clearly seen
that sentence (D) is the most appropriate introductory
sentence choice and states the theme of the passage
which is ‘National Educational Policy 2020°. Now, this
would be then followed by (B) as it supports the idea of
skill given statement (D) by stating its importance and
benefits. Next in the arrangement would be sentence (A)
which is further telling about the insufficiency of
traditional literacy and numeracy contrary to statement
(B). This would be then followed by (E) which is
providing additional information about the important
step of skill learning and its purpose. And the last
sentence in the arrangement would be (C) which tells
about the needed motivation for to be happy. So, the final
arrangement is DBAEC.

S$142. Ans. (a)

Sol. The FIRST sentence after rearrangement is (D).

Going through the given sentences it can be clearly seen
that sentence (D) is the most appropriate introductory
sentence choice and states the theme of the passage
which is ‘National Educational Policy 2020’. Now, this
would be then followed by (B) as it supports the idea of
skill given statement (D) by stating its importance and
benefits. Next in the arrangement would be sentence (A)
which is further telling about the insufficiency of
traditional literacy and numeracy contrary to statement
(B). This would be then followed by (E) which is
providing additional information about the important
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step of skill learning and its purpose. And the last
sentence in the arrangement would be (C) which tells
about the needed motivation for to be happy. So, the final
arrangement is DBAEC.

$143. Ans. (e)

Sol. The FIFTH sentence after rearrangement is (C).

Going through the given sentences it can be clearly seen
that sentence (D) is the most appropriate introductory
sentence choice and states the theme of the passage
which is ‘National Educational Policy 2020’. Now, this
would be then followed by (B) as it supports the idea of
skill given statement (D) by stating its importance and
benefits. Next in the arrangement would be sentence (A)
which is further telling about the insufficiency of
traditional literacy and numeracy contrary to statement
(B). This would be then followed by (E) which is
providing additional information about the important
step of skill learning and its purpose. And the last
sentence in the arrangement would be (C) which tells
about the needed motivation for to be happy. So, the final
arrangement is DBAEC.

S$144. Ans. (b)

Sol. The FOURTH sentence after rearrangement is (E).
Going through the given sentences it can be clearly seen
that sentence (D) is the most appropriate introductory
sentence choice and states the theme of the passage
which is ‘National Educational Policy 2020’. Now, this
would be then followed by (B) as it supports the idea of
skill given statement (D) by stating its importance and
benefits. Next in the arrangement would be sentence (A)
which is further telling about the insufficiency of
traditional literacy and numeracy contrary to statement
(B). This would be then followed by (E) which is
providing additional information about the important
step of skill learning and its purpose. And the last
sentence in the arrangement would be (C) which tells
about the needed motivation for to be happy. So, the final
arrangement is DBAEC.

$145. Ans. (d)

Sol. The SECOND sentence after rearrangement is (B).
Going through the given sentences it can be clearly seen
that sentence (D) is the most appropriate introductory
sentence choice and states the theme of the passage
which is ‘National Educational Policy 2020’. Now, this
would be then followed by (B) as it supports the idea of
skill given statement (D) by stating its importance and
benefits. Next in the arrangement would be sentence (A)
which is further telling about the insufficiency of
traditional literacy and numeracy contrary to statement
(B). This would be then followed by (E) which is
providing additional information about the important
step of skill learning and its purpose. And the last
sentence in the arrangement would be (C) which tells
about the needed motivation for to be happy. So, the final
arrangement is DBAEC.

$146. Ans. (c)
Sol. The correct choice is option (c). The word is misspelt
and the correct spelling is ‘fructified’

S$147. Ans. (b)
Sol. The correct choice is option (b). The word is misspelt
and the correct spelling is ‘apparent’.

$148. Ans. (d)
Sol. The correct choice is option (d). The word is misspelt
and the correct spelling is ‘infiltrates’.

$149. Ans. (a)

Sol. The above passage is talking about the flood
management system in Bihar and Nepal. The course of
action taken by the Bihar government is to tackle pouring.
Therefore, the correct word for first blank is ‘credited’
which means to believe or say that somebody/something
has a particular quality or has done something well.
cumbersome means heavy and difficult to carry, use,
wear, etc.

midway means in the middle of a period of time or
between two places.

rigorous means done very carefully and with great
attention to detail.

$150. Ans. (d)

Sol. The above passage is talking about the flood
management system in Bihar and Nepal. The course of
action taken by the Bihar government is to tackle pouring.
Therefore, the correct word for second blank is
‘structural’ which means relating to the arrangement of
and relations between the parts or elements of a complex
whole.

scorn means the strong feeling that you have when you do
not respect somebody/something.

steep means rising or falling quickly; at a sharp angle.
erratic means changing without reason; that you can
never be sure of.

S$151. Ans. (b)

Sol. The above passage is talking about the flood
management system in Bihar and Nepal. The course of
action taken by the Bihar government is to tackle pouring.
Therefore, the correct word for third blank is ‘adopted’
which means to take and use something.

repressive means that limits people’s freedom.

extradite means to send a person who may be guilty of a
crime from the country in which he/she is living to the
country which wants to put him/her on trial for the crime.
contempt means the feeling that somebody/something
does not deserve any respect or is without value.

$152. Ans. (c)

Sol. The above passage is talking about the flood
management system in Bihar and Nepal. The course of
action taken by the Bihar government is to tackle pouring.
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Therefore, the correct word for forth blank is
‘compensation’” which means money that you pay to
somebody because you have injured him/her or lost or
damaged his/her property.

mar means to harm or damage something good.

mortify means to make somebody feel very embarrassed.
revive means to come or to bring somebody back to life or
consciousness.

$153. Ans. (d)

Sol. The above passage is talking about the flood
management system in Bihar and Nepal. The course of
action taken by the Bihar government is to tackle pouring.
Therefore, the correct word for fifth blank is ‘perennial’
which means that happens often or that lasts for a long
time.

embankment means a wall of stone or earth that is built to
stop a river from flooding or to carry a road or railway.
waned means to become gradually weaker or less
important.

nascent means beginning to exist; not yet completely
developed.

S$154. Ans. (b)

Sol. The above passage is talking about the flood
management system in Bihar and Nepal. The course of
action taken by the Bihar government to tackle pouring.
Therefore, the correct word for sixth blank is ‘reckoning’
which means the act of calculating something, especially
in a way that is not very exact.

amend means to change something slightly in order to
make it better.

vivid means having or producing a strong, clear picture in
your mind.

predominantly means mostly; mainly.

$155. Ans. (b)

Sol. The above passage is talking about the flood
management system in Bihar and Nepal. The course of
action taken by the Bihar government to tackle pouring.
Therefore, the correct word for seventh blank is
‘vulnerable’ which means weak and easy to hurt
physically or emotionally.

animosity means a strong feeling of anger and of not
liking somebody/something.

appease means to make somebody calmer or less angry
by agreeing to what he /she wants.

indulging means to allow yourself to have or do
something for pleasure.

$156. Ans. (e)

Sol. The correct choice is option (e) which can be inferred
from first and second paragraph which mentions, “Some
research studies have also argued in favour of it, citing the
economic and the environmental benefits of shutting
down coal plants older than, say, 25 years” and “Further,
it is argued that it would be uneconomical for old plants
to install pollution control equipment required to meet

the emission standards announced by the Environment
Ministry, and hence it would be better to retire them.”

$157. Ans. (a)

Sol. The correct choice is option (a). ‘Uneconomical’
means ‘wasting money, time, materials, etc.’ and
reasonable is antonym which means ‘not too expensive’.
Hence the correct choice is option (a).

moribund means no longer effective and about to come to
an end completely.

thrive means to grow or develop well.

castigate means to criticize, strongly oppose or punish
somebody/something severely.

$158. Ans. ()

Sol. The correct choice is option (c). ‘Significant’ means
‘important or large enough to be noticed’ and
“conspicuous” is a synonym which means “easily seen or
noticed”.

blunt means without a sharp edge or point.

foul means very bad or unpleasant.

repudiate means to say that you refuse to accept or
believe something

$159. Ans. (d)

Sol. The correct word for the given blank will be
‘endorsed’ which means ‘to say publicly that you give
official support or agreement to a plan, statement,
decision, etc.” Hence correct choice will be option (d).
imperative means very important or urgent

intemperate means having or showing a lack of self-
control; immoderate

strident means loud and unpleasant

$160. Ans. (a)

Sol. The correct choice is option (a). Refer to last
paragraph which mentions the advantage which old
plants have due to their location which is near the coal
source which in turn reduces their various costs. While
new plants are efficient, their far location from coal
source is a drawback and increases cost and reduce
savings.

$161. Ans (a)
Sol.
Let the no. of purple toys = 7x

And total toys = 27x

No. of black toys = 6 % % =10
40

No.ofbluetoys =10 x — =4
100

Now

104+4+6+7x=27x

Tx =27x — 20

x=1

So,no.of purpletoys=7x 1 =7
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$162. Ans (b) Profit of Meenu = (1320x — 256) — 1100x = Rs. (220x — 256)

Sol. ATQ.
Vessel A 500x — (220x — 256) = 1936
280x = 1680

Let the quantity of wine in vessel A be Y liters

And quantity of water in vessel A be (55 — V) liters x=6

Req. difference = (1320 X 6 — 256) — 1100 X 6 = 7664 — 6600 = Rs. 1064

Vessel B

Quantity of wine in vessel B = 80 X % = 32 liters

And quantity of water in vessel B = 80 — 32 = 48 liters $166. Ans (c)

ATQ. Sol.

rr3z _2 d ofthe b km/h

S5_via8 1 Let speed of the bus = x km/

¥ +32=2x (103 —¥) So, speed of scooter = (x — 15) km/h
V432 =206—2Y And speed of bike = (x — 20) km/hk
3Y = 174 Bus crosses the scooter running in same direction
¥ =58 M= 300

So, quantity of wine in vessel A = 58 liters - (:x ~(x— 15]) x 15_8
$163. Ans (d) M = 72 seconds
Sol. when scooter crosses the bike running in same direction
Let the initial investment of A, B and C be 4x, 6x, 7x respectively. P = (72 + 36)
And initial investment of D = 83?% of 6x = ZX 6x = 5x ((x —15) = (x — 20)) x 15_8

Profit sharing ratio of A, B, C, & D 25

s . P =108 x— =150

=4x X2+ 4x X X1:6xX2+6xX7X1:7xX3:5x%2 18

10x : 21x : 21x = 10x

Req. diff =228%% » 11x = Rs. 44,000

a- diterence = — TS $167.Ans (a)
Sol.

$164. Ans (b) Let present age of daughter be ‘%’ years
Sol. So, present age of father [34+x) years

Present age of son (x-4) years

Let Sunny invested Rs. X And present age of mother = 30 + x — 4 = (26 + x) years

And Sham invested Rs. (X — 8000)

ATQ.

Interest received by Sham in 3 years 6

15t year = 200% 3txta=(26+x+4)xC

2rdyear = 20% + 4% 5X(38+x)=(30+x) X6

34 year interest = 20% + 8.8% 190 4+ 5x = 180 + 6x

Total interest = 20% + 20% + 20% + 4% + 8.8% = 72.8% 10=x

ATQ. Req. % = (10-4-2) % 100

XX18x5 4 (10+2)

—————— —(72.8% of (X — 8000)) = 9092 4 1

100 =—xX100=33-%

90X (728X 728 12 3

—_— = (— —-— X 8000) = 9092

100 1000 1000

90X 728X

— ——— 45824 = 9092 $168. Ans (d)

100 1000 sol

900X — 728X ol.

— = 3268

1000 Let the time taken by pipe P to fill the tank be ‘'T" min.

172x = 3268 So, time taken by pipe Q to fill the tank (T — 6) min.
1000 And time taken by pipe R to fill the tank (T + 4) min.
X =19000 ATQ

Therefore, Sunny invested Rs. 19000 2 2

And, Sham invested Rs.(19000 — 8000) = Rs. 11000 (T-e)xz=(T+4)x¢

Req.0p = 2222021000 100 = 42.106 & 4204 10T — 60 = 6T + 24

19000 AT = 84
Tr=21

S165. Ans (e) So, time taken by pipe P to {fill the tank be 21min.
sol So, time taken by pipe Q to fill the tank = (21 — 6) = 15 min.

And time taken by pipe R to fill the tank = (21 + 4) = 25 min.

Let the cost price of article for Mansi = Rs. 600x
Let the capacity of tank {L.C.M. (21, 15, 25]} = 525 Lit.

And selling price of article for Mansi = cost price of article for Meenu

= Rs.1100x% So, efficiency of pipe P, Q and R will be 25, 35 and 21 lit/min respectively.
Marked price of article for Meenu = 1100x X ~— = Rs.1320x Capacity of remaining tank = 525 — (25 + 35 + 21) X 5 = 120 lit.

100 L . 120 .
Selling price of article for Meenu = Rs. (1320x — 256) Remaining tank filled by pipe P = ETE 4.8 min.

Profit of Mansi = Rs. (1100x — 600x) = Rs.500x
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$169. Ans (a)
Sol.

Let the height of cylinder be 8x cm
87.5
100

And radius of cylinder = 8x X = T7xcm

ATQ.
22 22 .
2X—XBxXT7x—2X—X7x* = 2816
22
2X X 7x X (8x — 7x) = 2816

22
ZX?X?IXX = 2816
x? = 64
x =8
the height of cylinderbe =8 X 8 = 64 cm
And radius of cylinder = 7x X 8 = 56 cm

Req. vol. =22 X 56 X 56 X 64 = 630784 cm®

$170. Ans (e)
Sol.

Let no. of women in family =8x

So, no. of men in family = 8x X % =11x

And no. of children in family = 8x x % = 6x
Average weight of children in family = 28 kg
Average weight of women in family = 28 X % =49 kg

Average weight of men in family = 2 X 28 =56 kg
Req.ratio=6x X 28 : 11x X 56 : Bx X 49
=3:11:7

$171. Ans (d)

Sol.

Amount spent in a month of August = Rs.28000
100

Amount spent in a month of May = 28000 x s Rs.35000

Amount spent in a month of July = 35000 x % = Rs.25000
Amount spent in a month of June = 25000 x g = Rs. 20000
(35000+25000) _ (28000+20000)

2 2
= 30000 — 24000 = Rs. 6000

Req. difference =

$172. Ans (b)

$173. Ans (b)
Sol.
Quantity L

Let the length of bridge be ‘d 'm
And length of flyover (d+60) m

Let speed of scooter be ‘s’ m/sec

ATQ.

d

d+ 60

From (i} &(ii)

d d+60

20 28

7d = 5d + 300

d = 150

Value of d put in (i)

150

o

20

75==s

Req. time = im =2=32 hours
TExT 3 3

Quantity II.

Let the efficiency of A be'2x' unit/hour

So, efficiency of B = 2x X E = 3x unit/hour
And efficiency of C= g ¥ 3x = 5x unit/ hour

Total work =24 % (2x + 3x) = 120x unit

20
120xx—— 48x 3
88 = — = 9= hour

Bx Bx 5

Hence, Quantity I < Quantity II

Req. time =

S$174. Ans (a)
Sol.

Quantity L.

Let the present age of Chandan = x years
So, present age of Aryan = (x + 6) years
And present age of Billu = (x — 4) years

ATQ.
Sol. x c
Let the speed of boat in still water = X km/h +6 7
And speed of stream = Y km/h 7x = 5x + 30
Downstream speed of aboat=X + ¥ = 45 km/h ...... (i) x =15
120 - B Billu's age after 15 years
X—y = (&) 15 — 4 + 15 = 26 years
540 _ Quantity IL
45 Marked price of bedsheet = Rs. 4500
.1"2 :l T cost price of bedsheet = 4500 x g = Rs.3000
tin (i
1‘;]“9 putin (ii) Selling price of bedsheet = Rs. (3000 + 150) = Rs.3150
87.5 100 -
X—-¥Y =10 450{}x—x—y=3150
Req.distance =7 X 10 =70 km 100 100
y =20
Hence, Quantity I > Quantity IL
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$175. Ans (b)

Sol.
Mixture K
Let quantity of alcohol and water be 3x & 5x respectively
Mixture L
Let quantity of alcohol and water be 7y & 9y respectively
quantity of alcohol in both mixtures = 80 lit.
3x + 7y = 80...(i)

. . , 3 . .
water in mixture L is Eth of water in mixture K

9 3><5
i x
Y75
9y = 3x
Iy =x

x value putin (i)

3(3y)+7v =280

16y = 80

yv=5

So,valueofx=3 x5 =15

Quantity L. total quantity of mixture L.

7y + 9y

7X5+9x%5

35+ 45 = 80 lit.

Quantity II. total quantity of water in both the mixture together
S5¥r4+9y=5x1549x5=754+45=120lit
Hence, Quantity II > Quantity [

$176. Ans (b)
Sol.

Let the initial investment of Bob, Mike and Tom be 5x, 7x & 11x respectively
Profit sharing ratio of Bob, Mike, Tom & Harry
Sx X1+ (5x+3000)%x2:7xx1:11x+ (11x +2000) X 2:8x x 1

15x + 6000 : 7x : 33x 4+ 4000 : Bx ....[i)
ratio of profit of Bob to Harry is 5:2.
So, 1516000 _ 5

8x 2
30x + 12000 = 40x
x = 1200
x value putin (i)
=15x 1200+ 6000 : 7 X 1200 : 33 X 1200 + 4000 : 8 X 1200
= 24000 : 8400 : 43600 : 9600
= 60:21:109: 24
Quantity L

24 21
—— X 342400 — —— % 342400
214 214

= Rs.(38400 — 33600) = Rs5.4800
Quantity IL

20 109 25 60
—— X —— X 342400 — —— X —— x 342400
100 214 100 214

= 34880 — 24000 = Rs. 10880
Hanra Mmantitv T < Onantite 1T

BILINGUAL

BANK

PRIME

1BFS RRB, SBI, IBPS PO | Clerk & Others

1200+ TOTAL TESTS

S$S177. Ans (e)

Sol.
gx2+22=20
20%x3—3°=51
51 x4+ 4% =220
220 X 5— 5% = 1075
1075 X 6 + 6% = 6486
6486 X 7 — 7° = 45353

$178. Ans (d)

Sol.

0.05x72=3.6

36X 36=129.6

129.6 ¥ 18 = 23328
23328 x9 = 20995.2
20995.2 x 4.5 = 94478.4

$179. Ans (c)

Sol.

28+(1* —1) =28

28+ (2 —1) = 35
35+ (3 —-1) =61

61+ (47 —1) =124
124 + (5° — 1) = 248

248 + (6% — 1) = 463

$180. Ans (b)

Sol.

82+ (12 +1%) =84
84+ (2°+2%) =96
96 + (3 +3%) =132
132 4 (4% +4%) =212
212 4 (5% + 5%) = 362
362 + (6% + 6%) = 614

$181. Ans (d)

Sol.

No. of female in city A = 70000 x — x 22228 » 2 — 5604
10_0 100 3

No. of female in city B = 70000 x — x 22222 « = — 798¢
100 100 9

No. of children in city A = 70000 X —— X = = 4788

10_0 100
No. of children in city B = 70000 x % X é = 4536
4788+4536 9324 .
Req. 0% —m ® 100 = m * 100 = 88.09% ~ 88%

$182. Ans (e)
Sol.

Total no. of children in city C = Total no. of female in city E = 70000 X % X % = 4256

Total no. of male in city E = 70000 X — — 70000 X — X —= — 4256 = 3696
100 100 100

Total no. of children in city A = 70000 X —= x 22 = 4788
100 100

Req. difference = 4788 — 3696 = 1092
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$183. Ans (a)
Sol.

No. of children in city E = 70000 X —= X 2= = 3248
100 100

No. of female in city D = 3248 X ﬁ = 4060

No. of male in city D = 70000 X = — 70000 X —— x —— — 4060 = 7560
100 100 100

No. of male in city E=5321 X 2 — 7560 = 3082

Req. % =——= x 100 = 105.38% ~ 105%
$184. Ans (b)
Sol.

70000% ==X +70000x Sox2m  g3p4
. =223 _ 4662

No. of male in city D =

No. of female in city D = 70000 X —= — 70000 X —= X - — 4662 = 6958
+00 . 100 100

28 = 4466

100 100 ]

No. of male in city C = 70000 X %— 70000 X —= x 22 — 4466 = 4578

100 " 100
Req. sum = 6958 + 4578 = 11536

No. of female in city C = 70000 x

$185. Ans (a)
Sol.
No. of students who like football in school P = 21000 x % X % = 2100

No. of students who like tennis in school P = 15000 — (% ® 15000 + 2100) =

No. of students who like football in school S = 1350 x % = 1080

No. of students who like tennis in school Q = 21000 X % = 4200

Req. % =22 X 100 = 25.71% ~ 26%

200

$186. Ans (b)
Sol.
No. of student who like cricket in school Q@ = 18000 X % — 2000 = 3400
No. of student who like golf in school Q = 21000 — (21000 x % + 3400) = 3530
No. of students who like football in school R = 15000 x % = 1800
No. of students who like hockey in school R=12000 — (12000 X % + 1800) = 1800

No. of students who like cricket in school §= 18000 x % = 2700
Req. average :27nn+35330+1ano _ 26763

$187. Ans (b)

Sol.

No. of students who like tennis in school P = 12000 X % X % =1530
No. of students wheo like cricket in school § = 18000 X % = 2700

No. of students who like football in school R = 21000 % % X % = 2520

No. of students who like hockey in school R= 12000 — (12000 X % +2520) = 1080

No. of students who like hockey in school P = 15000 X % = 6750

Req. ratio = (1080 + 6750) : (1530 + 2700) = 87 : 47

$188. Ans (b)

Sol.
Total no. of students who like cricket in school R and S together =
=12000 x % + 18000 x % = 54004 2700 = 8100
Total no. of students who like tennis in schoaol Q and S together =
= 21000 x % + 18000 X % = 4200 + 5400 = 9600
Req. difference = 9600 — 8100 = 1500

$189. Ans.(d)
Sol.
Using .
Let the upstream speed be 5x kmph and speed of boat in still water be 8x kmph
Speed of stream = 3x kmph
Let the distance travelled in upstream be z km.
ATQ,
i + ™ 36.......(1)
Hence statement [ alone is not sufficient.

Using II,
z
—=15
11x

Hence Il alone is not sufficient.
Using (1) and (II) both

Hence both [ and II together are not sufficient.

$190. Ans.(b)
Sol.

Let the CP, SP and MP of the book be C Rs., S Rs. and M Rs. respectively.
Using I,
ATQ

c

2 .
5 7

cC 6
Let S=7aand C=6a

Put value of S and C in (i)
ba 2

Ta+M 5
M = 8a

Discount % = = x 100 = 12.5%

Hence, I alone is sufficient

Using II,

As we do not know the value of MP, so we cannot calculate the discount %.
So, I alone is sufficient to answer the question.

$191. Ans.(a)
Sol.

Let total milk in vessel = 5a
And, total water in vessel = 7a
From I —
5
sa—adxl g
Ta-48X—+48 3
iz
Sa-20 _ 1

Ta+20 3
15a- 60 =7a + 20
8a=80
a=101
Milk in vessel = 501

From II —
Ea+30 _ 2

Ta+50 3
15a+90=14a+ 100

a=101

Milk in vessel =501

S0, either statement (I) or statement (II) by
itself is sufficient to answer the question.

$192. Ans.(c)
Sol.

From I: As no exact value is given so we cannot find volume of sphere

From II: When we cut sphere into hemisphere total surface area of two hemisphere
Total surface area of two hemisphere

3nr’ +3mrf =mwx 21 x 21
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r = find out
So, volume of sphere can be finding out by statement II.
So, Statement (II) alone is sufficient to answer the question

$193. Ans.(d)
Sol.
Let CP of A and C are 100x and 100y.

Then MRP and SP of A are 160x and 128x
MRP and SP of C are 170y and 119y
ATQ, 160x = 100y

x5

¥ 8

Required Ratio = IEBXE =8:17
170x8

$194. Ans.(c)

Sol.

Let CP of C=500x, Let CP of G=300x

MRP of C=850x, MRPofG=510x

SPof C=595x, SP of G = 408x

ATQ, 595x — 408x = 561

x=3

required difference = 340x = 340 x 3 = 1020 Rs.

$195. Ans.(d)
Sol.
Let CP of item B = 100x
then MRP and SP of B are 150x and 127.5x
Now, CP of item D = 127.5x
MRP of D=178.5x%
ATQ, 178.5x — 150x = 285
28.5x = 285
x=10
So, CP of B = 1000 Rs.

$196. Ans.(a)
Sol.

Let CP of E = 100x, then MRP and SP of E are 130x and 78x respectively.

Loss incurred = 22x

New SP of E = 100x X —= X 22 = 104x
100 100

Profit earned = 4x

ATQ, 22x —4x =126

x=7

Required sum = 230 x 7 = 1610 Rs.

$197. Ans.(c)
Sol.

Total customer purchased HONDA = % * 300=150
Total purchased HERO = % X 300 = 165
Total purchased PULSAR = % X 300 = 135

Now,

Total, only Pulsar and only Honda purchased by
¥+x+20=150+135-100-95=90

x=135

Honda Pulsar
150 135
(65530

Hero
165

300-295=05

$198. Ans.(d)
Sol.

Total customer purchased HONDA = % % 300 =150
Total purchased HERO = % X 300 = 165

Total purchased PULSAR = % X 300 = 135

20%150 _
100

Customer purchased all three companies bikes = 30

Purchased HONDA and PULSAR = 40

Two bikes purchased by customers = 95

Let only Pulsar purchased by customer =x

So only HONDA=x+ 20

MNow,

Total, only Pulsar and only Honda purchased by
Xx+x+20=150+135-100-95=90

x=35

Pulsar

Honda ﬁ
150 135
(55 530)
Hero

165
=55+35+80=170

$199. Ans.(a)
Sol.

Total customer purchased HONDA = % % 300=150
Total purchased HERO = % X 300 = 165
Total purchased PULSAR = % X 300 = 135

Customer purchased all three companies bikes = % =30 Customer purchased all three companies bikes = % =30
Purchased HONDA and PULSAR = 40 Purchased HONDA and PULSAR = 40
Two bikes purchased by customers = 95 Two bikes purchased by customers = 95
Let only Pulsar purchased by customer = x Let only Pulsar purchased by customer = x
So only HONDA =x + 20 So only HONDA =x + 20
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Now, Customer purchased all three companies bikes = oo 30
Total, only Pulsar and only Honda purchased by Purchased HONDA and PULSAR = 40
x+x+20=150+135-100-95=90 Twao bikes purchased by customers = 95
x =35 Let only Pulsar purchased by customer = x
So only HONDA =x + 20
Puls Now,
H{);ga ﬁ ;;:;r Total, only Pulsar and only Honda purchased by
W ¥+x+20=150+135-100-95=90
aﬁ x=35
Her
165 Honda Pulsar‘
At least 2 bikes =25+ 30+ 30 +40=125 150 135
$200. Ans.(d)
Sol. H
Total customer purchased HONDA = _5—0 ¥ 300 =150 12?
100
= E = n
Total purchased HERO = 777 X 300 = 165 Required number = 300 - 35 = 265
Total purchased PULSAR = % X 300 = 135
www.sscadda.com www.careerpower.in | Adda247 App
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